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Time : Three hours Maximum : 75 marks 

SECTION A — (5  6 = 30 marks)  

Answer ALL questions. 

1. (a) Solve the following mixed integer 
programming problem. 
Max. 1 2 33 3Z x x x     

Subject to 1 2 32 4x x x     

 2 32 (3 / 2) 1x x   

 1 2 33 2 3x x x    

1 2 3, 0,x x x  are non-negative integers. 

Or 

 (b) Solve the following IPP using cutting plane 
algorithm. 
Maxi. 1 2 32 20 10Z x x x    

Subject to 1 2 32 20 4 15x x x    

 1 2 36 20 4 20x x x    

 1 2 3, , 0x x x   and are integers. 
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2. (a) Using dynamic programming solve 

Min 2 2 2
1 2 3Z y y y    

Subject to 1 2 3 15y y y    

 1 2 3, , 0y y y   

Or 

 (b) Determine the value of 1 2 3, ,u u u , so as  

to Maxi 1 2 3Z u u u  

Subject to 1 2 3 0u u u    

 1 2 3, , 0u u u   

3. (a) Find the optimum value of the objective 
function, using Kahn-Tucker condition. 

Maxi. 2 2
1 1 210 10Z x x x x     

Subject to 1 2 14x x   

 1 2 6x x    

            1 2, 0x x   

Or 

 (b) Solve NLPP by graphically. 

 Maxi. 2 2
1 1 2 28 8Z x x x x     

Subject to 1 2 12x x   

 1 2 4x x   

           and  1 2, 0x x   
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4. (a) Write down the revised simplex method 

algorithm. 

Or 

 (b) Solve the following LPP by revised simplex 

method. 

Maxi. 1 22Z x x   

Subject to 1 23 4 6x x   

 1 26 3x x   

            1 2, 0x x   

5. (a) Mr. Ram has an after tax annual of 

Rs.90,000 and is considering to buy accident 

insurance for his car. The probability of 

accident during the year is 0.1, in which case 

the damage to the car will be Rs.11,600/- 

with a utility function of ( )U x x . What is 

the insurance premium he will be willing to 

buy? 

Or 

 (b) Discuss the types of decision making 

environments. 
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SECTION B — (3  15 = 45 marks) 

Answer any THREE questions. 

6. Using branch and bound method, solve the 

following IPP. 

Maxi 1 23 5Z x x   

Subject to 1 22 4 25x x   

  1 8x   

  22 10x  ,  1 2, 0x x   and integers. 

 

7. Solve the following LPP by dynamic programming. 

Maxi 1 28 7Z x x   

Subject to 1 22 8x x   

  1 25 2 15x x   

  and 1 2, 0x x  . 
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8. Solve the following QPP by Wolfe’s method. 

 Maxi 2
1 2 12Z x x x    

Subject to 1 22 3 6x x   

  1 22 4x x   

  1 2, 0x x  . 

9. Solve the following LPP. 

Maxi 1 2 33 5 2Z x x x    

Subject to 1 2 32 2 14x x x    

 1 2 32 4 3 23x x x    

 1 2 30 4, 2 5, 0 3x x x       

10. The probability of the demand for lorries for hiring 

on any day in a given district is as follows. 

No. of lorries demand: 0 1 2 3 4 

Probability 0.1 0.2 0.3 0.2 0.2 
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Lorries have a fixed cost of Rs.90 each day to keep 

the daily hire charges Rs.200. If the lorry hire 

company owns 4 lorries. What is its daily 

expectation? If the company is about to go into 

business and currently has no lorries, how many 

lorries should it buy? 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Give an example of a subgroup.  

 EmS»zxUS J¸ GkzxUPõmk u¸P.  

2. Can a group have two identify elements?  

 J¸ S»zxUS C¸ \©Û EÖ¨¦PÒ C¸US©õ? 

3. Define a homomorphism.  

 ö\¯ö»õ¨¦ø©ø¯ Áøμ¯Ö.  

4. Define a normal subgroup.  

 ÷|ºø© EmS»® & Áøμ¯Ö. 

5. Define even permutation.  

 Cμmøh Á›ø\ ©õØÓzøu Áøμ¯Ö. 
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6. Define isomorphism. 

 C¯ö»õ¨¦ø©ø¯ Áøμ¯Ö. 

7. Define a field.  

 PÍzøu Áøμ¯Ö. 

8. Define an ideal.  

 ^º ÁøÍ¯® & Áøμ¯Ö. 

9. When a is said to divide b  in a Euclidean ring? 

 J¸ ³UÎi¯ß ÁøÍ¯zvÀ G¨÷£õx a BÚx bø¯ 

ÁSUS®? 

10. What is imbedded in a ring? 

 ÁøÍ¯zvÀ £vzuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Prove the right cancellation law in a group.  

  J¸ S»zvÀ Á»x }UPÀ Âvø¯ {ÖÄP.  

Or 
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 (b) If 1H  and 2H  are subgroups of G , prove 

that 21 HH   is also a subgroup.  

  1H , 2H  Gß£Ú G °ß EmS»[PÒ GÛÀ 

21 HH  &®  G &°ß EmS»® GÚ PõmkP.  

12. (a) If GG :  is a homomorphism, prove that 

ee )( . 

  GG :  ö\¯ö»õ¨¦ø© GÛÀ ee )(  GÚ 

{ÖÄP.  

Or 

 (b) Prove that NG /  is a group.  

  NG /  J¸ S»® GÚ {ÖÄP.  

13. (a) Prove that every permutation is a product of 

its cycles.  

  G¢u J¸ Á›ø\©õØÓ•® Auß _ØÖPÎß 

ö£¸UP»õP GÊu»õ® GÚ PõmkP.  

Or 



 

 252 4

 

 (b) If GGT :  is 1)(  xxT , then prove that 

T  is an automorphism, if G  is an abelian 

group.  

  GGT :  Gß£x 
1)(  xxT  GÛÀ T  J¸ 

ußö\¯ö»õ¨¦ø© GÚ {ÖÄP. (G  Gß£x 

A¤¼¯ß S»®). 

14. (a) In a ring R , prove 222)( bbaababa   

Rba  , . 

  ÁøÍ¯® R &À 
222)( bbaababa   

Rba  ,  GÚ {ÖÄP.  

Or 

 (b) In a ring R , prove  

  (i) 00 a  

  (ii) )()( abba  Rba  , . 

  ÁøÍ¯® R À  

  (i) 00 a  

  (ii) )()( abba  Rba  ,  GÚ {ÖÄP.  
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15. (a) Define prime and maximal ideals with 
examples.  

  £Põ ©ØÖ® «¨ö£¸ ^ºÁøÍ¯[PøÍ 

GkzxUPõmkhß Áøμ¯Ö.  

Or 

 (b) If 0b  is a unit in an Euclidean ring R, 

prove that )()( abdad  Ra . 

  0b  Gß£x R GÝ® ³UÎi¯ß ÁøÍ¯zvÀ 

A»S GÛÀ )()( abdad  Ra  GÚ {ÖÄP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State and prove Lagrange’s theorem.  

 »Uμõßâß ÷uØÓzøu TÔ {ÖÄP. 

17. If GG :  is a homomorphism with kernel K , 

prove that GKG ~/ . 

 GG :  J¸ ö\¯ö»õ¨¦ø© Auß EmP¸ K  

GÛÀ GKG ~/  GÚ {ÖÄP. 

18. State and prove Cayleys theorem. 

 ÷P´¼°ß ÷uØÓ® TÔ {ÖÄP. 
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19. Prove that every finite integral domain is a field.  

 G¢u J¸ •iÄÒÍ Gs Aμ[P•® J¸ PÍ® BS® 

GÚ {ÖÄP. 

20. Prove that every Euclidean ring is a principal 
ideal ring.  

 G¢u J¸ ³UÎi¯ß ÁøÍ¯•® •ußø© 

^ºÁøÍ¯® BS® GÚ {ÖÄP. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define the characteristics function A . 

 ]Ó¨¤¯À¦ \õº¦ A &ø¯ Áøμ¯Ö.  

2. Define a 11   function. 

 11   \õºø£ Áøμ¯Ö.  

3. Define a bounded sequence.  

 Áμ®¦ öuõhøμ Áøμ¯Ö.  

4. Define a Cauchy sequence.  

 Põæ öuõhøμ Áøμ¯Ö.  

5. Define partial sum of a series.  

 J¸ Á›ø\°ß £Sv Tkuø» Áøμ¯Ö. 
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6. Give an example of a conditionally convergent 
series.  

 {£¢uøÚ J¸[S® Á›ø\US J¸ GkzxUPõmk 

u¸P.  

7. Define 2l . 

 2l  Áøμ¯Ö. 

8. Define a metric.  

 ö©m›UøP Áøμ¯Ö.  

9. When is a function continuous at ‘a’? 

 G¨÷£õx J¸ \õº¦ ‘a’ &°À öuõhºa]¯õP C¸US®? 

10. Define a closed set. 

 ‰i¯ Pn® Áøμ¯Ö. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) If Lsn
n




lim  and Msn
n




lim , then prove that 

ML  . 

  Lsn
n




lim  ©ØÖ® Msn
n




lim  GÛÀ ML   GÚ 

{ÖÄP.  

Or 
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 (b) Show that the set of all integers is countable.  

  •Ê GsPÎß Pn® GsohzuUPx GÚ 

PõmkP.  

12. (a) If Lsn
n




lim  and Mtn
n




lim  then prove that 

MLts nn
n




)(lim . 

  Lsn
n




lim  ©ØÖ® Mtn
n




lim  GÛÀ 

MLts nn
n




)(lim  GÚ {ÖÄP.    

Or 

 (b) Prove that n
n

n
n

ss


 supliminflim .  

  n
n

n
n

ss


 supliminflim  GÚ {ÖÄP.  

13. (a) Prove that  n
1

 is divergent.  

   n
1

 Â›²® GÚ {ÖÄP.  

Or 

 (b) Show that 


0

!/
n

n nx  is convergent Rx  . 

  


0

!/
n

n nx  J¸[S® Rx   GÚ PõmkP.  
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14. (a) Prove : 

  )(lim)(lim)]()([lim xgxfxgxf
axaxax 

 . 

  {ÖÄP : 

  )(lim)(lim)]()([lim xgxfxgxf
axaxax 

 . 

Or 

 (b) State and prove Schwarz inequality.  

  ìUÁõºêß \©Ûßø©ø¯ TÔ {ÖÁP.  

15. (a) Prove that the composition of two continuous 

functions is again continuous.  

  G¢u C¸ öuõhºa] \õº¦PÎß ÷\º¨¦® J¸ 

öuõhºa] \õº¦ GÚ {ÖÄP.   

Or 

 (b) If 1F  and 2F  are closed sets in a metric space 

M , then show that 21 FF   is also closed.  

  1F  ©ØÖ® 2F  Gß£Ú ö©m›U M &À ‰i¯ 

Pn[PÒ GÛÀ 21 FF  &® ‰i¯x GÚ PõmkP.  
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. If ,...., 21 AA  are countable sets, prove that 


1n
nA  

is a countable set.  

 ,...., 21 AA  Gß£Ú GsohzuUP Pn[PÒ GÛÀ 




1n
nA  &® GsohzuUP Pn® GÚ {ÖÄP.  

17. If Mtn
n




lim  and 0M , then prove that 

Mtn
n

11
lim 


. 

 Mtn
n




lim  ©ØÖ® 0M  GÛÀ 
Mtn

n

11
lim 


 GÚ 

{ÖÄP.  

18. State and prove ratio test. 

 ÂQu ÷\õuøÚø¯ TÔ {ÖÄP.  
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19. Prove that yxyxp ),(  is a metric.  

 yxyxp ),(  J¸ ö©m›U GÚ {ÖÄP.  

20. Prove that a set is closed   its complement is 
open.  

 J¸ Pn® ‰i¯x   Auß {μ¨¤ Pn® vÓ¢ux GÚ 

{ÖÄP.   

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Prove : 2121 zzzz  . 

 {ÖÄP 2121 zzzz  . 

2. If 1
11

ierz   and 2
22

ierz  , find 
2

1

z
z

. 

 1
11

ierz   ©ØÖ® 2
22

ierz   GÛÀ 
2

1

z
z

 PõsP.  

3. Define a continuous function. 

 öuõhºa] \õºø£ Áøμ¯Ö.  

4. Define )( 0zf  . 

 )( 0zf  &I Áøμ¯Ö.  
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5. What is a Laplace equation? 

 »õ¨Íõì \©ß£õk Gß£x GßÚ? 

6. Define a conformal mapping. 

 Cn[S® ÷Põºzuø» Áøμ¯Ö.  

7. Define critical point.  

 ©õÖ{ø» ¦ÒÎ GßÓõÀ GßÚ Áøμ¯Ö.  

8. Define a harmonic function.  

 Cø\a \õºø£ Áøμ¯Ö.  

9. State Cauchy-Goursat theorem.  

 Põæ ÷Põº\õm ÷uØÓzøu TÖ.  

10. Define a simply connected domain.  

 GÎ¯ Cøn¢u Aμ[P® & Áøμ¯Ö.  

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Prove : 2121 zzzz  . 

  {ÖÄP 2121 zzzz  . 

Or 
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 (b) Prove : Ze z log . 

  {ÖÄP : Ze z log
. 

12. (a) Prove : 
22

lim
iiz

iz



. 

  {ÖÄP : 
22

lim
iiz

iz



. 

Or 

 (b) Show that zzf )(  is nowhere differentiable. 

  zzf )(  G[S® ÁøP°hzuUPuÀ» GÚ 

PõmkP.  

13. (a) Show that )(log
2
1 22 yxu   is harmonic. 

  )(log
2
1 22 yxu   Cø\a\õº¦ GÚ PõmkP. 

Or 

 (b) Show that yxyu 32   is harmonic. Find its 

conjucate v . 

  yxyu 32   Cø\a\õº¦ GÚ PõmkP. Auß 

Cøn v &I PõsP.  
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14. (a) Explain the properties of zw sin . 

  zw sin &ß £s¦PøÍ ÂÍUSP. 

Or 

 (b) Find the bilinear transformation 2,0,2z  

into iiw  ,,0  respectively.  

  2,0,2z øÁ iiw  ,,0  BP •øÓ÷¯ 

©õØÖ® C¸ ÷|›¯À E¸©õØÓ® PõsP.  

15. (a) Evaluate  
C

z
dz

32
, where C  is 2z . 

  C  Gß£x 2z  GÛÀ  
C

z
dz

32
 &ß ©v¨¦ 

PõsP.  

Or 

 (b) With usual notations, prove 

 


2)(

)(
2
1

)(
zs

dssf
i

zf


. 

  ÁÇUP©õÚ SÔ±kPÎß£i  

   


2)(

)(
2
1

)(
zs

dssf
i

zf


 GÚ {ÖÄP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the branches and properties of zlog . 

 zlog &ß £s¦PøÍ²® QøÍPøÍ²® ÂÍUSP. 

17. State and prove RC   equation in cartesian  
co-ordinates. 

 RC   \©ß£õkPøÍ Põºmj]¯ß TÖPÎÀ TÔ 

{ÖÄP.  

18. Find the analytic function ivuzf )(  if 

xee
x

u yy 2cos2
2sin2

22 
   is given. 

 £S•øÓ \õº¦ ivuzf )( I PõsP, 

xee
x

u yy 2cos2
2sin2

22 
   GÚ öPõkUP¨£mkÒÍx.  

19. Find the image of line 2x  under 
z

w
1

 . 

 
z

w
1

  &ß RÌ 2x  GÝ® ÷Põmiß ¤®£® PõsP.  
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20. State and prove Cauchy’s integral formula.  

 Põæ°ß öuõøP `zvμzøu TÔ {ÖÄP.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL the questions. 

1. Define linear momentum.  

 Áøμ¯Ö : ÷|›¯À E¢u®. 

2. Define polygon of forces.  

 Áøμ¯Ö : Âø\¨£»U ÷Põn®.  

3. Define moment of a force.  

 Áøμ¯Ö : Âø\°ß v¸¨¦zvÓß.  

4. Define applied forces and effective forces.  

 Áøμ¯Ö : £¯ß£õmk Âø\PÒ ©ØÖ® £¯Ýøh¯ 

Âø\PÒ.  

5. Define moment of the couple.  

 Áøμ¯Ö : _Ç¼øn°ß v¸¨¦zvÓß.  
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6. Show that the forces EFCDAB ,,  acting 

respectively at ECA ,,  of a regular hexagon 

ABCDEF , are equivalent to a couple of moment 
equal to the area of the hexagon.  

 J¸ JÊ[S AÖ[÷Põn® ABCDEF &À •øÓ÷¯ 

ECA ,, &À ö\¯À£k® Âø\PÒ EFCDAB ,,  

AÖ[÷Põnzvß £μ¨£ÍÂØS \©©õÚ 

v¸¨¦zvÓøÚU öPõsh _Ç¼ønUS \©©õÚx 

GÚU PõmkP.   

7. Define invariance of the single force.  

 Áøμ¯Ö : JØøÓ Âø\°ß ©õØÓªßø©.  

8. Write down the conditions of equilibrium under 
coplanar forces.  

 J¸ uÍ Âø\°ß RÌ \©{ø»°ß {£¢uøÚPøÍ 

GÊxP.  

9. Define centre of mass.  

 Áøμ¯Ö : ö£õ¸sø© ø©¯®.  

10. Define centre of gravity.  

 Áøμ¯Ö : ¦Â±º¨¦ ø©¯®.  
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions. 

11. (a) Find the magnitude and direction of the 

resultant of 1F  and 2F . 

  1F  ©ØÖ® 2F &ß ÂøÍÄ Âø\°ß AÍÄ 

©ØÖ® vø\ø¯U PõsP.  

Or 

 (b) I is the incentre of a triangle ABC . If the 

forces, ICIBIA ,,  acting at I are in 

equlibrium, show that ABC  is an equilateral 
triangle.  

  I Gß£x •U÷Põn® ABC &ß EÒø©¯®. I&À 

ö\¯À£k® Âø\PÒ ICIBIA ,,  Gß£øÁ 

\©{ø»°À EÒÍÚ GÛÀ ABC  Gß£x 

\©£UP •U÷Põn® GÚU PõmkP.  

12. (a) One end of a rope of 20 m is to be fixed to a 
telegraph post and the other end is to be 
pulled by a man on the ground with a 
constant force F. To cause the maximum 
effect to overturn the post, at what height 
the rope is to be fixed? 
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  20« }Í•ÒÍ P°ØÔß J¸ £Sv u¢uU P®¤°À 

ö£õ¸zu¨£mkÒÍx Auß ©Ö¨£UP® {»zvß 

÷©À J¸ ©ÛuÚõÀ F ©õÔ¼ Âø\°À 

CÊUP¨£kQÓx. ö£¸© •¯Ø]°ß ÂøÍÁõÀ 

A¢uU P®£zøu ÃÌzxÁuØS A¢u P°Ö 

GÆÁÍÄ E¯μzvÀ Pmh¨£h ÷Ásk®? 

Or 

 (b) Three like parallel forces RQP ,,  act at the 

vertices of a triangle ABC . Show that their 
resultant passes through.  

  (i) the centroid if RQP   

  (ii) the incentre if cRbQaP ///  . 

  ‰ßÖ Jzu Cøn Âø\PÒ RQP ,,  Gß£øÁ 

•U÷Põn® ABC &ß ‰ßÖ •øÚPÎÀ 

ö\¯À£kQßÓÚ. AÁØÔß ÂøÍÄ Âø\ 

RÌPshÁØÔß ÁÈ÷¯a ö\À¾® GÚUPõmkP.  

  (i) RQP   GÛÀ |kU÷Põmka \¢v. 

  (ii) cRbQaP ///   GÛÀ EÒø©¯®. 

13. (a) Three forces acting along the sides of a 
triangle in the same order are equivalent to a 
couple. Show that they are proportional to 
the sides of the triangle.  



 

 255 5

 

  •U÷Põn[PÎß ‰ßÖ¨ £UP[PÎß ÁÈ¯õP 

J÷μ Á›ø\°À ö\¯À£k® ‰ßÖ Âø\PÒ J¸ 

_Ç¼ønUS \©õÚ©õS®. AøÁPÒ 

•U÷Põnzvß £UP[PÐUS ÂQu \©©õÚøÁ 

GÚU PõmkP.  

Or 

 (b) Forces with components (1, 0), (–2, 0), (1, 1) 
act respectively at the points (0, 0), (1, 1),  
(1, 0). What is the system equivalent to? 

  Âø\PÎß TÖPÒ (1, 0), (–2, 0), (1, 1) 
Gß£øÁ •øÓ÷¯ (0, 0), (1, 1), (1, 0) GßÓ 

¦ÒÎPÎß ö\¯À£kQßÓÚ. C¢uz Aø©¨¦ 

GuØS \©©õÚ©õÚx? 

14. (a) Prove that, if four forces acting along the 
sides of a square are in equilibrium, they 
must be equal in magnitude.  

  \xμzvß £UP[PÎß ÁÈ¯õP ö\¯À£k® 

|õßS Âø\PÒ \©{ø»°À C¸US®÷£õx 

AøÁPÒ AÍÄPÎÀ \©©õP C¸UP ÷Ásk® 

GÚ {ÖÄP. 

Or 

 (b) A uniform ladder of length l  rests on a rough 
horizontal ground with its upper end 
projecting slightly over a smooth horizontal 
rod at a height h  above the ground. If the 
ladder is about to slip, show that the 

coefficient of friction is equal to 22

22

hl
hlh




. 
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  Cøh {»zvß «x l  }Í•ÒÍ J¸ ^μõÚ Ho 

{Özu¨£mkÒÍx. Auß ÷©À•øÚ 

{»zv¼¸¢x h  E¯μ® öPõsh ÁÇÁÇ¨£õÚ 

CøhU P®¤°ß «x \Ø÷Ó \õ´UP¨£mkÒÍx. 

Ho |ÊÄ®ö£õÊx Auß Eμõ´ÄU öPÊ 

22

22

hl
hlh




 GÚU PõmkP.  

15. (a) FED ,,  are the midpoints of the sides 
ABCABC ,,  of a ABC . Masses 321 ,, mmm  

are placed at CBA ,,  and masses 

321 ,, MMM  are placed at FED ,, . If the 
two systems have the same mass centre, 
show that  

  
21

3

13

2

32

1

MM
m

MM
m

MM
m








. 

  FED ,,  Gß£øÁ ABC &ß ABCABC ,,  

BQ¯¨ £UP[PÎß |k¨¦ÒÎPÒ. {øÓPÒ 

321 ,, MMM  Gß£øÁ CBA ,, &À EÒÍÚ 

©ØÖ® {øÓPÒ 321 ,, MMM  Gß£øÁ 

FED ,, &À EÒÍÚ. Cμsk Aø©¨¦PÐ® 

J÷μ ö£õ¸sø© ø©¯zøuU öPõsi¸¨¤ß.   

  
21

3

13

2

32

1

MM
m

MM
m

MM
m








 

  GÚU PõmkP. 

Or 
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 (b) From a solid cylinder of height H , a Cone 

whose base coincide with the base of the 

cylinder is scooped out so that the mass 

centre of the remaining solid coincides with 

the vertex of the cone. Find the height of the 

cone.  

  H  E¯μ® öPõsh vs© E¸øÍ°¼¸¢x 

Auß AizuÍzxhß Jzv¸US® AizuÍ® 

öPõsh J¸ T®ø£ öÁmi GkUS®÷£õx 

«u•ÒÍ vs©zvß ö£õ¸sø© ø©¯® 

T®¤ß •øÚ²hß Jzv¸US®. T®¤ß 

E¯μzøuU PõsP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Two forces of magnitude 1F  and 2F  act at a point. 

They are inclined at an angle  . If the forces are 

interchanged, show that their resultant is turned 

through the angle.  

 










2
tantan2

21

211 
FF
FF

. 
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 J¸ ¦ÒÎ°À 1F  ©ØÖ® 2F  AÍÄÒÍ Cμsk 

Âø\PÒ ö\¯À£kQßÓÚ. AøÁPÒ   ÷PõnzvÀ 

\õ´¢xÒÍx. Âø\PøÍ Ch©õØÖ®÷£õx 

AøÁPÎß ÂøÍÄ Âø\ 










2
tantan2

21

211 
FF
FF

 

GßÓ ÷PõnzvÀ v¸®¦® GÚU PõmkP.  

17. State and prove Varigon’s theorem.  

 Áõ›PÛß ÷uØÓzøu TÔ {ÖÄP.  

18. A uniform beam of length l  and weight W  hangs 

from a fixed point by two strings of length a  and 

b . Prove that the inclination   of the beam to the 

horizon is given by 
222

22

)(2
sin

lbal

ba




 . 

 l  }Í® ©ØÖ® W  GøhU öPõsh J¸ ^μõÚ 

Ezvμ©õÚx J¸ {ø»¯õÚ ¦ÒÎ°¼¸¢x a  ©ØÖ® 

b  }Í® öPõsh C¸ \μ[PÎÚõÀ öuõ[SQÓx. 

Qøh©mhzv¼¸¢x Auß \õ´Ä   GÛÀ 

222

22

)(2
sin

lbal

ba




  GÚ {ÖÄP.  
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19. A sphere of weight W  resting on a rough inclined 

plane of inclination   is kept in equilibrium by a 

horizontal sting attached to the highest point of 

the sphere. Show that the angle of friction is 

greater than 
2


 and that the tension of the string 

is 
2

tan


W . 

 W  {øÓU öPõsh J¸ ÷PõÍ® \õ´Ä   öPõsh J¸ 

Eμõ´Äøh¯ \õ´uÍzvß ÷©À, ÷PõÍzvß Ea]¨ 

¦ÒÎ°¼¸¢x J¸ Qøha\μzuõÀ ÷\ºUP¨£mk Ax 

\©{ø»°À øÁUP¨£mkÒÍx. Eμõ´Ä ÷Põn® 

2


&I Âh AvP©õÚx ©ØÖ® A¢u \μzvß CÊÂø\ 

2
tan


W  GÚU PõmkP.  
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20. Find mass centre using integration  

 (a) Thin wire in the form of a circular arc. 

 (b) Lamina in the form of a sector of a circle.  

 öuõøP°hø»¨ £¯ß£kzv ö£õ¸sø© ø©¯zøuU 

PõsP.  

 (A) ö©À¼¯ P®¤ ÁmhÂÀ ÁiÁzvÀ EÒÍx.  

 (B) uPk Ámhzvß ÁmhU÷Põn¨ £Sv 

ÁiÁzv¾ÒÍx.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define relative velocity.  

 Áøμ¯Ö : \õº vø\÷ÁP®.  

2. Define conservative field of force. 

 Áøμ¯Ö : AÈÂÀ»õ Âø\U PÍ®.  

3. Define trajectory.  

 Áøμ¯Ö : GÔÄÁøμ. 

4. Give the magnitude and direction of the velocity of 
a projectile.  

 J¸ GÔö£õ¸Îß vø\÷ÁPzvß AÍÄ ©ØÖ® 

vø\ø¯ u¸P.  

5. What is impulsive force? 

  E¢x Âø\ GßÓõÀ GßÚ? 

 NOVEMBER/DECEMBER 2020 

BMA55/UMA55 — DYNAMICS  
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6. When a ball is said to be inelastic and perfectly 
elastic? 

 J¸ £¢x G¨ö£õÊx «Ò\Uv¯ØÓ ©ØÖ® «ÍU Ti¯x 

GÚU TÓ¨£k®? 

7. Define central orbit.  

 Áøμ¯Ö : ø©¯ _ØÖ£õøu.  

8. State Kepler’s laws on planetary motion.  

 ÷PõÎ¯UPzvß «uõÚ öP¨Í›ß {¯vPøÍ GÊxP. 

9. What is the M.I of a spherical shell about the 
diameter? 

 Âmhzøu¨ ö£õÖzx J¸U ÷PõÍ Ssiß M-I GßÚ? 

10. Define radius of gyration.  

 Áøμ¯Ö : _Ç¼¯ Bøμ.  

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) The cars A and B are moving at 60 kmph and 
80 kmph  respectively. At noon A is west of B 
at a distance 40 km. When are the cars 
nearest to each other and what is the 
distance between them? 
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  A ©ØÖ® B GßÓ PõºPÒ •øÓ÷¯ ©oUS  

60 Q.« ©ØÖ® 80 Q.« ÷ÁPzvÀ |P¸QßÓÚ. 

|s£P¼À Põº A, 40 Q.« öuõø»ÂÀ Põº B&US  

÷©ØQÀ C¸UQÓx. Cμsk PõºPÐ® 

JßÖUöPõßÖ A¸P¸÷P G¨ö£õÊx C¸US® 

©ØÖ® AÁØÔØS Cøh÷¯¯õÚ öuõø»Ä 

GßÚ?  

Or 

 (b) Show that in a conservative field of force the 
force is the gradient of a scalar pint function.  

  AÈÂÀ»õ Âø\UPÍzvÀ Âø\¯õÚx J¸ 

AÍÂ ¦ÒÎa \õº¤ß \õ´ÂQu® GÚU PõmkP.  

12. (a) Find the range of a particle inclined on a 
plane.  

  uÍzvß «x \õ´¢xÍÍ J¸ xPÎß Ãa]øÚU 

PõsP.  

Or 

 (b) If a particle is projected with an angle  . 
Over a triangle with base angle B  and C  
then show that CB tantantan  . 

  J¸ xPÒ  &ÃÌ÷Põnzvß B  ©ØÖ® C  AiU 

÷Põn[PÍõP öPõsh •U÷Põnzvß ÷©À 

Ã\¨£k®÷£õx CB tantantan   GÚU 

PõmkP.  
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13. (a) Find the velocities of two smooth spheres 
after a direct impact between them.  

  Cμsk ÁÇÁÇ¨£õÚ ÷PõÍ[PÎß ÷|μiz 

uõUPzvØS ¤ÓS AÁØÔØQøh÷¯¯õÚ 

vø\÷ÁPzøuU PõsP.  

Or 

 (b) Find the change in kinetic energy due to 
oblique impact between two smooth spheres.  

  Cμsk ÁÇÁÇ¨£õÚ ÷PõÍ[PÐUQøh÷¯ 

\õ´Äz uõUPzvÚõÀ C¯UP BØÓ¼À HØ£k® 

©õØÓzvøÚU PõsP.  

14. (a) Show that the motion of a particle under a 
central force is coplanar.  

  ø©¯Âø\°ß RÌ J¸ xPÎß C¯UP® 

J¸uÍ® GÚU PõmkP.  

Or 

 (b) Find the differential equation of a central 
orbit in rp   coordinates.  

  rp   B¯[PÎÀ ø©¯ Ámhøn°ß ÁøP¯a 

\©ß£õmiøÚU PõsP.  
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15. (a) State and prove parallel axes theorem.  

  Cøn Aa_z ÷uØÓzøu GÊv {ÖÄP.  

Or 

 (b) Find the M.I of a lamina in the form of a 
quadrant of an ellipse, about the major axis.  

  ö|mha]øÚ¨ ö£õÖzx }ÒÁmhzvß 

PõÀ£Sv°ß Aø©¨¤¾ÒÍ uPmiß M.I &IU 

PõsP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Find the components of velocity and acceleration 
of a particle in the radial and transverse 
directions.  

 J¸ xPÎß vø\÷ÁP® ©ØÖ® •kUPzvß TÖPøÍ 

Bøμ ©ØÖ® SÖUS vø\°À PõsP.  

17. Prove that the path of a particle is a parabola.  

 GÔ¨ö£õ¸Îß £õøu J¸ £μÁøÍ¯® GÚ {ÖÄP.  

18. A smooth sphere of mass ‘m’ collides obliquely 
with a fixed smooth plane with a velocity ‘u’ 
inclined to the normal to the plane at an angle  . 
Find its velocity and impulse imparted to it.  
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 m &{øÓ²ÒÍ J¸ ÁÇÁÇ¨£õÚ ÷PõÍ® {ø»¯õÚ 

ÁÇÁÇ¨£õÚ uÍzxhß \õ´ÁõP u GßÓ 

vø\÷ÁPzxhß  &÷PõnzvÀ uÍa ö\[÷PõmiØS 

\õ´ÁõP ÷©õxQÓx. Auß vø\÷ÁP® ©ØÖ® 

AuÚõÀ HØ£k® uõUPÍøÁø¯U PõsP.    

19. Find the differential equation of a central orbit in 
polar co-ordinates.  

 •øÚ¯ B¯[PÎÀ ø©¯ Ámhøn°ß ÁøP¯a 

\©ß£õmiøÚU PõsP.  

20. State and prove the perpendicular axis theorem.  

 ö\[Szx Aa_ ÷uØÓzøu GÊv {ÖÄP.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  
Answer ALL questions. 

1. Define feasible solution.  
 Cø\¢u wºøÁ&Áøμ¯Ö.  

2. Construct the dual of the following primal 
problem. 
Maximize : 

 321 2xxxZ   
 S.T.  

 

0,,

1534

6

4232

321

321

321

321









xxx

xxx

xxx

xxx

 

 RÌPõq® •ußø© PnUQØS C¸©® PõsP.  

 «¨ö£›uõUS  

 321 2xxxZ   

 S.T. 

 

0,,

1534

6

4232

321

321

321

321









xxx

xxx

xxx

xxx

 

 NOVEMBER/DECEMBER 2020 

BSMA33/USMA43 — LINEAR 
PROGRAMMING 



 

 263 2

 

3. Define basic feasible solution of T.P. 

 T.P °ß Ai¨£øh ö\´uUP wºøÁ Áøμ¯Ö.  

4. Write the mathematical model of the 
transportation problem.  

 ÷£õUSÁμzxU PnUQÀ Pou ©õv›ø¯ GÊx. 

5. What is a assignment problem? 

 JxURmkU PnUS GßÓõÀ GßÚ? 

6. Differentiate between the assignment and 
transportation problem.  

 JxURmkU PnUS ©ØÖ® ÷£õUSÁμzxU PnUøP 

÷ÁÖ£kzxP.  

7. Define strategy. 

 Áøμ¯Ö : Ezv. 

8. Define optimal strategy.  

 Ezu© Ezvø¯ Áøμ¯Ö.  

9. What is simulation? 

 £õÂ¨¦ E¸ (simulation) GßÓõÀ GßÚ? 

10. Write any two importance of simulation technique.  

 £õÂ¨¦ E¸ ~m£zvß •UQ¯zxÁzøu GÊxP.  
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Find the maximum value by Graphical 
method.  

  21 32 xxZ   

  S.t  

  

200

0

12

3

30

1

21

2

2

21









x

xx

x

x

xx

 

  Áøμ£h •øÓ°À «¨ö£¸ ©v¨ø£U PõsP.  

  21 32 xxZ   

  S.t  

  

200

0

12

3

30

1

21

2

2

21









x

xx

x

x

xx

 

Or 

 (b) Explain Graphical method.  

  Áøμ£h •øÓø¯ ÂÍUSP. 
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12. (a) Find the feasible solution for the following 

transportation problem using North-West 

corner method.  

  W1 W2 W3 W4 Supply 

 F1 14 25 45 5 6 

Factory F2 65 25 35 55 8 

 F3 35 3 65 15 16 

Demand  4 7 6 13 30 

  Áh÷©ØS ‰ø» •øÓø¯¨ £¯ß£kzv 

RÌPõq® ÷£õUSÁμzx PnUQØS Cø\¢u 

wºøÁU PõsP.  

  W1 W2 W3 W4 ÁÇ[PÀ

 F1 14 25 45 5 6 

öuõÈØ\õø» F2 65 25 35 55 8 

 F3 35 3 65 15 16 

÷uøÁ  4 7 6 13 30 

Or 

 (b) Explain Vogels approximation method.  

  JP¼ß ÷uõμõ¯ •øÓø¯ ÂÁ›.  
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13. (a) A sales manager has to assign 4 salesman to 
4 territories. The possible profit for each 
salesman in each territory is given below. 
Find the assignment that maximizes the 
profit.  

  Territories 

  A B C D 

 1 5 3 1 8 

Salesman 2 7 9 2 6 

 3 6 4 5 7 

 4 5 7 7 6 

  J¸ ÂØ£øÚ ÷©»õÍº 4 ¤μõ¢v¯[PÐUS  

4 ÂØ£øÚ¯õÍºPøÍ JxURk ö\´¯ 

÷Ásk®. JÆöÁõ¸ ¤μõ¢v¯zv¾® 

JÆöÁõ¸ ÂØ£øÚ¯õÍ¸US® \õzv¯©õÚ 

»õ£® R÷Ç öPõkUP¨£mkÒÍx. »õ£zøu 

«¨ö£›uõUS® JxURmøhU PõsP.  

  ¤μõ¢v¯® 

  A B C D 

 1 5 3 1 8 

ÂØ£øÚ¯õÍº 2 7 9 2 6 

 3 6 4 5 7 

 4 5 7 7 6 

Or 
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 (b) What is the travelling salesman model? 
What are its practical applications? Explain 
the role of branch and bounding to solve the 
travelling salesman’s model.  

  £¯n ÂØ£øÚ¯õÍº ©õv› GßÓõÀ GßÚ? 

Auß |øh•øÓ £¯ß£õkPÒ ¯õøÁ? £¯n 

ÂØ£øÚ¯õÍºPÒ ©õv›ø¯ wº¨£uØS QøÍ 

©ØÖ® ¤øn¨¤ß £[øP ÂÁ›.  

14. (a) Given the game G  with the following payoff 
matrix.  

  Player B 

  B1 B2 

Player A A1 2 6 

 A2 –2 λ 

  (i) Show that G  is strictly determinable, 
whatever   may be.  

  (ii) Determine the value of G . 
  •Êø© ÁÇ[PÀ Ao²hß ÂøÍ¯õmk G 

öPõkUP¨£mkÒÍx.  

  ÂøÍ¯õmhõÍº B 

  B1 B2 

ÂøÍ¯õmhõÍº A A1 2 6 

 A2 –2 λ 

  (i)   G¢u ©v¨¦PÐUS® vmh©õP 

{ºn°UPU Ti¯x GÚ {ÖÄP.  

  (ii) G °ß ©v¨ø£U PõsP.  

Or 
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 (b) Solve the following game.  
  Player B 

 A1 30 2 

Player A A2 4 14 

 A3 6 9 

  RÌPõq® ÂøÍ¯õmøhz wºUP.  

  ÂøÍ¯õmhõÍº B 

 A1 30 2 

ÂøÍ¯õmhõÍº A A2 4 14 

 A3 6 9 

15. (a) Customers arrive at a service facility to get 
the required service. The inter-arrival and 
service times are constant and are  
1.8 minutes and 4 minutes respectively. 
Simulate the system for 14 minute. 
Determine the average waiting time of a 
customer and idle time of the service facility.  

  ÷uøÁ¯õÚ ÷\øÁø¯¨ ö£ÖÁuØS 

ÁõiUøP¯õÍºPÒ J¸ ÷\øÁ {ø»¯zvÀ 

Á¸QÓõºPÒ. EÒ Á¸øP ©ØÖ® ÷\øÁ 

÷|μ[PÒ ©õÓõux ©ØÖ® •øÓ÷¯ 1.8 {ª, 4 

{ª BS®. 14 {ªh[PÐUS öuõS¨¤ß 

£μÂ¨¦ E¸ PõsP. J¸ ÁõiUøP¯õÍ›ß 

\μõ\› Põzv¸¨¦ ÷|μzøu²® ÷\øÁ 

{ø»¯zvß ÷Áø»¯ØÓ ÷|μzøu²® 

PnUQkP.  

Or 
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 (b) Explain Monte  Carlo method and write the 
situations where these methods are useful.  

  ©õsi Põº÷»õ •øÓø¯ ÂÍUSP ©ØÖ® C¢u 

•øÓ°À £¯ß£k® `Ì{ø»PøÍ GÊxP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Show by the simplex method that the following 
problem has an unbounded optimal solution. 

 Maximize : 
 212 xxz   

 S.t 

 

.0,

,402

,10

21

21

21






xx

xx

xx

 

 RÌPõq® PnUQØS Áμ®£ØÓ Ezu© wºÄ Esk GÚ 

]®¨ÍUì •øÓ°À {ÖÄP.  

 «¨ö£›uõUS  

 212 xxz   

 S.t  

 

.0,

,402

,10

21

21

21






xx

xx

xx
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17. Solve the following transportation problem.  
 D1 D2 D3 D4 D5 Supply 

Q1 68 35 4 74 15 18 

Q2 57 88 9 3 8 17 

Q3 91 60 75 45 60 19 

Q4 52 53 24 7 82 13 

Q5 51 18 82 13 7 15 

Demand 16 18 20 14 14  

 RÌPõq® ÷£õUSÁμzx PnUøPz wºUP.  

 D1 D2 D3 D4 D5 ÁÇ[PÀ

Q1 68 35 4 74 15 18 

Q2 57 88 9 3 8 17 

Q3 91 60 75 45 60 19 

Q4 52 53 24 7 82 13 

Q5 51 18 82 13 7 15 

÷uøÁ 16 18 20 14 14  

18. Solve the following assignment problem for 
minimum total cost.  

 1 2 3 4 5 6 

A1 44 67 41 53 48 64 

A2 46 69 40 45 45 68 

A3 43 73 37 51 44 62 

A4 50 65 35 50 46 63 
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 «a]Ö ö©õzu ö\»ÂØS RÌPõq® JxURmk 

PnUøP wºUP.  

 1 2 3 4 5 6 

A1 44 67 41 53 48 64 

A2 46 69 40 45 45 68 

A3 43 73 37 51 44 62 

A4 50 65 35 50 46 63 

19. Find the value of the games shown below. Also 
indicate whether they are fair or strictly 
determinable.  

(a)  
  B   

 1 9 6 0 

A 2 3 8 –1 

 –5 –2 10 –3 

 7 4 –2 –5 

 (b)  
  B   

 6 –2 –3 8 

A –1 –2 –7 0 

 8 9 –6 –7 

 9 5 –7 7 
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 R÷Ç öPõkUP¨£mkÒÍ ÂøÍ¯õmkPÎß 

©v¨¦PøÍU PõsP. ÷©¾® AøÁ vmh©õP 

{ºn°UPTi¯uõ? AÀ»x {¯õ¯©õÚuõ? GÚU 

PõmkP.  

(A)  

  B   

 1 9 6 0 

A 2 3 8 –1 

 –5 –2 10 –3 

 7 4 –2 –5 

 (B)  

  B   

 6 –2 –3 8 

A –1 –2 –7 0 

 8 9 –6 –7 

 9 5 –7 7 

20. Three points are chosen at random on the 
circumference of a circle. Find by Monte Carlo 
method the probability that they lie on the same 
semi-circle.  

 J¸ Ámhzvß _ØÓÍÂÀ \©Áõ´¨¦ •øÓ°À ‰ßÖ 

¦ÒÎPÒ ÷uº¢öukUP¨£mhÚ. AøÁ J÷μ Aøμ 

ÁmhzvÀ Aø©ÁuØS E›¯ {PÌuPøÁ ©õßi 

Põº÷»õ •øÓ°À PõsP.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is Data cleaning? 

2. Write a any two data reduction? 

3. What is Data Processing? 

4. List and four data mining techniques. 

5. What is Data Warehouse? 

6. Define OLAP. 

7. What is sequential pattern mining? 

8. What is multi level? 

9. What are the applications trends in data mining? 

10. What are the advantages of Data mining? 

 NOVEMBER/DECEMBER 2020 

BSC53/UESC53A — DATA MINING 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain about the Data mining primitives. 

Or 

 (b) What are the major issues in Data mining? 

12. (a) Explain about the types of cluster analysis 
methods. 

Or 

 (b) Write about the basic descriptive data 
summaries. 

13. (a) Explain the Data warehouse multi-
dimentional. 

Or 

 (b) Compare OLTP and data warehouse 
systems. 

14. (a) Write a short notes on mining Quantitative 
Association rules. 

Or 

 (b) Give the Characteristics of OLAP. 

15. (a) How to choose a data mining system? 

Or 

 (b) Write a short note on Statistical data 
mining. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Explain about the Architecture of data mining 
system. 

17. Discuss about the Data integration. 

18. Briefly and explain the – Three-Tier data warehouse 
Architecture. 

19. Explain about the Mining Multilevel Association 
rules. 

20. Explain about the Data mining Applications. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define – E-Commerce. 

2. What are the elements of Electronic Commerce 
applications? 

3. Define – Computer-Based Telephony. 

4. Write a note on Network access points. 

5. What is a Biometric system? 

6. Define Firewalls. 

7. Mention the three distinct classes of E-Commerce 
applications. 

8. List out the types of Electronic payment systems. 

9. Expand ACH. 

10. What is an Electronic white page? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the Electronic Commerce framework 
with neat diagram 

Or 
 (b) Compare Traditional with Electronic 

Business Applications. 

12. (a) Write short note on Components of the 
I-way. 

Or 
 (b) Explain the various stages of Internet 

growth. 

13. (a) Discuss on Data Security. 
Or 

 (b) Describe the Pretty Good Privacy. 

14. (a) Explain the Consumer-Oriented E-commerce 
Services with suitable example. 

Or 
 (b) What are the benefits of Hypermedia 

documents? Discuss. 

15. (a) Describe the Work-Flow automation and 
co-ordination. 

Or 
 (b) Discuss on an interactive Electronic 

Commerce catalogs. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Discuss on the anatomy of E-Commerce 
Applications. 

17. Explain in detail on Business of internet 
commercialization. 

18. Give an overview on Network Security and 
Firewalls. 

19. Explain the Smart Cards and Electronic Payment 
Systems. 

20. Narrate the Supply chain management in 
E-Commerce. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define the term – Basic feasible solution for a LPP. 

2. Define the term – Objective function of the general 
LPP. 

3. How can you handle unbalanced transportation 
problem? 

4. Mention the name of the method of finding the 
solution to an assignment problem. 

5. Define the term – Total elapsed time. 

6. What is meant by No passing? 

7. What is Replacement decision? 

8. State the conditions under which group 
replacement is superior to individual replacement. 

9. Write down the formulate for computing 
(a) Earlier start, (b) Earliest finish time of an 
activity of a project. 

10. Given any two applicants of CPM/PERT. 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the graphical method of solving a 
LPP involving two variables. 

Or 

 (b) Solve the following LPP by graphical method. 

  Minimize 1 220 10Z x x   

  Subject to 1 22 40x x   

   1 23 30x x   

   1 24 3 60x x   

   1 2, 0x x   

12. (a) Obtain the initial Basic Feasible Solution of 
following transportation problem by North 
West Corner Rule. 

  D1 D2 D3 D4 Supply 

O1 8 4 1 5 14 

O2 8 9 2 7 16 

O3 4 3 6 2 5 

Required 6 10 15 4 35 

Or 
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 (b) Solve the following assignment problem. 
  Job 
   1 2 3 4 5 

 A 8 4 2 6 1 
 B 0 9 5 5 4 
Person C 3 8 9 2 6 
 D 4 3 1 0 3 
 E 9 5 8 9 5 

13. (a) Six jobs go first over machine I and there 
over machine II. The order of the completion 
of jobs has no significance. The following 
table gives the machine times in hours for six 
jobs and the two machines. 

Job Nos. 1 2 3 4 5 6 

Time on Machine 1 5 9 4 7 8 6 

Time on Machine 2 7 6 8 3 9 5 

  Find the sequence of jobs that minimizes the 
total elapsed time to complete the jobs. 

Or 

 (b) Solve the following Sequencing problem 
giving an optimal solution when passing is 
not allowed. 
 A B C D E 

Machine M1 10 12 8 15 16 

Machine M2 3 2 4 1 5 

Machine M3 5 6 4 7 3 

Machine M4 14 7 12 8 10 
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14. (a) What are the factors affecting the 
replacement problem? Explain. 

Or 

 (b) A machine owner finds from his past records 
that the costs per year of maintaining a 
machine whose purchase price is Rs.6,000 
are as given below. 

Year 1 2 3 4 5 6 

Maintenance cost (Rs.) 1000 1200 1400 1800 2300 2800 

Resale value (Rs.) 3000 1500 750 375 200 200 

  Determine at what age is replacement due? 

15. (a) A small project consists of 12 activities, for 
which the relevant data are given below. 

Activity A B C D E F G H I J K L 

Proceeding 

Activities 
– – – BC A C E E DFH E IJ G 

Duration 

(Days) 
9 4 7 8 7 5 10 8 6 9 10 2 

  Draw the network and find the Project 
completion time. 

Or 

 (b) Write down the procedure to find PERT 
calculation in a network. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Use Simplex method to solve the following LPP. 
 Max 1 24 10Z x x   

 Subject to 
  1 22 50x x   

  1 22 5 100x x   

  1 22 3 90x x   

  1 2, 0x x   

17. Solve the following Transportation problem. 

  D1 D2 D3 D4 Supply 
S1 8 4 1 5 70 
S2 8 9 2 7 55 
S3 4 3 6 2 70 

Demand 85 35 50 45  

18. Determine a Optimal sequence of jobs, minimum 
elapsed time and idle time of machines (in hrs) for 
the following. 

 Machines 
Job A B C D E F 
1 19 8 8 3 11 24 
2 18 6 9 6 9 18 
3 12 5 8 5 7 15 
4 20 5 3 4 8 11 
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19. The cost of a new machine is Rs.5,000. The 
maintenance cost during the nth year is given by 

Rs.500 ( 1)nM n   where 1,2,3...n   if the 

discount rate per year is 0.05, after how many 
years will it be economical to replace the machine 
by a new one? 

20. A small project is composed of seven activities 
whose time  estimates are listed in the as follows: 

Activity 0t  mt  pt  

1 – 2 

1 – 3 

1 – 4 

2 – 5 

3 – 5 

4 – 6 

5 – 6 

1 

1 

2 

1 

2 

2 

3 

1 

4 

2 

1 

5 

5 

6 

7 

7 

8 

1 

14 

8 

15 

 (a) Draw the Project network and identify all 
the paths through it; 

 (b) Determine the Expected project length; 

 (c) Calculate the Standard deviation and 
Variance of the project length; 
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 (d) What is the probability that the project will 
be completed: 

  (i) at least 4 weeks later than excepted 
time? 

  (ii) no more than 4 weeks later than 
expected time? 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Name any four mobile Operating Systems. 

2. What is meant by Android emulator? 

3. List out the components of Eclipse IDE. 

4. Define an Activity. 

5. State the purpose of a Content Provider. 

6. How to manage Broadcast receivers? 

7. Mention the significance of Alert dialogs. 

8. What is the use of a Frame? 

9. Give examples for Android games. 

10. Write the applications of Phonebook. 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the android application framework 
in detail. 

Or 

 (b) Describe Android Runtime and Dalvik VM. 

12. (a) Discuss on Debugging with DDMS. 

Or 

 (b) Write short notes on Intent filters. 

13. (a) What is binding and querying Android 
service? Explain. 

Or 

 (b) Exemplify Database applications. 

14. (a) Discuss on option menu and pop-up menu. 

Or 

 (b) Summarize the attributes of Android 
layouts. 

15. (a) State and explain Tip calculator app. 

Or 

 (b) What is the need for live application 
development? Explain. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Explain the History and features of Android. 

17. Elaborate on working with Emulator and Smart 
Devices. 

18. Write a detailed note on SQLite and data analysis. 

19. Explain the Lists and notifications with suitable 
example. 

20. Discuss on Doodlz app and Weather viewer app. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define the term – Operating System. 

2. What is Process? 

3. Define the term – I/O Burst cycle. 

4. List out the four types of Scheduling algorithms. 

5. Define the term – Memory partion. 

6. What is Protection? 

7. Define the term – Virtual memory. 

8. What is Segmentation? 

9. Define the term – Acyclic-graph directiories. 

10. What are the two components of Disk scheduling? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the Process Control Block with neat 
diagram. 

Or 

 (b) Describe the Classification of Operating 
System. 

12. (a) Write short notes on Scheduling Criteria. 

Or 

 (b) Describe about the basic concept of Deadlock. 

13. (a) Explain the Logical and Physical address 
spaces. 

Or 

 (b) Discuss on Memory allocation. 

14. (a) Write short notes on basic method of Paging. 

Or 

 (b) Discuss on Inverted Page table. 

15. (a) Describe the Tree structured directories with 
neat diagram. 

Or 

 (b) Discuss on LRU page replacement with 
suitable example. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Illustrate the Process Scheduling. 

17. Describe the Deadlock avoidance algorithm with 
suitable example. 

18. Discuss on the basic concept of Memory 
management. 

19. Explain in detail the concept and performance of 
Demand paging. 

20. Discuss on various Disk scheduling algorithms 
with example. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. List out the two types of Transmission. 

2. Define Protocol. 

3. What is flag byte? 

4. State the use of FDDI. 

5. What is Static Algorithm? 

6. Define Congestion Control. 

7. Expand TSAP. 

8. What is Marshalling? 

9. What does MIME and SMTP stands for? 

10. What is WAP? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Discuss on characteristics of Multimedia 
presentation. 

Or 
 (b) Write short note on: 
  (i) Coaxial Cable. 
  (ii) Twisted Pair. 

12. (a) Give an overview on different types of Text. 
Or 

 (b) Describe about the Gigabit Ethernet. 

13. (a) Distinguish between Broadcast and 
Multicast routing. 

Or 
 (b) Describe the general principles of Congestion 

Control. 

14. (a) Discuss on Multiplexing. 
Or 

 (b) Write short notes on TCP Timer 
Management. 

15. (a) Elaborate on Video on Demand with neat 
diagram. 

Or 
 (b) Discuss on Simple Mail Transfer Protocol. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Discuss on Guided Transmission Media. 

17. Write a detailed note on Data link layer Design 
issues. 

18. Discuss on Internetworking in detail. 

19. Describe – User Datagram Protocol. 

20. Explain about the Wireless Web in detail. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define the term – Flow chart. 

2. What is “Big – O” notation? 

3. Define the term Merge sort. 

4. Mention the purpose of partition algorithm. 

5. What are weighted trees?  

6. Define the term – Minimum – cost Spanning Tree? 

7. What is ‘Principle of optimality’? 

8. Define the Traveling salesperson problem. 

9. What is Binary tree? 

10. Define the term – Backtracking. 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Discuss on Recursive algorithms.  

Or 

 (b) Write a short note on Primality testing.  

12. (a) Explain the algorithm for Straight forward 
maximum and minimum.  

Or 

 (b) Give an overview on Selection sort.  

13. (a) Explain the concept of Tree vertex splitting.  

Or 

 (b) Discuss on Single Source Shortest paths 
algorithm.  

14. (a) Describe the All pairs shortest path problem.  

Or 

 (b) Write a short note on Reliability design.  

15. (a) Explain the Depth first search and Traversal 
technique for graphs.  

Or 

 (b) Give an overview on Graph coloring. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the Time complexity with an example. 

17. Discuss on Binary search algorithm. 

18. Describe the Prim’s algorithm. 

19. Write a detailed note on 0/1 knapsack problem. 

20. Explain the concept of Hamiltonian Cycles with 
examples. 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define halogen. 

 ÷í»õáß Áøμ¯Ö. 

2. Write the structure of hypochlorus acid and 
perbromic acid. 

 øí¨÷£õS÷Íõμì Aª»® ©ØÖ® ö£º¦÷μõªU 
Aª»zvß ÁiÁø©¨ø£ GÊxP. 

3. Define coordination number. 

 AønÄ Gs Áøμ¯Ö. 

4. Write the formulae of the following compounds. 

 (a)    362 ClOHCr  (b)  42 CrOFNa . 

 RÌPsh ÷\º©[PÎß Áõ´¨£õmiøÚ GÊxP. 

 (A)    362 ClOHCr  (B)  42 CrOFNa . 
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5. Define EAN rule. 

 EAN Âvø¯ Áøμ¯Ö. 

6. Write the hybridisation for the following 
compounds. 

 (a)   4CONi   

 (b)    2
4CNNi . 

 RÌPsh ÷\º©[PÎß CÚP»¨ø£ GÊxP. 

 (A)   4CONi    

 (B)    2
4CNNi . 

7. Write any two applications of quantitative 
analysis of coordination complexes. 

 AønÄ ÷\º©[PÎß AÍÁÔ£S¨£õ´Âß H÷uÝ® 

Cμsk £¯ß£õkPøÍ GÊxP. 

8. Write the structure of   82 COCO . 

   82 COCO –°ß ÁiÁø©¨ø£ GÊxP. 

9. What is an amorphous solids? 

 Áøμ¯øÓÁiÁ©ØÔ vß©® GßÓõÀ GßÚ? 

10. State Bragg’s law. 

 ¤μõUì Âvø¯ TÖP. 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions. 

11. (a) Write note on Cyanogens. 

  \¯÷|õáß £ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) Discuss about the preparation and properties 
of chlorine trilfluoride. 

  S÷Íõ›ß møμ¨Ðøμm u¯õ›¨¦ ©ØÖ® 
£s¦PøÍ ÂÁõvUP. 

12. (a) Give note on coordination isomerism. 

  J¸[QønzuÀ ©õØÔ¯® £ØÔ SÔ¨¦ u¸P. 

Or 

 (b) Which type of isomerism exhibited by the 
following isomers?   

(i)      663 CNCrNHCr  and 

     243 CNNHCr      423 CNNHCr   

  (ii)    2243 ClBrNHpt  and    2243 BrClNHpt  

  RÌPsh ©õØÔ¯[PÒ G¢u ÁøP¯õÚ 
©õØÔ¯[PøÍ öÁÎ£kzxQßÓÚ. 

(i)      663 CNCrNHCr  ©ØÖ® 

     243 CNNHCr      423 CNNHCr   

  (ii)    2243 ClBrNHpt  ©ØÖ® 

   2243 BrClNHpt  
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13. (a) Calculate the CFSE and magnetic moment 
for the following complexes using CFT. 

(i)    4
6CNFe  (ii)    3

62OHMn  

  £iP¨¦» ÷Põm£õmøh £¯ß£kzv RÌPsh 

÷\º©[PÎß £iP¨¦» {ø»¯õUS BØÓÀ 

©ØÖ® Põ¢u v¸¨¦ vÓøÚ PnUQkP.  

   (i)    4
6CNFe  (ii)    3

62OHMn  

Or 

 (b) Explain about the Sidwick concept of effect 
atomic number. 

  ]mÂUQß {Pμ Aq Gs ÷Põm£õmøh 

ÂÍUSP. 

14. (a) Explain the applications of co-ordination 
compounds in qualitative analysis. 

  £s£Ô £S¨£õ´Âß AønÄa ÷\º©[PÎß 

£¯ß£õkPøÍ ÂÍUSP. 

Or 

 (b) Describe the bonding and hybridisation 
structure of   5COFe . 

    5COFe –°ß ¤øn¨¦ ©ØÖ® CnUP»¨¦ 

ÁiÁø©¨ø£ ÂÁ›UP. 
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15. (a) Discuss about the structure of Wurzite.  

  Jºø\miß ÁiÁø©¨ø£ ÂÁõv. 

Or 

 (b) Explain about the Frenkle defects.  

  ¨μõ[QÒ SøÓ£õk £ØÔ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Give the geometry, preparation and properties of 

Iodine penta fluoride. 

 A÷¯õißö£ßhõ¨Ñøμiß, ÁiÁø©¨¦ u¯õ›¨¦ 

©ØÖ® Auß £s¦PøÍz u¸P. 

17. Explain about the geometrical isomerism in four 

coordinated complexes. 

 AønÄ Gs |õßS öPõsh ÷\º©[PÎß ÁiÁ 

©õØÔ¯[PøÍ ÂÍUSP. 

18. Discuss briefly about the crystal field splitting of 

d-orbitals in octahedral complexes. 

 Gs•Q ÷\º©[PÎß i–Bº¤hõ¼ß £iP¨¦» 

¤Í¨¦ £ØÔ Â›ÁõP ÂÁ›. 
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19. Describe the following : 

 (a) Estimation of Aluminium using oxine. 

 (b) Bending and structure of   102 COMn  
complex. 

 RÌPshÁØøÓ ÂÁ›UP. 

 (A) BUø\ø© £¯ß£kzv A¾ªÛ¯zøu 
Gøh°kP. 

 (B)   102 COMn  ÷\º©zvß ¤øn¨¦ ©ØÖ® 

ÁiÁø©¨¦. 

20. Explain the following terms  

 (a) Crystal structure of NaCl. 

 (b) Face-centered cubic. 

 RÌPshÁØøÓ ÂÍUSP. 

 (A) NaCl –°ß £iPÁiÁø©¨¦ 

 (B) •P¨¦ ø©¯ PÚa\xμ®. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Write the chemical equation for the osazone 
formation. 

 Jö\õö\õß E¸ÁõUPzvß ÷Áva \©ß£õmøh 
GÊx. 

2. Mention the uses of glucose. 

 SÐ÷Põ]ß £¯ßPøÍU SÔ¨¤kP. 

3. Assign R and S configuration to the following : 

 (a)   3423 CHCHCH  

 

(b)

 

 

3

3223

CH
|
CHCHCHCH

 

 

(c)

 
3 3

33

CH CH
||

CHCHCHCH 

 

 (d)   3233 CHCHCCH   
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 RÌUPshÚÁØÔUS R ©ØÖ® S Aø©¨ø£ {ÖÄ. 

 (A)   3423 CHCHCH  

 
(B)

 

 

3

3223

CH
|
CHCHCHCH

 

 
(C) 

3 3

33

CH CH
||

CHCHCHCH 

 

 (D)   3233 CHCHCCH   

4. Assign E or Z configuration to each of the 
following compounds : 

  

(a)          CC   (b)     CC   
 
 

 RÌUPshÚÁØÔØS E AÀ»x Z Aø©¨ø£ {ÖÄ. 

  

(A)          CC   (B)     CC   
 

5. Mention any two uses of nitro alkanes. 

 ø|m÷μõ BÀ÷PßPÎß H÷uÝ® C¸ £¯ßPøÍ 
SÔ¨¤k. 

C
l

H

Br 

I 

H

Cl

Me 

Et 

H

Cl

Me 

Et 

C
l

H

Br 

I 
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6. Write the chemical equation for the cannizaro 
reaction. 

 Pso\õ÷μõ ÂøÚUPõÚ ÷Áva \©ß£õmøh GÊx. 

7. What is Dihedral angle? 
 C¸ •øÚU ÷Põn® GßÓõÀ GßÚ? 

8. State the difference between conformation and 
configuration. 

 ÁiÁ Á\ Aø©¨¦ ©ØÖ® Aø©¨¦ Gß£ÚÁØÔß 
÷ÁÖ£õmøh {ÖÄ. 

9. State Huckel’s rule. 
 íUQ¼ß Âvø¯ {ÖÄ. 

10. Write the structure and uses of thiophene. 
 øu÷¯õ¥Ûß Aø©¨¦ ©ØÖ® £¯ßPøÍ GÊx. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Write a note on reducing and non-reducing 
sugars. 

  JkUS® ©ØÖ® KkUPõu \ºUPøμ £ØÔ SÔ¨¦ 
GÊxP. 

Or 

 (b) Discuss the reactions of glucose. 

  SÐ÷Põ]ß ÷Áv ÂøÚPÒ SÔzx ÂÁõv. 
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12. (a) Describe in detail the Fischer’s projection 
formula for planar representation of three 
dimensional molecules. 

  \© uÍzvÀ ¤μ{vzxÁ¨ £kzx® •¨£›©õÚ  

‰»UTÖPÎß ¤åº vmh `zvμzøu Â›ÁõP 

ÂÁ›. 

Or 

 (b) Prove that the presence or absence of chiral 
carbon atom in a molecule is not the 
necessary and sufficient criterion for 
existence of optical activity. 

  JÎ _ÇØÖ® £s¦US J¸ ‰»UTÔÀ 

^ºø©¯ØÓ Põº£ß C¸¨£÷uõ AÀ»x 

CÀ»õu÷uõ ÷£õx©õÚ ©ØÖ® AÁ]¯©õÚ 

Põμn©õPõx Gß£øu {¹¤UPÄ®. 

13. (a) What is meant by 1, 3-diaxial interaction? 

  øh BU]¯À öuõhº¦ GßÓõÀ GßÚ? 

Or 

 (b) Describe geometrical isomerism along with 
cis-trans syn-anti and E-Z notations. 

  ]ì mμõßì ©ØÖ® ]ß Gv› SÔ±kP÷Íõk 

ÁiÂ¯À \© £Sv ußø©ø¯ ÂÁ›. 
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14. (a) Discuss the mechanism of Aldol 
condensation. 

  BÀhõÀ SÖUPzvß ÂøÚ ÁÈø¯ ÂÁõv. 

Or 

 (b) Explain the preparation and properties of 
Nitro alkanes. 

  ø|m÷μõ BÀ÷PßPÎß u¯õ›¨¦ ©ØÖ® 
£s¦PøÍ ÂÁ›. 

15. (a) Write the preparation and properties of 
pyridine. 

  ¤›iÛß u¯õ›¨¦ ©ØÖ® £s¦PøÍ ÂÁ›. 

Or 

 (b) Discuss the Fischer-Indole synthesis. 

  ¤åº–Cs÷hõÀ öuõS¨¦ •øÓø¯ ÂÁõv. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the reactions and structural elucidation of 
sucrose. 

 _U÷μõ]ß ÂøÚPøÍ ÂÍUQ Pmhø©¨¦z öuÎøÁ 
ÂÁ›. 

17. Discuss the optical activity in allenes and 
spiranes. 

 AÀ½ßPÒ ©ØÖ® ìø£÷μßì JÎ _ÇØÖ® £sø£ 
ÂÁõv. 
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18. Explain the conformational analysis of n-butane 
with energy diagram. 

 n-¤³÷hÛß ÁiÁ Á\ B´ÂøÚ BØÓÀ 
Áøμ£hzxhß ÂÁ›. 

19. Discuss the mechanism of the following reactions. 

 (a) Knoevenagel condensation 

 (b) Michael addition reaction. 

 RÌUPõq® ÂøÚPÎß ÂøÚ ÁÈø¯ ÂÁõv. 

 (B) ÷|õÁ÷|PÒ SÖUP® 

 (B) ø©U÷PÀ ÷\ºUøP ÂøÚ. 

20. Explain the following synthesis. 

 (a) Skrap Quinolone synthesis. 

 (b) Bischler-Napieralsky syntheses. 

 RÌUPõq® öuõS¨¦ •øÓPøÍ ÂÁ›. 

 (A) ìQμõ¨–S°÷Úõ¼ß öuõS¨¦ •øÓ 

 (B) ¤aÍº–|õ¤μÀaQ öuõS¨¦ •øÓ. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. State Raoult’s law. 

 μÄÀm Âvø¯ TÖP. 

2. What is meant by missible liquid? Give an 
example. 

 •ÊÁx® P»UPUTi¯ vμÄ® Gß£x GßÚ? 
GkzxUPõmk u¸P. 

3. What are the Osmotic pressure? 

 Bì÷©õiU AÊzu® Gß£x ¯õx? 

4. Define chemical equilibrium. Give an example. 

 ÷Áva \©{ø» Áøμ¯Ö. GkzxUPõmk u¸P. 

5. State the reduced phase rule. 

 SøÓUP¨£mh {ø»ø© Âv SÔ¨¤hÄ®. 

6. What is congruent melting point? 

 J÷μ ©õv›¯õÚ E¸S® {ø» Gß£x GßÚ? 

7. Define Langmuir isotherm. 
 »õ[•¯º \©öÁ¨£ {ø»U÷Põk Áøμ¯Ö. 
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8. State the BET isotherm. 

 BET \©öÁ¨£ {ø»U÷Põk SÔ¨¤kP. 

9. Define zero-order reaction. 
 §äâ¯ Á›ø\ ÂøÚø¯ Áøμ¯ÖUPÄ®. 

10. Write any two difference between collision theory 
and ARRT theory. 

 ÷©õuÀ ÷Põm£õmiØS® ARRT ÷Põm£õmiØS® 
Cøh°À G¢u Cμsk Âzv¯õ\zøu²® GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions. 

11. (a) Write short notes on ideal solutions. 

  |À¼¯À¦ Pøμ\À Gß£x £ØÔ öuõSzx 
GÊxP. 

Or 

 (b) Explain the free energy change of mixture 
for an ideal solution. 

  J¸ ]Ó¢u (|À¼¯À¦) Pøμ\¼ß P»øÁ°ß 
Pmi»õ BØÓÀ ©õØÓzøu ÂÍUSP. 

12. (a) Briefly discuss about the reverse osmosis. 

  uø»RÌ \ÆÅk£μÁÀ £ØÔ _¸UP©õP 
ÂÁõvUPÄ®. 

Or 

 (b) Write note on elevation of boiling point. 
  öPõv{ø»°ß E¯º{ø» ÷©®£õkPøÍ £ØÔ 

öuõSzx GÊxP. 
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13. (a) Explain the one component system of water 
system. 

  }›ß Aø©¨¤À J¸ TÖ Aø©¨ø£ £ØÔ 
ÂÍUSP. 

Or 

 (b) Write note on congruent melting point of 
FeCl3-H2O system. 

  FeCl3-H2O Aø©¨¤ß Jzu E¸S® ¦ÒÎø¯ 
£ØÔ SÔ¨¦ GÊxP. 

14. (a) Briefly explain the Frenchlich adsorption 
isotherm. 

  L¨Ÿsm¼a EÔg_uÀ \©öÁ¨£zøu £ØÔ 
_¸UP©õP ÂÍUSP. 

Or 

 (b) Write short note on acid-base catalyst. 
  Aª»®–Põμ® ÂøÚ³UQPÎß {ø»PøÍ 

£ØÔ öuõSzx GÊxP. 

15. (a) Write short note on polarimetry. 
  ÷£õ»õ›ö©m› £ØÔ öuõSzx GÊv ÂÁ›. 

Or 

 (b) Explain the difference between collision 
theory and ARRT theory. 

  ÷©õuÀ ÷Põm£õk ©ØÖ® ARRT ÷Põm£õk 
Cøh°»õÚ ÷ÁÖ£õkPøÍ ÂÁ›. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the partially miscible liquids of phenol-
water system. 

 £Sv¯ÍÄ Pøμ²® {º©zvÀ ¥ÚõÀ–}º Aø©¨ø£ 
£ØÔ ÂÍUSP. 

17. Write note on Vant Hoff isochore. 

 Áõßm íõL¨ I÷\õ÷Põº £ØÔ öuõSzx GÊv 
ÂÍUSP. 

18. Explain the simple eutectic system of  Pb-Ag. 

 Pb-Ag Cß GÎ¯ GÎx¸PÒ Aø©¨ø£ £ØÔ 
ÂÍUSP. 

19. Write derive the equation of Langmuir adsorption 
isotherm. 

 »õ[•´º \©öÁ¨£Phzx® £μ¨¦ PÁºa]ø¯ 
\©ß£õmiß ‰»® u¸P. 

20. Write the explain second order rate reaction. 

 CμshõÁx Á›ø\ ÂQu GvºÂøÚPøÍ ÂÍUQ 
GÊxP. 

——————— 



625 

 

 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What are the sources of water?  

 }º |©US QøhUS® Buõμ[PÒ ¯õøÁ? 

2. What do you mean by ozonisation of water? 

 }øμ J÷\õ÷ÚØÓ® ö\´uÀ £ØÔ }Âº GßÚ 

AÔ¢xÒÍõ´? 

3. What are the advantages of ion exchange process 
over Lime-Soda (L-S) process? 

 ÷\õhõ&_snõ®¦ •øÓø¯ Âh A¯Û¨£›©õØÓ 

•øÓ°ß ÷©ßø©PÒ ¯õøÁ? 

4. Write the structure of EDTA.  

 EDTA –°ß Aø©¨ø£ GÊuÄ®. 

5. Define the term electrodialysis. 

 Áøμ¯Ö : ªßÚõØ ¤›¨¦. 

6. What is mean by plumbo solvency? How is it 
prevented? 

 PõŸ¯U Pøμ\À GßÓõÀ GßÚ? Ax GÆÁõÖ 

ukUP¨£kQÓx? 
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7. Define pH. 
 pH Áøμ¯Ö. 

8. List out the dissolved solids in water. 
 }›À Pøμ¢v¸US® E¨¦UPÎß ö£¯ºPøÍ¨ 

£mi¯¼kP. 

9. What do you know about radioactivity of water? 
 }›ß Pv›¯UPz ußø© SÔzx }Âº GßÚ 

AÔ¢xÒÍõ´? 

10. Point out the various chemical substances present 
in water affecting our health. 

 }›ÝÒ Pøμ¢xÒÍ, |©x EhÀ |»zvØSz wø© 

ÂøÍÂUS® ÷Áv¨ö£õ¸mPøÍU SÔ¨¤kP. 

SECTION B — (5 × 5 = 25 marks) 
Answer ALL the questions. 

11. (a) Define : ‘‘Hard water and soft water’’. 
Mention the units for hardness of water. 

  Áøμ¯Ö : ‘‘PiÚ}º ©ØÖ® ö©ßÜº’’ }›ß 

PiÚzußø©ø¯ AÍÂh® A»SPøÍU 

SÔ¨¤kP. 

Or 
 (b) What are the characteristics of  good water? 
  Kº |ßÜ›ß £s¦PÒ ¯õøÁ? 

12. (a) How can you determine the hardness of 
water by complexometric titration method? 

  }›ß PiÚzußø©ø¯ AønÁõUQzuμ® 

£õºzuÀ •øÓ ‰»® }Âº GÆÁõÖ 

{ºn°¨£õ´? 

Or 
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 (b) How is hardwater softened by permuitit 
method? 

  ö£ºª³i® •øÓ ‰»® PiÚ}º GÆÁõÖ 

ö©ßÜμõP ©õØÓ¨£kQÓx? 

13. (a) How is sea water converted into drinking 
water? 

  PhÀ }º G[VÚ® Si}μõP ©õØÓ¨£kQÓx? 

Or 
 (b) What is mean by scale and suldges in boiler 

feed water? Mention its disadvantages. 
  öPõvP»ßPÎÀ ÷\Ö ©ØÖ® ö\vÀPÒ 

E¸ÁõuÀ GßÓõÀ GßÚ? Auß 

SøÓ£õkPøÍU SÔ¨¤kP. 

14. (a) How can you analyse acidity and alkalinity 
present in water? 

  }›ß Aª»zußø© ©ØÖ® Põμzußø©ø¯ 

}Âº G[VÚ® £S¨£õ´Ä ö\´x AÔÁõ´? 

Or 
 (b) Give a brief account on sampling of water for 

analysis. 
  }øμ¨ £S¨£õ´Ä ö\´¯z ÷uøÁ¯õÚ }º 

©õv›PøÍ ÷uºÄ ö\´²® Âu® SÔzx Â›ÁõP 

GÊxP. 

15. (a) Describe the bacteriological examination of 
water. 

  }›À EÒÍ £õUj›¯õUPøÍ¨ £›÷\õvzuÀ £ØÔ 

ÂÍUSP. 

Or 
 (b) How can you measure the toxic chemicals in 

water? 
  }›À Pøμ¢xÒÍ Âåz ußø© öPõsh 

÷Áv¨ö£õ¸mPøÍ }Âº G[VÚ® 

AÍ¢uÔÁõ´? 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss about purification of drinking water by 
using different methods. 

 Si}øμz y´ø©¯õUP¨ £¯ß£k® £À÷ÁÖ •øÓPÒ 

£ØÔ ÂÁõv. 

17. How hard water is softened by Lime-soda process 
and Ion-exchange process? 

 ÷\õhõ–_snõ®¦ •øÓ ©ØÖ® A¯Û¨£›©õØÓ 

•øÓ ‰»® PiÚ }º G[VÚ® ö©ßÜμõP 

©õØÓ¨£kQÓx? 

18. Describe the effluent treatment of water from 
paper industry, petro chemical industry and 
fertilizer industry. 

 PõQuz öuõÈØ\õø», ö£m÷μõöPªUPÀ öuõ›Ø\õø», 

©ØÖ® Eμz öuõÈØ\õø» PÈÄ {ºPÛy´ø©¯õUS® 

•øÓPÒ £ØÔ ÂÍUSP. 

19. Explain about colour, turbidity, odour,  taste, 
temperature and electrical conductivity of potable 
water. 

 Si}›ß {Ó®, P»[Q¯ ußø©, ©n®, _øÁ, 

öÁ¨£{ø» ©ØÖ® ªßPhzx® ußø© £ØÔ 

ÂÍUSP. 

20. Explain about BOD and COD. 
 BOD ©ØÖ® COD £ØÔ ÂÍUQ GÊxP. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (5  6 = 30 marks)  

Answer ALL questions. 

1. (a) How does the festival of pomp and 
entertainment in A Midsummer Night’s 
Dream is explained?  

Or 

 (b) Narrate the role of Puck. 

2. (a) Explain the reason for Hamlet telling 
Ophelia to go “to a nunnery”.  

Or 

 (b) Explain the historical background of Hamlet. 

3. (a) Why does Hotspur called ‘manner 
unbefitting royalty’? Explain it.  

Or 

 (b) Bring out the reasons of King Henry’s 
disappointment with his son? 
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4. (a) How does masculine order versus feminine 
order exist in Antony and Cleopatra?  

Or 

 (b) Explain the virtues of a republic versus 
despotism in Antony and Cleopatra. 

5. (a) Write a short note on Barthes’ ethical 
perspective in Julius Caesar.  

Or 

 (b) Briefly explain the Marxism views in Timon 
of Athens. 

  

SECTION B — (3 × 15 = 45 marks) 

Answer any THREE questions. 

6. Write an essay on the context analysis of the play 
A Midsummer Night’s Dream. 

7. Analyse in detail about the perceptive of mortality 
and madness in the play Hamlet. 

8. Explain in detail about King Henry’s 
disappointment in his son and heir apparent 
Prince Hall. 
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9. The play Antony and Cleopatra is based on the 
concept of fate, inevitability, historical necessity. 
Briefly explain it. 

10. How does Oedipus complex is traced in Hamlet? 
Justify. 

   

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (5  6 = 30 marks)  

Answer ALL questions. 

1. (a) How does Dover Beach express the theme of 
isolation?  

Or 

 (b) Draw a note on the setting of My Last 
Duchess. 

2. (a) What are Carlyle’s comments on 
Shakespeare’s laughter?  

Or 

 (b) How does Carlyle explain about the qualities 
of poetry? 

3. (a) Write a note on the character of Jack 
Worthing.  

Or 

 (b) Comment on the character of Algernon 
Moncrieff. 
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4. (a) Write a note on the depiction of  childhood in 
The Mill on the Floss.  

Or 

 (b) How does Fate overrules in the novel Tess of 
the D’urbervilles? 

5. (a) Write a short note on character of Tommy 
Traddles.  

Or 

 (b) The role of Theodore in The Castle of 
Ortanto. 

SECTION B — (3 × 15 = 45 marks) 

Answer any THREE questions. 

6. Analyse the dramatic monologue in the poem 
Tithonus. 

7. Bring out Carlyle’s views on Dante. 

8. The Importance of Being Earnest as a comedy of 
Manners – Justify. 

9. Trace out the autobiographical element in the 
novel The Mill on the Floss. 

10. Write an essay on the sufferings of children in 
David Copperfield.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (5  6 = 30 marks)  

Answer ALL questions. 

1. (a) State the view of literature according to 
Sidney.  

Or 

 (b) Define Semiotics. 

2. (a) Interpret stylistics with suitable examples.  

Or 

 (b) Examine the view of Narratology according 
to Claude Strauss. 

3. (a) Determine Derrida’s contribution to 
‘Deconstruction’.  

Or 

 (b) Evaluate Post – structuralism – life on 
‘decentred plant’.  
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4. (a) Analyse ‘Paraprascis’ and ‘Displacement’.  

Or 

 (b) Enumerate the contribution of Freud 
towards Psychoanalytic criticism. 

5. (a) Examine in detail the characteristics of 
‘Gynocriticism.  

Or 

 (b) Describe Feminism with suitable examples. 

SECTION B — (3 × 15 = 45 marks) 

Answer any THREE questions. 

6. Critique on the various concepts related to critical 
theory. 

7. Evaluate the various objectives of Stylistics. 

8. Critically analyse deconstruction and post – 
structuralism. 

9. Discuss in detail ‘Oedipus complex’, and the 
significance of the concept. 

10. Discuss Elaine Showalter’s contribution to the 
growth of feminism in detail.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define Insurance. 

 Põ¨¥k – Áøμ¯Ö. 

2. Write any two characteristics of Insurance 
contract. 

 Põ¨¥mk J¨£¢uzvß H÷uÝ® Cμsk ußø©PøÍ 

TÖP. 

3. Write any two objectives of life insurance. 

 B²Ò Põ¨¥miß ÷|õUP[PÒ H÷uÝ® Cμsk u¸P. 

4. What is the meaning of Group insurance scheme? 

 SÊ Põ¨¥mk vmh® GßÓõÀ GßÚ? 

5. Define Marine insurance. 

 PhÀ\õº Põ¨¥k – Áøμ¯Ö. 
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6. Give the meaning of freight insurance. 

 \μUS Pmhn Põ¨¥k Gß£uß ö£õ¸Ò ¯õx? 

7. Mention any two contents of marine insurance 
policy. 

 P¨£À Põ¨¥mkU öPõÒøP°ß EmTÖPÒ Cμsk 

TÖP. 

8. What is the meaning of partial loss? 

 £Sv CÇ¨¦ GßÓõÀ GßÚ? 

9. Define Fire insurance. 

 wUPõ¨¥k Áøμ¯øÓ. 

10. What is specific policy? 

 SÔ¨¤mh vmh® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the general principles of insurance. 

  Põ¨¥miß ö£õxU ÷Põm£õkPøÍ ÂÍUSP. 

Or 

 (b) Explain the merits of insurance to the 
business. 

  Põ¨¥miÀ Â¯õ£õμzvØS QøhUS® 

|ßø©PøÍ ÂÍUSP. 
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12. (a) What are the advantages of life assurance? 

  B²Ò Põ¨¥miß |ßø©PÒ ¯õx? 

Or 

 (b) Explain the schemes of renewal of lapsed 
policies. 

  Põ»õÂv¯õÚ £õ¼]PøÍ ¦x¨¤US® 

vmh[PøÍ ÂÍUSP. 

13. (a) What are the characteristics of marine 
insurance contract? Explain. 

  PhÀ \õº Põ¨¥mk J¨£¢uzvß £s¦PÒ 

¯õøÁ? ÂÁ›. 

Or 

 (b) What are the classification of marine 
insurance? 

  PhÀ\õº Põ¨¥miß ÁøPPÒ ¯õx? 

14. (a) What are the marine perils? Explain any 
five. 

  PhÀ \õº A£õ¯[PÒ ¯õøÁ? H÷uÝ®  

I¢x I ÂÍUSP. 

Or 

 (b) Explain the different types of non-
proportional re-insurance. 

  ÂQuõa\õμ ©ØÖ® ©Ö Põ¨¥miß £À÷ÁÖ  

ÁøPPøÍ ÂÍUSP. 
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15. (a) Explain the causes of fire. 
  wUPõÚ Põμn[PøÍ ÂÍUSP. 

Or 

 (b) What is the subject matter of fire insurance? 
Give any five example for insurable property. 

  w Põ¨¥miÀ P¸¨ö£õ¸Ò GßÓõÀ GßÚ? 

H÷uÝ® I¢x Põ¨¥mk ö\õzxUPøÍ 

GkzxPõmk u¸P. 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Explain the types of insurance. 

 Põ¨¥miß ÁøPPøÍ ÂÍUSP. 

17. Explain the various kinds of life policies. 

 B²Ò Põ¨¥mk öPõÒøP°ß £À÷ÁÖ ÁøPPøÍ 

ÂÍUSP. 

18. Discuss the procedure for taking out a marine 
policy. 

 PhÀ\õº Põ¨¥mk £õ¼] Gk¨£uØPõÚ 

ÁÈ•øÓPøÍ ÂÁõv. 

19. Explain the important clauses of a marine policy. 

 PhÀ\õº Põ¨¥mk £õ¼]°ß \mh Âv TÖPøÍ 

ÂÍUSP. 

20. Discuss the rights of the insurer under a fire 
policy. 

 wUPõ¨¥miÀ Põ¨¥k AÎ¨£Á›ß E›ø©PøÍ 

ÂÁ›. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is offer? 

 •øÚÄ GßÓõÀ GßÚ? 

2. Define Quasi contract. 

 J¨£¢u ÷£õÀÄ Áøμ¯Ö. 

3. What is nominal damages? 

 ö£¯μÍÄÍ CÇ¨¥k GßÓõÀ GßÚ? 

4. Define Breach of contract. 

 J¨£¢u «ÓÀ Áøμ¯Ö. 

5. Define Indemnity. 

 DmkÖv Áøμ¯Ö. 

6. What are the rights of indemnities? 

 DmkÖv¯Î¨£Á›ß E›ø©PÒ ¯õøÁ? 
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7. Give two rules for agency. 

 •Pø©°ß C¸ ÂvPøÍz u¸P. 

8. Who is an agent? 

 •PÁº Gß£Áº ¯õº? 

9. Define the term bill of exchange. 

 ©õØÖa^mk GßÓ ö\õÀ¼ß C»UPn® u¸P. 

10. What is meant by symbolic delivery? 

 \μUS Aøh¯õÍ©õP ÁÇ[SuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 
Answer ALL questions. 

11. (a) What is an illegal agreement? What are the 
effects of illegality? 

  \mh •μnõÚ Ehß£õk GßÓõÀ GßÚ? 
\mhzvØS ¦Ó®£õÚ ö\¯¾UPõÚ ÂøÍÄPÒ 
¯õøÁ? 

Or 

 (b) What are the essentials of wagering 
agreements?  

  £øÚ¯ Ehß£iUøP°ß Azv¯õÁ]¯ TÖPÒ 
¯õøÁ? 

12. (a) Explain the discharge of contract. 

  J¨£¢u Âk¨¦ Gß£øu ÂÁ›. 

Or 
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 (b) What are the instances of quasi-contract? 

  J¨£¢u ÷£õÀÂß GkzxUPõmkUPÒ ¯õøÁ? 

13. (a) Differences between indemnity and 
guarantee. 

  DmkÖvUS® EzvμÁõuzvØS® Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPøÍ TÖ. 

Or 

 (b) Explain the liabilities of a surety. 

  J¸ ¤øn¯õÍ›ß ö£õÖ¨¦UPøÍ ÂÍUSP. 

14. (a) What are the requisites of valid ratification 
of an agent? 

  •PÁ¸USÒÍ J¸ ö\ÀuS •ß÷ÚØ¤ß 
•UQ¯z ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) State the liabilities of an agent. 

  J¸ •PÁ›ß ö£õÖ¨¦PøÍU TÖP. 

15. (a) Distinguish between contract of sale and 
agreement to sell. 

  ÂØ£øÚ J¨£¢u® ©ØÖ® ÂØ£uØPõÚ 
Ehß£õk ÷ÁÖ£kzxP. 

Or 

 (b) Discuss the features of contract of sale. 

  ÂØ£øÚ J¨£¢uzvß ]Ó¨¤¯À¦PøÍ 
ÂÁõv. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Define consideration. What are the rules 
regarding consideration? 

 ©Ö£¯ß C»UPn® u¸P. ©Ö£¯ß öuõhº£õÚ 
ÂvPÒ GßöÚßÚ? 

17. Discuss the remedies for breach of contract. 

 J¨£¢u «Öu¾UPõÚ wºÄPøÍ ÂÁõvUP. 

18. Explain the duties and rights of Bailor. 

 J¨£øh¨£Á›ß Phø©PøÍ²®, E›ø©PøÍ²® 
ÂÁ›. 

19. How an agency is terminated? Explain. 

 •Pø© GÆÂu® •iÄ¨ ö£ÖQÓx? ÂÁ›. 

20. What are the stages in the performance of a 
contract of sale of goods by a seller? 

 J¸ ÂØ£øÚ¯õÍº, J¸ ö£õ¸øÍ ÂØ£øÚ 
ö\´ÁuØPõÚ J¨£¢u ö\¯ÀvÓÛß {ø»PÒ 
¯õøÁ? 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define the term of Banking. 
 Á[Q – ÁøμÂ»UPn® u¸P. 

2. What is ‘Lender of Last Resort’? 
 ‘CÖv Phß D÷Áõº’ GßÓõÀ GßÚ? 

3. What is PIN? 
 PIN GßÓõÀ GßÚ? 

4. What is a Credit Card? 
 Phß Amøh GßÓõÀ GßÚ? 

5. What is pay-in-slip? 
 ö\¾zxa^mk GßÓõÀ GßÚ? 

6. What is the purpose of KYC norms? 
 KYC Âv•øÓPÎß ÷|õUP® GßÚ? 

7. Define the term ‘Cheque’. 
 Põ÷\õø» GßÓ ö\õÀø» Áøμ¯Ö. 

 NOVEMBER/DECEMBER 2020
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8. What is a garnishee order? 
 PõºÛç Bºhº GßÓõÀ GßÚ? 

9. What are the “Term loans”? 
 ‘‘Põ» PhßPÒ’’ GßÓõÀ GßÚ? 

10. What is “collateral security”? 
 ‘‘Cøn DmkÖv’’ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) How does the RBI act as banker to 
government? 

  ›\ºÆ Á[Q Aμ\õ[PzvØS Á[Q¯õÍμõP 

GÆÁõÖ ö\¯À£kQÓx? 

Or 

 (b) Bring out the origin of banking in India. 

  C¢v¯õÂÀ Á[Q°ß ÷uõØÓzøu öPõnºP. 

12. (a) How does EFT system differ from traditional 
system of payment? 

  £õμ®£›¯ ö\¾zxuÀ •øÓ°¼¸¢x EFT 

•øÓ GÆÁõÖ ÷ÁÖ£kQÓx? 

Or 

 (b) What is a debit – card? What are its 
features? 

  £ØÖ Amøh GßÓõÀ GßÚ? Auß A®\[PÒ 

¯õøÁ? 
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13. (a) Describe the importance of CRM in banks. 
  Á[QPÎÀ CRM–ß •UQ¯zxÁzøu 

ÂÁ›UPÄ®. 

Or 

 (b) What are the features of Banking 
Ombudsman scheme? 

  Á[Q J®¦mì÷©ß vmhzvß A®\[PÒ 

¯õøÁ? 

14. (a) What are the various types of crossing the 
cheques? 

  £À÷ÁÖ ÁøP¯õÚ Põ÷\õø» RμÀPÒ ¯õøÁ? 

Or 

 (b) Explain the duties of paying banker. 

  £n® ö\¾zx® Á[Q¯õÍ›ß Phø©PøÍ 

ÂÍUSP. 

15. (a) Explain the different securities that are 
accepted by a banker while lending to 
customers. 

  ÁõiUøP¯õÍºPÐUS Phß ÁÇ[S® ÷£õx J¸ 

Á[Q¯õÍμõÀ HØÖU öPõÒÍ¨£k® öÁÆ÷ÁÖ 

Dmk BÁn[PÒ £ØÔ ÂÍUSP. 

Or 

 (b) State the points to be considered while 
advancing loans against jewellery. 

  |øP Phß ÁÇ[S®÷£õx P¸zvÀ öPõÒÍ 

÷Ási¯ A®\[PøU TÖP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various functions of Reserve Bank of 
India. 

 ›\ºÆ Á[Q°ß £À÷ÁÖ £oPøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 

17. Bring out the benefits of e-banking. 
 ªßÚq Á[Q°¯¼ß |ßø©PøÍ öÁÎUöPõnºP. 

18. Enumerate the different types of accounts opened 
in a commercial bank. 

 ÁoP Á[Q°À xÁUP¨£k® £À÷ÁÖ ÁøP¯õÚ 

PnUSPøÍ¨ £ØÔ TÖP. 

19. Explain the duties of collecting banker. 
 Á`À Á[Q¯õÍ›ß Phø©PøÍ ÂÍUSP. 

20. Discuss the various principles of bank lending. 
 Á[Q Phß ÁÇ[SÁuØPõÚ £À÷ÁÖ öPõÒøPPøÍ¨ 

£ØÔ ÂÁõvUPÄ®. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Is statistics a science or Art? Comment. 

 ¦ÒÎ°¯À J¸ AÔÂ¯»õ AÀ»x Pø»¯õ? P¸zx 

TÖP. 

2. State any four disadvantages of statistics. 

 ¦ÒÎ°¯¼ß |õßS SøÓ£õkPøÍ TÖP. 

3. Calculate the mean from the following data: 
Roll No. : 1 2 3 4 5 6 7 8 9 10

Marks : 80 100 110 156 116 120 146 70 86 96

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎÀ C¸¢x 

\μõ\›ø¯ PnUQkP. 

£vÄ Gs : 1 2 3 4 5 6 7 8 9 10

©v¨ö£sPÒ: 80 100 110 156 116 120 146 70 86 96

 NOVEMBER/DECEMBER 2020
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4. If the mode and the mean of a moderately 
asymmetrical series are 16 and 15.6 respectively. 
What would be its most probable median? 

 \©a^μØÓ öuõh›ß •Pk ©ØÖ® \μõ\› •øÓ÷¯ 16 

©ØÖ®  15.6. Cuß \›¯õP Gvº£õºUP Ti¯ 

Cøh{ø» GßÚ? 

5. What are the relative measures of variations? 

 J¨¥mk AÍøÁ ©õÖ£õkPÒ ¯õøÁ? 

6. Find the range of weight of 10 students from the 
following: 

 41   11   14   65   73   64   53    35   71   55 

 R÷Ç öPõkUP¨£mkÒÍ 10 ©õnÁºPÎß Ãa_ 

Gøhø¯ PõsP. 

 41   11   14   65   73   64   53    35   71   55 

7. What is the measures of the following moments : 

 (a) Third moment is called –––––––––– 

 (b) Fourth moment is called ––––––––––. 

 RÌUPshÁØÔß Â»UP ö£¸UP¼ß AÍÃkPÒ 

GßÚ? 

 (A) ‰ßÓõ® Â»UP¨ ö£¸USz öuõøP Gß£x  

–––––––––. 

 (B) |õßPõ® Â»UP¨ ö£¸USz öuõøP Gß£x  

–––––––––. 
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8. Write short note on skewness. 

 \©a^μØÓøÁ £ØÔ SÔ¨¦ ÁøμP. 

9. What are the types of control chart? 

 Pmk¨£õmk Áøμ£h[PÎß ÁøPPÒ ¯õøÁ? 

10. What is statistical quality control? 

 ¦ÒÎ°¯À uμU Pmk¨£õk GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Discuss the various methods of collection of 
primary data. 

  •ußø© ÂÁμ[PøÍ ÷\P›US® £À÷ÁÖ 

•øÓPøÍ ÂÁ›. 

Or 

 (b) Convert the following distribution into more 
than cumulative frequency and less than  
cumulative frequency and draw Ogive curve. 

Weekly wages : 0-20 20-40 40-60 60-80 80-100

No. of workers : 41 51 64 38 7 

  RÌUPsh £Qº©õÚ[PøÍ ÷©¼Ú ©ØÖ® RÈÚ 

ÁÍº Aø»öÁsnõP ©õØÔ KøPÆ 

ÁøÍÁøμPÒ ÁøμP. 

Áõμõ¢vμU T¼ : 0-20 20-40 40-60 60-80 80-100

÷Áø»¯õmPÎß  

GsoUøP : 41 51 64 38 7 
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12. (a) Calculate the average marks of the students 
from the following data : 

Marks : Below 10 Below 20 Below 30 Below 40

No of students : 15 35 60 84 

Marks : Below 50 Below 60 Below 70 Below 80

No of students : 96 127 198 250 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÎÀ C¸¢x 

©õnÁºPÎß \μõ\› ©v¨ö£søn PnUQkP. 

©v¨ö£s : 10 US RÌ 20 US RÌ 30 US RÌ 40 US RÌ

©õnÁºPÎß GsoUøP : 15 35 60 84 

©v¨ö£s : 50 US RÌ 60 US RÌ 70 US RÌ 80 US RÌ

©õnÁºPÎß GsoUøP : 96 127 198 250 

Or 

 (b) The following table gives you the distribution 
of marks secured by some students in an 
examination. 

Marks : 0-20 21-30 31-40 41-50

No of students  : 42 38 120 84 

Marks : 51-60 61-70 71-80  

No of students  : 48 36 31  

  Find median marks. 
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  ]» ©õnÁºPÒ ÷uºÂÀ ö£ØÓ ©v¨ö£sPÎß 

£mi¯À R÷Ç öPõkUP¨£mkÒÍx. 

©v¨ö£sPÒ : 0-20 21-30 31-40 41-50

©õnÁºPÎß GsoUøP : 42 38 120 84 

©v¨ö£sPÒ : 51-60 61-70 71-80  

©õnÁºPÎß GsoUøP : 48 36 31  

  Cøh{ø» ©v¨ö£s PõsP. 

13. (a) From the following table, find out first 
quartile, third quartile and first decile. 

Size of item : 0-10 10-20 20-30 30-40

f : 2 18 30 45 

Size of item : 40-50 50-60 60-70 70-80

f : 35 20 6 3 

  RÌUPsh AmhÁøn°¼¸¢x •uÀ 

PõÀ©õÚ®, ‰ßÓõ® PõÀ©õÚ® ©ØÖ® •uÀ 

£vß©õÚ® PõsP. 

AÍÄ : 0-10 10-20 20-30 30-40

f : 2 18 30 45 

AÍÄ : 40-50 50-60 60-70 70-80

f : 35 20 6 3 

Or 
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 (b)  Calculate inter quartile range from the data 
given below : 

Class : 0-10 10-20 20-30 30-40 40-50

Frequency : 4 15 28 16 7 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÎÀ C¸¢x 

CøhPõÀ©õÚ Ãaø\ PnUQkP. 

¤›Ä : 0-10 10-20 20-30 30-40 40-50

Aø»öÁs : 4 15 28 16 7 

14. (a) Given Q1 = 18; Q3 = 25; Mode = 21 and  
Mean = 18 

  Find the coefficient of skewness. 

  öPõkUP¨£mhx Q1 = 18; Q3 = 25; •Pk = 21 
©ØÖ® \μõ\› = 18 

   ÷PõmhU öPÊøÁ PõsP. 

Or 

 (b) Differentiate skewness and kurtosis. 

  ÷Põmh® ©ØÖ® umøh AÍÄ – ÷ÁÖ£kzxP. 

15. (a) Explain the procedures for the operation of 
quality control programme. 

  uμUPmk¨£õmk vmhzvß ö\¯À£õmk 

|øh•øÓPøÍ ÂÍUSP. 

Or 
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 (b) A daily sample of 30 items was taken over a 
period of 14 days in order to establish  
control limits. If 21 defectives were found, 
what should be the upper and lower control 
limit of the proportion of defectives? 

  Pmk¨£õmk Áøμø¯ HØ£kzu, vÚ•® 30 

©õv›PÒ 14 GkUP¨£mhx. SøÓ£õkPÒ 

EÒÍøÁPÒ 21 GÚ Psk¤iUP¨£mhõÀ 

SøÓ£õkPÒ ÂQuõa\õμ ÷©À ©ØÖ® RÌ 

Pmk¨£õmk Áøμ¯øμPÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Explain various characteristics of statistics. 
 ¦ÒÎ°¯¼ß £À÷ÁÖ C¯À¦PøÍ ÂÍUSP. 

17. Calculate mean and median of the following data: 
Profits per shop (Rs. In lakhs) : 0-10 10-20 20-30

No. of shops : 12 18 27 

Profits per shop (Rs. In lakhs) : 30-40 40-50 50-60

No. of shops : 20 17 6 

 RÌUPsh ÂÁμ[PÎÀ C¸¢x Tmka\μõ\› ©ØÖ® 

Cøh{ø» PõsP. 

J¸ Pøh°ß C»õ£® (¹. »m\zvÀ) : 0-10 10-20 20-30

PøhPÎß GsoUøP : 12 18 27 

J¸ Pøh°ß C»õ£® (¹. »m\zvÀ) : 30-40 40-50 50-60

PøhPÎß GsoUøP : 20 17 6 
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18. Goal scored by two team A and B in a football 
season were as follows : 

Number of goals  
scored in match  

No. of matches  
team A 

No of matches team B

0 27 17 

1 9 9 

2 8 6 

3 5 5 

4 4 3 

 By calculating the coefficient of variation in each 
case, find which team may be considered more 
consistent. 

 Cμsk AoPÒ A ©ØÖ® B PõÀ£¢uõmh öuõh›À 

ö£ØÓ ¦ÒÎPÒ R÷Ç öPõkUP¨£mkÒÍÚ. 

÷£õmi°À ö£ØÓ  

¦ÒÎPÎß  

GsoUøP  

÷£õmiPÒ  

GsoUøP Ao A 

 

÷£õmiPÒ 

GsoUøP Ao B

0 27 17 

1 9 9 

2 8 6 

3 5 5 

4 4 3 

 JÆöÁõßÔØS® ©õÖ£õmkU öPÊøÁ PnUQh 

Auß ‰»©õP  G¢u Ao ªPÄ® {ø»ußø©ø¯ 

Áõ´¢ux Gß£øu Psk¤i. 
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19. From the marks secured by 100 students  in 

section A and 100 students in section B of a class, 

the following measures are obtained. 

 Section A X = 55 and S.D = 15.4 

 Section B X = 53 and S.D = 15.4 

 Section A mode = 58.72 

 Section B mode = 48.83 

 Determine which distribution mark is more 

skewed. 

 ¤›Ä A Âß 100 ©õnÁºPÐ® ¤›Ä B ß 100 

©õnÁºPÐ® ö£ØÓ ©v¨ö£sPÎß Ai¨£øh°À 

RÌPsh AÍÃkPÒ ö£Ó¨£mhx. 

 ¤›Ä A \μõ\› 55 ©ØÖ® vmhÂ»UP® 15.4 

 ¤›Ä B \μõ\› 53 ©ØÖ® vmhÂ»UP® 15.4 

 ¤›Ä A ß •Pk 58.72 

 ¤›Ä B ß •Pk 48.83 

 G¢u £Qº©õÚzvß ©v¨ö£s AvP©õP 

\©^ÓØÓuõS® Gß£x wº©õÛUS®. 
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20. A drilling machine bores holes with a mean 
diameter of 0.523 cm. And a standard deviation of 
0.0032 cm. Calculate the 2-sigma and 3 –sigma 
upper and lower control limits for mean of samples 
4, and prepare a control chart. 

 xøÍ°k® C¯¢vμzvß xÁõμ xøÍ°ß \μõ\› 

Âmh AÍÄ 0.523 ö\.« ©ØÖ® vmhÂ»UP® 0.0032 

ö\.«. 2-sigma ©ØÖ® 3-sigma ÷©À©mh ©ØÖ® 

RÌ©mh Pmk¨£õmk \μõ\› ©õv› 4–US AÍøÁ 

PnUQmk Pmk¨£õmk Áøμ£h® ÁøμP. 

 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is cost accounting? 

 AhUPÂø» PnUQ¯À GßÓõÀ GßÚ? 

2. Define cost unit. 

 AhUP A»S Áøμ¯Ö. 

3. What do you mean by inventory control? 

 \μUQ¸¨¦ Pmk¨£õk Gß£uß ö£õ¸Ò GßÚ? 

4. What is scrap? 

 PÈ¨¦ GßÓõÀ GßÚ? 

5. State the meaning of EOQ. 

 EOQ Gß£uß ö£õ¸Ò TÖP. 

6. What is ABC analysis? 

 ABC £S¨£õ´Ä GßÓõÀ GßÚ? 

7. What is meant by idle time? 

 ÃnõÚ ÷|μ® GßÓõÀ GßÚ? 

 NOVEMBER/DECEMBER 2020
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8. Define Gantt task bonus scheme. 
 Gantt task ÷£õÚì vmhzøu Áøμ¯Ö. 

9. Define overhead. 
 ÷©Øö\»øÁ Áøμ¯Ö. 

10. State the meaning of variable overheads. 
 ©õÖ£k® ÷©Øö\»ÄPÒ Gß£uß ö£õ¸Ò TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the scope of cost accounting. 

  AhUPÂø» PnUQ¯¼ß GÀø»°øÚ 

_¸UP©õP ÂÍUSP. 

Or 

 (b) What are the advantages of cost sheet? 

  AhUPÂø» AÔUøP°ß |ßø©PÒ ¯õøÁ? 

12. (a) Annual demand 2000 bags 
  Order cost per order Rs.1,200 
  Annual carrying cost per bag Rs.480 
  Compute EOQ from the above data. 
  Bsk ÷uøÁ = 2000 ø£PÒ 

   J¸ Bøn°ß AhUPa ö\»Ä = ¹.1200 

   J¸ ø£US HØ£k® Bsk HØÖøPaö\»Ä = 
¹.480   

   ÷©ØSÔ¨¤mh uPÁÀPøÍ øÁzx ]UPÚ 

Bøn öPõÒ•uÀ AÍÂøÚU PnUQkP. 

Or 
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 (b) Distinguish between bin card and store 
ledge. 

  \μUS Amøh°øÚ \μUS ÷£÷μmi¼¸¢x 

÷ÁÖ£kzxP. 

13. (a) A worker is paid 25 paise per hour for 
completing a work within 8 hours. If he 
completes the same within 6 hours, calculate 
wages under Halsey plan and the rate of 
premium is 50%. Ascertain the effective 
hourly rate of earning by the worker. 

  J¸ ÷Áø»ø¯ 8 ©o ÷|μzvÀ •izuõÀ 0.25 

ø£\õ T¼ öPõkUP¨£kQßÓx. J¸ ÷Áø»ø¯ 

6 ©o ÷|μzvÀ •izuõÀ AÁÝUS 

QøhUPTi¯ T¼ø¯ íõÀ÷\ ¨Íõß ‰»® 

PnUQhÄ® ©v¨¦ Fv¯® 50%. 
Or 

 (b) Write short notes on ‘‘Time booking’’ and 
‘‘Job card’’. 

  ÷|μ® £vÄ ©ØÖ® ÷Áø» Amøh ]Ö SÔ¨¦ 

ÁøμP. 

14. (a) Explain the term under absorption. State 
any four causes. 

  ÷©Øö\»Ä «m¦ GßÓõÀ GßÚ? H÷uÝ® |õßS 

Põμn[PÒ SÔ¨¤kP. 

Or 

 (b) What do you meant by overheads? How is it 
classified? 

  ÷©Øö\»ÄPÒ GßÓõÀ GßÚ? AøÁ GÆÁõÖ 

ÁøP¨£kzu¨£kQßÓÚ? 
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15. (a) What is machine hour rate? State its merits 
and demerits. 

  G¢vμ ©o ÂQu® GßÓõÀ GßÚ? Auß |ßø© 

wø©PøÍ ÂÍUSP. 

Or 

 (b) Calculate machine hour rate to cover the 
overhead expenses indicated below: 

  (i) Electric power  – 75 paise per hour 

  (ii) Steam   – 10 paise per hour 

  (iii) Water   – 2 paise per hour 

  (iv) Repairs   – Rs. 530 per  year 

  (v) Rent  – Rs. 270 per year 

  (vi) Running hours  – 2000 hours per year 

   Original cost of the machine is Rs. 12,500 

   Depreciation rate is 7.5% per year. 
  (i) ªß\Uv   –  ©oUS 75 Põ_PÒ 
  (ii) }μõÂ   –  ©oUS 10 Põ_PÒ 
  (iii) }º   –  ©oUS 2 Põ_PÒ 
  (iv) £Êx£õº¨¦  –  ¹.530 Á¸hzvØS 
  (v) ÁõhøP  –  ¹. 270 Á¸hzvØS 
  (vi) Jmh ÷|μ®    – 2000 ©o ÷|μ®  

       Á¸hzvØS 

  C¯¢vμzvß A\À öuõøP ¹.12,500 

   ÷u´©õÚ® ÂQu® 7.5% J¸ Á¸hzvØS. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different between cost accounting and 
financial accounting. 

 {v{ø»U PnUQ¯¼ØS®, AhUPÂø» 

PnUQ¯¼ØS® EÒÍ ÷ÁÖ£õkPøÍ ÂÍUSP. 

17. Prepare stores ledger entries by using LIFO 
method of pricing issues method. 

April    Rs.

1 Bal. in hand 300 units 600

2 Purchased 200 units 440

4 Issued 150 units –

6 Purchased 200 units 460

11 Issued 150 units –

19 Issued 200 units –

22 Purchased 200 units 480

27 Issued 250 units –

 CÖv°À Á¢ux •u¼À PÈuÀ •øÓø¯U öPõsk 

£shP¨ ÷£÷μk u¯õº ö\´¯Ä®. 

H¨μÀ    ¹.

1 \μUS øP°¸¨¦ 300 A»SPÒ 600

2 öPõÒ•uÀ 200 A»SPÒ 440

4 öPõkzux 150 A»SPÒ –

6 öPõÒ•uÀ 200 A»SPÒ 460

11 öPõkzux 150 A»SPÒ –
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19 öPõkzux 200 A»SPÒ –

22 öPõÒ•uÀ 200 A»SPÒ 480

27 öPõÒ•uÀ 250 A»SPÒ –

18. From the following data, calculate the labour 
turnover rate by applying. 

 (a) separation method 
 (b) replacement method and 
 (c) flux method. 

 No.of workers at the beginning of the month =900 
No.of workers at the end of the month =1100 
during the month 10 workers left, 40 workers were 
discharged and 150 workers were recruited. If the 
25 workers  are recruited in the vacancies of those 
leaving, while the rest were engaged for an 
expansion scheme. 

 ¤ßÁ¸® ÂÁμ[PøÍU öPõsk RÌUPsh 

•øÓPÎÀ EøÇ¨¦ ©õØÖ ÃuzvøÚU PnUQkP. 

 (A) uÛ¨£kzuÀ •øÓ 

 (B) ©Ö A©ºzwmk •øÓ ©ØÖ® 

 (C) L¤ÍUì •øÓ 

 ©õuz öuõhUPzvÀ £o¯õÍºPÎß GsoUøP = 900 

©õu CÖv°À £o¯õÍºPÎß GsoUøP = 1100 

|h¨¦ ©õuzvÀ 10 £o¯õÍºPÒ öÁÎ÷¯ÔÚº 40  
£o¯õÍºPÒ v¸¨¤ AÝ¨£¨£mhÚº. 150 

£o¯õÍºPÒ ÷uºÄ ö\´¯¨£mhÚº. 

öÁÎ÷¯Ô¯ÁºPÒ ChzvØS 25 ÷£øμ ÷uºÄ 

ö\´uõÀ, Cuμ¨ £o¯õÍºPÒ Â›ÁõUPz vmhzvØS 

£¯ß£kzu¨£kÁõºPÒ. 
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19. A worker takes 80 hours to do a job for which the 
time allowed is 100 hours. His daily rate is Rs.2,50 
per hour. Calculate the earnings of worker under 
the following methods of payment of wages. 

 (a) Time rate 

 (b) Piece rate 

 (c) Halsey  plan and 

 (d) Rowan plan. 

 ÷|μ® Ãu®, ÷Áø» Ãu®, íõÀ÷\ vmh® ©ØÖ® 

÷μõÁß vmh ‰»® T¼ø¯U PnUQhÄ®. 

 J¸ ÷Áø»¯õÒ 80 ©o ÷|μzvÀ J¸ ÷Áø»ø¯a 

ö\´x •iUQßÓõº. AuØS öPõkUP¨£mh ÷|μ® 100 

©oPÒ vÚUT¼¯õP J¸ ©o ÷|μzvß T¼ Ãu® 

¹.2.50. 

20. A company has three production departments and 
two service departments. The following details are 
submitted. 

Particulars Production Dept. Service Dept 

 A B C X Y 

Primary overhead 15,620 25,086 9,094 8,000 5,200

 The expenses of the service department X and Y 
are to be allocated as follows : 

Particulars A B C X Y 

Dept. X 30% 40% 20% – 10%

Dep. Y 10% 20% 50% 20% – 
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 Estimated working hours of production 
department are as follows : 

 Department A –1000 hours 
 Department B –2500 hours 
 Department C –1400 hours 

 Calculate overhead rate per hour under repeated 
distribution method. 

 J¸ öuõÈØ\õø» A, B, C GßÓ ‰ßÖ EØ£zv 

xøÓPÐ® X, Y GßÓ ÷\øÁz xøÓPÐ® EÒÍÚ. 

¤ßÁ¸® ÂÁμ[PÒ \©º¤UP¨£mkÒÍx. 

ÂÁμ® EØ£zv xøÓPÒ ÷\øÁzxøÓPÒ

 A B C X Y 
•ußø© ö\»ÄPÒ 15,620 25,086 9,094 8,000 5,200 

 ÷\øÁz xøÓPÎß ÷©Øö\»ÄPÒ ¤ßÁ¸©õÖ 

¤›zuÎUP¨£kQÓx.  
ÂÁμ® A B C X Y 

xøÓ X ö\»ÄPÒ 30% 40% 20% – 10%

xøÓ Y ö\»ÄPÒ 10% 20% 50% 20% – 

 ÷uõμõ¯©õÚ EØ£zvUPõÚ ÷Áø» ÷|μ[PÒ xøÓ 

Áõ›¯õP RÌPsh£i EÒÍx. 

 xøÓ A –1000 ©oPÒ 

 xøÓ B –2500 ©oPÒ 

 xøÓ C –1400 ©oPÒ 

 A, B ©ØÖ® C–°ß ö©õzu ÷©Øö\»ÄPÒ «sk® 

£Qº¢uÎ¨¦ •øÓ°À PshÔP. 
—————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is a statutory  audit? 

 \mh•øÓ uoUøP GßÓõÀ GßÚ? 

2. Write a note on social audit. 

 \‰P uoUøP £ØÔ ]Ö SÔ¨¦ u¸P. 

3. What is an audit note book? 

 uoUøP ¦zuP® GßÓõÀ GßÚ? 

4. Define internal control. 

 APU Pmk¨£õk C»UPn® u¸P. 

5. Define vouching. 

 Buõμa ^mk uoUøP Áøμ¯Ö. 

6. Name the various ledgers that come under the 
secreting of the auditor. 

 uoUøP¯õÍ›ß B´ÄUS Em£mh £À÷ÁÖ 

÷£÷μkPøÍ SÔ¨¤k. 

 NOVEMBER/DECEMBER 2020

BCM52/BECP55B/BFA52/UCM52/UFA52/ 
UECP63C — PRACTICAL AUDITING 
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7. How will you verify the fictitious assets? 

 PØ£øÚa ö\õzxUPøÍ GÆÁõÖ \›£õº¨£õ´? 

8. Mention the classification of assets. 

 ö\õzxUPÎß ÁøPPøÍ öu›Â. 

9. Who can fix the remuneration of first auditor? 

 •uÀ uoUøP¯õÍ›ß Fv¯zvøÚ wº©õÛ¨£x 

¯õº? 

10. State a few names of documents that an auditor 
studies before commencing audit. 

 uoUøP öuõh[S® •ß uoUøP¯õÍº £õºUP 

÷Ási¯ BÁn[PøÍ TÖ. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the scope of auditing. 

  uoUøP°¼ß GÀø»ø¯ ÂÁ›. 

Or 

 (b) What are the features of marketing audit? 

  \¢øu uoUøP°¯¼ß A®\[PÒ GßÚ? 

12. (a) What are the objectives of audit programme? 

  uoUøP {μ¼À ÷|õUP® GßÚ? 

Or 



 1282 3

 (b) Explain the objectives of internal audit. 

  AP uoUøP°ß ÷|õUP[PøÍ ÂÁ›. 

13. (a) What are the importance of vouching? 

  Buõμ ^mk uoUøP°ß •UQ¯zxÁ® GßÚ? 

Or 

 (b) How would you vouch a sales book? 

  ÂØ£øÚ Hmøh GÆÁõÖ Buõμ^mk uoUøP 

ö\´Áõ´? 

14. (a) Discuss the objectives of verification. 

  \›£õºzu¼ß ÷|õUP[PøÍ ÂÁõv. 

Or 

 (b) As an auditor of a company, how would you 
verify propared dividend? 

  J¸ {ÖÁÚ uoUøP¯õÍμõP 

•ßö©õÈ¯¨£mh £[Põuõ¯zøu GÆÁõÖ 

\›£õº¨£õ´. 

15. (a) Write the duties of a company auditor. 

  {Ö©z uoUøP¯õÍ›ß Phø©PøÍ GÊxP. 

Or 

 (b) What are statutory liabilities and explain it. 

  J¸ uoUøP¯õÍ›ß \mh•øÓ ö£õÖ¨¦PÒ 

GßÓõÀ GßÚ? AuøÚ ÂÁ›. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the objectives of audit. 

 uoUøP°ß SÔU÷PõÒPøÍ ÂÁ›. 

17. Discuss the contents of audit note book. 

 uoUøP ¦zuPzvß \μzxUPøÍ ÂÁõv. 

18. Explain the points to be considered while vouching 
credit purchases. 

 Phß öPõÒ•uø» uoUøP ö\´²® ÷£õx PÁÛUP 

÷Ási¯øÁPøÍ ÂÍUSP. 

19. Discuss the steps to be taken for verification and 
valuation of investments. 

 •u½møh \›£õºUS® ÷£õx®, ©v¨¤k®, ÷£õx® 

GkUP ÷Ási¯ £i{ø»PøÍ ÂÁõv. 

20. What are the rights of auditor? 

 uoUøP¯õÍ›ß E›ø©PÒ GßÚ? 

 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Who is liable to pay Income Tax? 

 ¯õº Á›¨ö£õÖ¨¤ØS EÒÍõÁº? 

2. What do you mean by Diversion of Income? 

 Á¸©õÚzøu vø\ v¸¨¦uÀ GßÓõÀ GßÚ? 

3. Mention any two exempted allowances. 

 H÷uÝ® Cμsk Á›Â»US¨ ö£ØÓ £iPøÍU 

SÔ¨¤kP. 

4. Mr.X, resides in Chennai, gets Rs.3,00,000 p.a as 
basic salary, D.A forming part of salary for service 
benefits Rs.40,000 and 2% commission on turnover 
achieved by him. (Turnover achieved by him 
during the relevant period is Rs.3,00,000). He 
receives Rs.60,000 as H.R.A. though he pays a 
rent of Rs.80,000 p.a. Determine the Taxable HRA 
from the above case. 

 NOVEMBER/DECEMBER 2020

BCM54 — INCOME TAX LAW AND 
PRACTICE I 
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 ö\ßøÚ°À Á]US® v¸. X Gß£Áº BskUS 

¹.3,00,000 Ai¨£øha \®£Í©õPÄ®, ÷\øÁ¨ 

£¯ßP÷Íõk öuõhº¦øh¯ TkuÀ APÂø»¨£i 

¹.40,000 ©ØÖ® ÂØ£øÚ°ß «x 2% PÈÄ® 

ö£ÖQÓõº. (öuõhº¦øh¯ BsiÀ AÁº ö\´u 

ÂØ£øÚ ¹.3,00,000) AÁº ¹.60,000 Ãmk 

ÁõhøP¨ £i¯õP¨ ö£ÖQÓõº. BÚõÀ AÁº 

ö\¾zx® ÁõhøP BskUS ¹.80,000 . ÷©÷» 

öPõkUP¨£mkÒÍ uPÁÀPÎß£i Á› 

Âv¨¤ØSm£mh Ãmk ÁõhøP £i PnUQkP. 

5. Define the term “Standard Rent". 
 {ø»¯õÚ ÁõhøP Áøμ¯Ö. 

6. Find out the gross annual value from the following  
Particulars  Rs. 

Municipal Valuation 1,80,000

Fair rent 1,90,000

Standard Rent NA

Actual Rent 1,40,000

Let out period 8 months

Self-occupied period 4 months

  RÌPshÁØÔ¼¸¢x ö©õzu Bsk ©v¨¤øÚU 

Psk¤iUPÄ®. 

Â£μ[PÒ  ¹. 

|Pμõm] ©v¨¦ 1,80,000

©õv› Ãmk ÁõhøP 1,90,000

{ø»¯õÚ ÁõhøP NA

Esø©¯õÚ ÁõhøP 1,40,000

ÁõhøP Põ»® 8 months

ö\õ¢u E£÷¯õPzvØS £¯ß£kzv¯ Põ»® 4 months
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7. Define the term business 

 öuõÈÀ Áøμ¯Ö. 

8. From the following information, compute the 
amount of depreciation allowable for the  
AY 2019-20. 

Particulars  Rs. 

WDV on furniture 1-4-18 1,10,000

Furniture purchased on 10th June 2018 15,000

Furniture purchased on 18th January 2019 20,000

Part of furniture sold in February 2019 3,000

Rate of Depreciation 10% 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x 2019–20 

ØPõÚ AÝ©vUPUTi¯ ÷u´©õÚz öuõøPø¯U 

Psk¤iUPÄ®. 

Â£μ[PÒ  ¹. 

1-4-18 AßÖ AøÓP»Ûß SøÓ¢xö\À 

C¸¨¦ ©v¨¦ 1,10,000

áúß 10, 2018 AßÖ AøÓP»ß öPõÒ•uÀ 

ö\´ux 15,000

áÚÁ› 18, 2019 AßÖ AøÓP»ß öPõÒ•uÀ 

ö\´ux 20,000

¤¨μÁ› 2019 AßÖ £Sv AøÓP»ß ÂØÓx 3,000

÷u´©õÚ ÂQu® 10% 
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9. State any two objectives of conducting income tax 
survey. 

 Á¸©õÚ Á›a÷\õuøÚ ÷©ØöPõÒÁuß ÷|õUP[PÒ 

CμsiøÚU SÔ¨¤kP. 

10. Write short note on CBDT. 
 CBDT £ØÔ ]Ö SÔ¨¦ ÁøμP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain any five Canons of Taxation.  
  Á›Âv¨¤ß öPõÒøPPÎÀ H÷uÝ® I¢vøÚ 

ÂÍUSP. 

Or 

 (b) How would you determine the residential 
status of an Individual? 

  uÛ|£¸UPõÚ Si²›ø©z ußø©ø¯ GÆÁõÖ 

Psk¤i¨£õ´? 

12. (a) Compute taxable part of annual salary from 
information given below:  

Particulars  Rs. 

Net Salary received 72,000

Income tax deducted at source 4,000

Professional tax deducted at source  1,200

Group insurance: Premium deducted by the employer 1,200

Rent of house deducted out of salary 3,600

LIC premium paid by employee 6,000



 1284 5

  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x 

Á›Âv¨¤ØS›¯ Bska \®£ÍzvøÚU 

Psk¤iUPÄ®. 

Â£μ[PÒ  ¹. 

{Pμa \®£Í® ö£ØÓx 72,000

Á¸©õÚ Á›¨¤izx® ö\´ux 4,000

öuõÈÀ Á›¨¤izu® ö\´ux 1,200

SÊU Põ¨¥miØPõP •u»õÎ ¤izu •øÚ©zöuõøP 1,200

Ãmk ÁõhøPUPõP \®£ÍzvÀ ¤izu® ö\´ux 3,600

öuõÈ»õÎ ö\¾zv¯ B²Ò Põ¨¥mk •øÚ©® 6,000

Or 

 (b) Examine the Tax treatment of the following 
allowances received by Mr.Kasi Employed in 
a Private Company.  

Sl.No.  Particulars Rs. 

1 City Compensatory allowance  5,000 p.m

2 Tiffin allowance 300 p.m

3 Servant allowance 1,200 p.m

4 Entertainment allowance 9,000 p.m

5 Uniform allowance 600 (Fully Spent)

6 Tribal area allowance 300 p.m

7 Marriage allowance 300 p.m

8 Overtime allowance 150 p.m

9 Helper allowance 80 p.m (50% is spent)

10 Project allowance 100 p.m
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   uÛ¯õº {ÖÁÚzvÀ £o¦›²® v¸. Põ] 

AÁºPÒ ö£ØÓ £iPÐUPõÚ Á›zwºøÁPøÍ 

B´Ä ö\´P. 

Sl.No.  Â£μ[PÒ ¹. 

1 |Pμ \›UPmkuÀ £iPÒ 5,000 p.m

2 ]ØÖsi¨ £iPÒ 300 p.m

3 ÷Áø»¯õmPÒ £iPÒ 1,200 p.m

4 ö£õÊx÷£õUS¨ £i 9,000 p.m

5 ^¸øh¨ £iPÒ 600 (Fully Spent)

6 £Ç[Si £Sv¨ £iPÒ 300 p.m

7 v¸©n¨ £iPÒ 300 p.m

8 TkuÀ ÷Áø»÷|μ¨ £iPÒ 150 p.m

9 EuÂ¯õÒ £iPÒ 80 p.m (50% is spent)

10 vmh¨£iPÒ 100 p.m

13. (a) Find the Gross annual value in the following 
situations for the assessment year.  

     (Rs. In Thousands)  
 Particulars Names of House Owners 

 Ajay Vijay Vinay Raju Ramu Hari

Municipal Value 21 22 35 41 50 44 

Fair Rental Value 22 20 39 43 45 55 

Standard Rent NA 23 49 40 NA 47 

Actual/Annual Rent 17 28 47 42 60 41 
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  R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x Á› 

Âv¨£õsiØS E›¯ ö©õzu Bsk 

©v¨¤øÚU Psk¤iUPÄ®. (¹£õ´ 

B°μzvÀ) 

 Â£μ[PÒ Ãmk E›ø©¯õÍ›ß ö£¯ºPÒ 

 Aá´ Âá´ ÂÚ´ μõã μõ• í›

|Pμõm] ©v¨¦ 21 22 35 41 50 44

©õv› Ãmiß ©v¨¦ 22 20 39 43 45 55

{ø»¯õÚ ÁõhøP NA 23 49 40 NA 47

Esø©¯õÚ/Bsk ÁõhøP 17 28 47 42 60 41

Or 

 (b) Enumerate the incomes from House Property 
which are wholly exempt from tax. 

  Á›US›¯ Ãmk Á¸©õÚzv¼¸¢x •ÊÁx® 

Â»US¨ ö£ØÓ Ãmk Á¸©õÚ[PøÍ ÂÁ›. 

14. (a) The Net profit of Mr. Sulaiman of Madurai 
as per his Profit and Loss Account are for the 
year ended 31.3.2019 after charging the 
following item was Rs.3,40,000: 

 Particulars Rs. 

(i) Interest on capital 20,000

(ii) Salary to staff 1,16,000

(iii) Office expenses 3,000

(iv) Bad debts written-off 13,000

(v) Provisions for income-tax 16,000



 1284 8

 Particulars Rs. 

(vi) Donation 10,000

(vii) Depreciation 17,000

  Depreciations allowable as per the Act is 
only  Rs.12,000. 

  Compute income from business. 

  ©xøμ°À C¸US® v¸. _ø»©õß AÁºPÎß 

31.3.2019 |õ÷Íõk •iÁøh²® BsiØPõÚ 

C»õ£® ¹.3,40,000 RÌUPõq® 

\›UPmku¾US¨ ¤ÓS ö£Ó¨£mhx. 

 Â£μ[PÒ ¹. 

(i) •uÀ «x Ámi 20,000

(ii) A¾Á»ºPÐUPõÚ \®£Í® 1,16,000

(iii) A¾Á»Pa ö\»ÄPÒ 3,000

(iv) ÁμõUPhß ÷£õUöPÊv¯x 13,000

(v) Á¸©õÚ Á›UPõÚ Põ¨¦ JxUS 16,000

(vi) |ßöPõøh 10,000

(vii) ÷u´©õÚ® 17,000

  \mh¨£i AÝ©vUP¨£mh ÷u´©õÚ® 

¹.12,000 ©mk® öuõÈÀ Á¸©õÚzøuU 

Psk¤iUPÄ®. 

Or 
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 (b) Mr. Krishna has the following machines in 
his production department. Compute 
depreciation: 
(i)  Machines as on 1.4.2016: Rs. 

 (1) Machine A 50,000

 (2) Machine B 50,000

 (3) Machine C 10,000

 (4) Machine D 25,000

(ii) Machine X purchased on 1.5.2017 25,000

(iii) Machine Y purchased on 1.12.2017 50,000

(iv) Machine sold: 

 (1) Machine A and B on 1.6.2017 50,000

 (2) Machine C and D on 1.11.2017  59,750

(v) Special training expenses for Machine Y 5,000

  v¸. Q¸èn ußÝøh¯ EØ£zv xøÓ°À 

RÌUPõq® C¯¢vμ[PøÍ øÁzv¸zuõº. 

÷u´©õÚzøu PnUQkP. 

(i)  1.4.2016 À EÒÍ C¯¢vμ[PÒ ¹. 

 (1) C¯¢vμ® A 50,000

 (2) C¯¢vμ®B 50,000

 (3) C¯¢vμ®C 10,000

 (4) C¯¢vμ®D 25,000

(ii) 1.5.2017 À C¯¢vμ® X öPõÒ•uÀ ö\´ux 25,000
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(iii) 1.12.2017 À C¯¢vμ® Y öPõÒ•uÀ ö\´ux 50,000

(iv) C¯¢vμ® ÂØ£øÚ ö\´ux : 

 (1) C¯¢vμ® A ©ØÖ® B on 1.6.2017 50,000

 (2) C¯¢vμ® C ©ØÖ® D on 1.11.2017  59,750

(v) C¯¢vμ® YUPõÚ ]Ó¨¦ £°Øa] ö\»ÄPÒ 5,000

15. (a) List out the powers of commissioner 
(Appeals). 

  ÷©À•øÓ±mk Bøn¯›ß AvPõμ[PøÍ¨ 

£mi¯¼kP. 

Or 

 (b) What are the Objectives of conducting 
Income Tax survey? 

  Á¸©õÚ Á›a÷\õuøÚ ÷©ØöPõÒÁuß 

÷|õUP[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Sunil earns the following income during the 
previous year 2018-19. 

 Particulars Rs. 

(a) Interest from an Indian Company received in Germany 1,00,000

(b) Pension from former employer in India received in UK 2,00,000

(c) Profits made from a business in Hong kong  
which is Controlled from India (half of the  
profit being received in India 20,000
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 Particulars Rs. 

(d) Income from companies in USA and received in India 1,00,000

(e) Income from Agriculture in USA and received in India 10,000

(f) Income form employment in Japan received there 20,000

(g) Past untaxed profits brought to India 50,000

 Compute Gross Total Income Sunil for the 
Assessment year 2019-20, if he is: 

 (i) Resident and Ordinarily Resident in India 
 (ii) Resident but not Ordinarily Resident in 

India 
 (iii) Non Resident in India. 

 _ÛÀ Gß£Áº 2018–19 ® ¡ØÓõsiÀ ö£ØÓ 

Á¸©õÚ Â£μ® ¤ßÁ¸©õÖ : 

 Â£μ[PÒ ¹. 

(A) C¢v¯ {Ö©zvß Ámi öáº©Û°À ö£ØÓx 1,00,000

(B) •ßÚõÀ C¢v¯ •u»õÎ°hª¸¢x 

K´Åv¯® UK °À ö£Ó¨£mhx 2,00,000

(C) íõ[Põ[QÀ |øhö£Ö® öuõÈÀ C¢v¯õÂÀ  

C¸¢x Pmk¨£kzu£kQÓx AÁØÔÀ  

Dmi¯ C»õ£® (£Sv  

C»õ£® C¢v¯õÂÀ ö£Ó¨£mhx) 20,000

(D) USA ÂÀ EÒÍ{Ö© Á¸Áõ´  

C¢v¯õÂÀ ö£Ó¨£mhx 1,00,000

(E) USA ÂÀ EÒÍ ÂÁ\õ¯ Á¸©õÚ®  

C¢v¯õÂÀ ö£Ó¨£mhx 10,000

(F) á¨£õÛÀ ö\´u ÷Áø»UPõÚ Á¸©õÚ®  

A[÷P÷¯ ö£Ó¨£mhx 20,000
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(G) Á› ÂvUP¨£hõu •¢øu¯ C»õ£® 

C¢v¯õÂØS  

öPõsk Áμ¨£mhx 50,000

 Á›Âv¨£õsk 2019–20® BsiØPõÚ _Û¼ß 

ö©õzu Á¸©õÚzøuU PnUQhÄ®. 

 (i) C¢v¯õÂÀ {μ¢uμU Si²›ø© ö£ØÓÁº 

 (ii) C¢v¯õÂÀ uØPõ¼P Si²›ø© ö£ØÓÁº 

 (iii) C¢v¯õÂÀ Si²›ø© ö£ÓõuÁº. 

17. Kumaran a lawyer by profession keeps his cash 
book as per cash system of accounting. The 
following is the summary of his cash book for the 
year ended 31st March 2019. 

Receipts Rs. Payments Rs. 

To Balance 5,000 By Rent of Chamber 2,400

To Fees 35,000 By Car expenses 3,600

To Remuneration as   By Household expenses 12,000

examiner 3,000 By Local taxes for the  

To Interest on bank   house 1,200

deposits 2,500 By Repairs of the house 4,000

To Rent from house  By LIC premium for self 4,800

property 8,000 By Cost of books for  

To Dividends 1,600 profession 4,000

  By Medical treatment of 

  self 5,000

  By Balance 18,100

 55,100  55,100
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 Additional information: 
 (a) 1/3 of the house is used by Kumaran for his 

own residence. 
 (b) Kumaran is insured for Rs.40,000 
 (c) Kumaran has to get medical treatment for 

an eye ailment caused by intensive study of 
law books. 

 (d) ½ of the car expenses related to personal use 
of the car by Kumaran. Depreciation 
computed at the prescribed rate on the 
written down value of the car is Rs.2,000. 

 Compute his income from profession. 

 ÁURÀ S©μß ußÝøh¯ öuõÈ¾US›¯, HkPøÍ 

öμõUPU PnUQ¯À •øÓ°À £μõ©›UQÓõº, ©õºa 31, 
2019® |õ÷Íõk •iÁøh²® BsiØPõÚ öμõUP 

Gmiß öuõS¨¦ ¤ßÁ¸©õÖ. 

ö£ÖuÀPÒ ¹. ö\¾zxÀPÒ ¹. 

öuõhUP C¸UP 5,000 ÷\®£º ÁõhøP 2,400

Pmhn® 35,000 Põº ö\»ÄPÒ 3,600

B´ÁõÍº Fv¯® 3,000 Ãmka ö\»ÄPÒ 12,000

Á[Q øÁ¨¦ ÁmiPÒ 2,500 ÃmiØPõÚ EÒÑº Á› 1,200

Ãmk ÁõhøP  8,000 Ãk £Êx£õºzuÀ 4,000

£[Põuõ¯[PÒ 1,600 uÚUS›¯ B²Ò Põ¨¥mk •øÚ©® 4,800

  öuõÈÀ ¦zuPzvØPõÚ AhUP® 4,000

  ©¸zxÁa ö\»ÄPÒ 5,000

  CÖv C¸¨¦ 18,100

 55,100  55,100
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 TkuÀ uPÁÀPÒ : 

 (A) ‰ßÔÀ J¸ £[S Ãmiß S©μß uß ö\õ¢u 

E£÷¯õPzvØPõP¨ £¯ß£kzvÚõº.  
 (B) S©μß ¹.40,000 zvØS Põ¨¥k ö\´x C¸¢uõº. 
 (C) \mh¨ ¦zuP[PøÍ Tº¢x £izuuÚõÀ HØ£mh 

Ps Á¼UPõP S©μß ©¸zxÁa ]Qaø\ 

÷©ØöPõshõº. 
 (D) £õv Põº ö\»ÄPÒ S©μß ußÝøh¯ ö\õ¢u 

E£÷¯õPzvØS £¯ß£kzv¯ø©UPõÚx. 

SøÓ¢x ö\À C¸¨¦ •øÓ°À PnURk ö\´u 

÷u´©õÚ® ¹.2,000. 
  AÁ¸øh¯ öuõÈÀ Á¸©õÚzøuU 

PnUQhÄ®. 

18. Sri Rajeev furnished the following particulars of 
his income for the Financial Year 2018-19: 

Particulars Rs. 

(a) Salary 15,000 p.m

(b) Dearness allowance 1,250 p.m

(c) Entertainment allowance 1,000 p.m

(d) Employer’s and employee’s contribution 

 to a recognized provident fund each. 24,000

(e) Interest from provident fund @ 9.5% p.a. 19,000

(f) City Compensatory allowance 200 p.m

(g) Medical allowance 10,000

(h) He has been provided with the facility of  

 An unfurnished house by the employer in  

 A town (population less than 10 lakh) for  

 Which the employer charges Rs.500 p.m. 

 The fair rent of the house is Rs.30,000 per 
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Particulars Rs. 
annum. 

 The house is owned by the employer. 

(i) The employer has employed for him a sweeper 

 @ Rs.200 p.m., and a servant @ Rs.750 p.m.  

 Compute the taxable income under the head 

 Salary  for the Assessment Year 2019-20. 

 v¸. μõáúÆ {v Bsk 2018–19 ØS E›¯ ußÝøh¯ 

RÌUPõq® Á¸©õÚ Â£μ[PøÍz u¸QÓõº. 

Â£μ[PÒ 
¹. 

(A) \®£Í® 15,000 p.m

(B) TkuÀ APÂø»¨£i 1,250 p.m

(C) ö£õÊx ÷£õUS¨£i 1,000 p.m

(D) •u»õÎ ©ØÖ® öuõÈ»õÎ°ß 

 A[RP›UP¨£mh ÷\©|» {vUPõÚ £[PÎ¨¦ 24,000

(E) ÷\©|» {v°¼¸¢x Qøhzu Ámi  

BskUS 9.5% 
19,000

(F) |Pμ v¯õP¨ £i 200 p.m

(G) ©¸zxÁ¨ £i 10,000

(H) 
AÁ¸US •u»õÎ AøÓP»ÚØÓ Ãk JßøÓ 

¹.500 ÁõhøP¯À AÎzuõº (10 

»m\zvØS®) SøÓÁõÚ ©UPÒ öuõøP EÒÍ 

hÄß). ©õv› Ãmk ÁõhøP BskUS 

¹.30,000.  

(I) 
A¢u Ãk •u»õÎUSa ö\õ¢u©õÚx. 

AÁ¸UPõP •u»õÎ Ãk Tmk£Áøμ ©õua 

\®£Í® ¹.200 Ãu•® J¸ £o¯õÍøμ ©õua 

\®£Í® ¹.750 Ãu•® {¯©Ú® ö\´uõº. 

 Á›Âv¨£õsk 2019–20–ØPõn \®£Í 

Á¸©õÚzøuU PnUQhÄ®. 
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19. Mr. Joseph owns a house which is let out for 
residential purposes. The construction of the 
house was completed in June 2015. The Annual 
letting value of the house is Rs.96,000. Municipal 
Taxes paid Rs.20,000. He spent Rs.24,000 on 
White washing. On 1.4.2013 he had borrowed 
Rs.30,000 on pro-note at 12% interest and spent it 
on the construction of the house. Nothing has been 
repaid out of this loan so far. Mr. Joseph earns 
salary off Rs.20,000 per month. He has a scooter 
for going to office and spends for petrol, etc., on an 
average Rs.1,000 per month. Compute his Income 
from House property and his Total income for the 
A.Y 2019-20.  

 v¸. ÷áõ\¨ uÚUSa ö\õ¢u©õÚ J¸ Ãmøh 

Si°¸¨£uØPõP ÁõhøPUS AÝ©vzuõº. A¢u Ãk 

áúß 2015À Pmi •iUP¨£mhx. A¢u Ãmiß 

Bsk ÁõhøP ©v¨¦ ¹.96,000. |Pμõm] Á›PÒ 

ö\¾zv¯x ¹.20,000. AÁº öÁÒøÍ¯i¨£uØPõP 

¹.24,000 ö\»Ä ö\´uõº AÁº 1.4.2013 AßÖ 

¦÷μõ÷|õmk GÊvU öPõkzx ¹.30,000 Phß 12% 

Ámi ÂQuzvÀ ö£ØÖ A¢u Ãmiß Pmk©õÚzvØS 

ö\»Ä ö\´uõº. A¢uU Phß uØ÷£õx Áøμ v¸®£a 

ö\¾zu¨£hÂÀø». v¸. ÷áõ\¨ ©õua \®£Í©õP 

¹.20,000 DmiÚõº. AÁº ußÝøh¯ 

A¾Á»PzvØSa ö\ÀÁuØPõP ìTmhº JßÖ øÁzx 

C¸¢uõº AÁØÔØS J¸ ©õuzvØS \μõ\›¯õP 

¹.1,000 ö£m÷μõ¾UPõPa ö\»Ä ö\´uõº. 

Á›Âv¨£õsk 2019–20 ØPõn AÁμx Ãmk 

Á¸©õÚzøu²® ö©õzu Á¸©õÚzøu²® PnUQkP. 

20. Describe the powers and functions of the Central 
Board of Direct Taxes.  

 CBDT–ß £oPÒ ©ØÖ® AvPõμ[PøÍ ÂÁ›. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is a market? 

 \¢øu GßÓõÀ GßÚ? 

2. What is assembling? 

 vμmkuÀ (A) KßÖ ÷\ºzuÀ GßÓõÀ GßÚ? 

3. Write note on concentrated market. 

 ö\ÔÅmh¨£mh (AÀ»x) SÂ¢xÒÍ \¢øu°ß 

SÔ¨¦ GÊxP. 

4. Who is a ‘Laggard’? 

 ‘‘ö©xÁõP |h¨£Áº’’ Gß£Áº ¯õº? 

5. Give the list of four P’s marketing mix. 

 \¢øu¨£kzxuÀ P»øÁ°ß |õßS ¤’UPÎß 

£mi¯ø»z u¸P. 
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6. What is product mix? 

 ö£õ¸Ò P»øÁ GßÓõÀ GßÚ? 

7. What is skimming pricing? 

 HØÔU SøÓzuÀ Âø» GßÓõÀ GßÚ? 

8. What is a channel of distribution? 

 Â{÷¯õP ÁÈ GßÓõÀ GßÚ? 

9. Define social marketing. 

 \‰P \¢øu¨£kzxuø» Áøμ¯ÖUPÄ®. 

10. What is over marketing? 

 AvP \¢øu¨£kzxuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the causes of remarketing. 

  ©Ö \¢øu¨£kzxu¾UPõÚ Põμn[PøÍ 

ÂÍUSP. 

Or 

 (b) Explain the functions of transport. 

  ÷£õUSÁμzvß £oPøÍ ÂÍUSP. 

12. (a) What is the product segmentation? 

  ö£õ¸mPÎß ¤›Ä GßÓõÀ GßÚ? 

Or 
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 (b) What are the  rules protecting the interest of 
the seller? 

  ÂØ£øÚ¯õÍ›ß |»øÚ £õxPõUS® ÂvPÒ 

¯õøÁ? 

13. (a) Explain the advantages of brand name. 

  uμ Aøh¯õÍ ö£¯›ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) Explain the circumstances in which the 
product mix is contracted. 

  ö£õ¸Ò P»øÁ G¢öu¢u `Ì{ø»PÎÀ 

_¸[S® Gß£øu ÂÍUSP. 

14. (a) Explain the three main pricing policies of the 
marketer. 

  \¢øu¨£kzx£Á›ß ‰ßÖ •UQ¯ Âø»U 

öPõÒøPPøÍ ÂÍUSP. 

Or 

 (b) Distinguish a departmental store from a 
chain store. 

  \[P¼zöuõhº Pøh°¼¸¢x xøÓ Pøhø¯ 

÷ÁÖ£kzx[PÒ. 

15. (a) Explain the evaluation of e-marketing. 

  ªß \¢øu¨£kzu¼ß ©v¨¥møh ÂÍUSP. 

Or 
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 (b) Describe the re-marketing. 

  ©Ö \¢øu¨£kzuÀ £ØÔ ÂÁ›UPÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain in detail the various approaches to the 
study of marketing. 

 \¢øu¨£kzxuÀ £i¨¦UPõÚ £À÷ÁÖ 

AqS•øÓPÎß ÂÁμ[PøÍ ÂÍUS[PÒ. 

17. Describe the various methods of market 
segmentation. 

 \¢øu¨¤›Âß £À÷ÁÖ •øÓPøÍ ÂÁ›UPÄ®. 

18. Explain the various stages involved in the 
introduction of new product. 

 ¦v¯ ö£õ¸Ò AÔ•PzvÀ Dk£mkÒÍ £À÷ÁÖ 

{ø»PøÍ ÂÍUS[PÒ. 

19. Explain the factor influencing pricing decisions. 

 Âø» •iÄPøÍ £õvUS® PõμoPøÍ ÂÍUS[PÒ. 

20. Briefly explain the characteristics of online 
marketing. 

 {PÌ{ø» \¢øu¨£kzxu¼ß ]Ó¨¤¯À¦PøÍ 

ÂÍUS[PÒ. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define MIS. 

2. What is dataware housing? 

3. What is knowledge management? 

4. What is the evolution of MIS? 

5. How can you plan a system? 

6. Define System Design. 

7. Write any two data processing group 
responsibility. 

8. What is inventory control system? 

9. What is system audit? 

10. What do you mean by Manual Information 
System? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions. 

11. (a) Describe about the web databases.  

Or 

 (b) Write short note on Information in MIS.  

12. (a) Write  notes on office Automation System. 

Or 

 (b) Write notes on exclusive support systems.  

13. (a) Give short note about system planning.  

Or 

 (b) How to organize a file?  

14. (a) Describe the top management 
responsibilities.  

Or 

 (b) Define production and accounting system.  

15. (a) Write short notes on development and 
maintenances of MIS.  

Or 

 (b) Write short notes on expert systems. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are advantages of Data warehousing? 

17. Explain the various types of information systems. 

18. Explain the process and stages of system design. 

19. Describe the data processing groups’ 
responsibility. 

20. What are the roles played by computer in MIS? 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What do you mean by Financial Statement? 

 {v{ø» AÔUøP Gß£uß ö£õ¸Ò GßÚ? 

2. Give any two objectives of Cash flow statement. 

 H÷uÝ® Cμsk öμõUP |h©õmh AÔUøP°ß 
÷|õUP[PøÍ u¸P. 

3. What is the need of Management Accounting?  

 ÷©»õsø© PnUQ¯¼ß ÷uøÁ ¯õx? 

4. Define Fund flow statement. 

 {v Kmh AÔUøPø¯ Áøμ¯Ö. 

5. What is Solvency ratios? 

 wºÄ ÂQu[PÒ GßÓõÀ GßÚ? 

6. Give the meaning for Trend Analysis. 

 ÷£õUPõ´Ä Gß£uß ö£õ¸Ò u¸P. 

 NOVEMBER/DECEMBER 2020
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7. What is Ratio analysis?  
 ÂQu £S¨£õ´Ä GßÓõÀ GßÚ? 

8. How to preparation of fund flow statements? 
 {v |h©õmh AÔUøP°øÚ GÆÁõÖ u¯õ›¨£õ´? 

9. Write a short note on Profitability Ratio. 
 C»õ£ ÂQu® SÔzx J¸ ]Ö SÔ¨¦ ÁøμP. 

10. State the Comparative Balance Sheet. 
 J¨¤mk C¸¨¦ {ø»U SÔ¨ø£U TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the nature and scope of 
Management accounting. 

  ÷©»õsø© PnUQ¯¼ß C¯À¦ ©ØÖ® 
GÀø»PøÍU SÔzx ÂÁ›UPÄ®. 

Or 

 (b) Explain the advantages of financial 
statements. 

  {v{ø» AÔUøP°ß |ßø©PøÍ 
ÂÁ›UPÄ®. 

12. (a) Explain the nature of financial statements. 
  {v AÔUøP°ß ußø©ø¯ ÂÍUS[PÒ. 

Or 
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 (b) Calculate the trend percentages from the 
following figures for Priya Enterprises 
taking 2005 as the base year 

Year Sales Stock (Rs. in lakhs) 

 Rs. Rs. Profit before tax 

   Rs. 

2005 1,881 709 321 

2006 2,340 781 435 

2007 2,655 816 458 

2008 3,021 944 527 

2009 3,768 1,154 672 

  2005&® Bsøh Ai¨£øh BshõP 
öPõsk ¤›¯õ {ÖÁÚzvß ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x ÷£õUS \uÂQuzvøÚ 
PnUQkP. (¹£õ´ C»m\zvÀ) 

Bsk ÂØ£øÚ \μUQ¸¨¦ Á›US •ß¦  
EÒÍ C»õ£® 

 ¹. ¹. ¹. 

2005 1,881 709 321 

2006 2,340 781 435 

2007 2,655 816 458 

2008 3,021 944 527 

2009 3,768 1,154 672 



 1412 4

13. (a) What do you understand by Ratio analysis? 
Explain its significance and uses. 

  ÂQu £S¨£õ´Ä ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? Auß •UQ¯zxÁzøu²® 
£¯ß£õkPøÍ²® ÂÍUSP. 

Or 

 (b) Calculate Gross profit ratio. 
 Rs.  Rs. 

Sales 2,20,000 Purchases 1,75,000

Sales Return 20,000 Purchase return 15,000

Opening stock 30,000 Closing stock 40,000

  ö©õzu C»õ£ ÂQuzøu PnUQkP : 

 ¹.  ¹. 

ÂØ£øÚ 2,20,000 öPõÒ•uÀ 1,75,000
ÂØ£øÚ v¸¨£® 20,000 öPõÒ•uÀ v¸¨£® 15,000
öuõhUP \μUQ¸¨¦ 30,000 CÖva \μUQ¸¨¦ 40,000

14. (a) Calculate Fund from operations from the 
following Profit and Loss a/c. 

 Rs.  Rs. 

To Expenses 1,00,000 By Gross profit 2,00,000

To Depreciation 40,000 By Profit on 

To Loss on sale Sale of land 20,000

of building 10,000  

To Discount issue  

of shares 6,000  
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 Rs.  Rs. 

To Goodwill 12,000  

To Net profit 52,000  

 2,20,000  2,20,000

  RÌPsh C»õ£ |mhU PnUQ¼¸¢x 
ö\¯ÀÁÈ {v°øÚ PnUQkP.  

 ¹.  ¹. 

ö\»ÂÚ[PÒ 1,00,000 ö©õzu »õ£® 2,00,000

÷u´©õÚ® 40,000 {»® ÂØÓvÀ 

Pmih® ÂØÓvÀ  C»õ£® 20,000

HØ£mh |mh® 10,000  

PÈÄ £[S   

öÁÎ±k 6,000  

|Øö£¯º 12,000  

{Pμ C»õ£® 52,000  

 2,20,000  2,20,000

Or 

 (b) What are the limitations of Fund flow 
statement? 

  {v Kmh AÔUøP°ß Áμ®¦PÒ GßÚ? 
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15. (a) How cash flow statement differs from Funds 
flow statement? 

  öμõUP |h©õmh AÔUøP {v |h©õmh 
AÔUøP°¼¸¢x GÆÁõÖ ©õÖ£kQÓx? 

Or 

 (b) From the following Profit and Loss a/c 
compute cash from operations : 

 Rs.  Rs. 

To Salaries 5,000 By Gross profit 25,000

To Rent 1,000 By Profit on 

To Provision for Sale of land 5,000

taxation 5,000 By Income tax 

To Depreciation 2,000 refund 3,000

To Goodwill   

written off 4,000  

To Proposed   

dividend 5,000  

To Loss on sale   

of land 1,000  

To Net profit 10,000  

 33,000  33,000
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  ¤ßÁ¸® C»õ£ |mh PnUQ¼¸¢x 
ö\¯Ø£õmk öμõUPzøu PnUQkP 

 ¹.  ¹. 

\®£Í® 5,000 ö©õzu C»õ£® 25,000

ÁõhøP 1,000 {» ÂØ£øÚ°À 

Á›Âv¨¤ØPõÚ C»õ£® 5,000

HØ£õk 5,000 Á¸©õÚ Á› 

÷u´©õÚ® 2,000 v¸®£  3,000

|Øö£¯º GÊv¯x 4,000 ö£Ó¨£mhx 

•ßö©õÈ¯¨£mh  

DÄ öuõøP 5,000  

{» ÂØ£øÚ°À  

CÇ¨¦ 1,000  

{Pμ »õ£® 10,000  

 33,000  33,000

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the advantages and limitations of 
Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß |ßø© ©ØÖ® wø©PøÍ 
ÂÁ›. 
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17. Calculate : 

 (a) Gross profit ratio 

 (b) Net profit ratio 

 (c) Operating ratio and 

 (d) Operating profit ratio 

Trading and Profit and Loss a/c 
 Rs.   Rs. 

To Cost of sales 16,400 By Sales 21,000

To Gross profit c/d 3,600 (-) Sales return 1,000 20,000

 20,000  20,000

To Administrative 
expenses 1,300

By Gross profit 
b/d 3,600

To Selling expenses 700 By Income from 

To Depreciation 200 Investments 200

To Interest 100  

To Net profit 1,500  

 3,800  3,800

 RÌPsh ÂÁμ[PøÍU öPõsk 

 (A) ö©õzu C»õ£ ÂQu® 

 (B) {Pμ C»õ£ ÂQu® 

 (C) ö\¯À£õk ÂQu® ©ØÖ® 

 (D) ö\¯À£õk »õ£ ÂQuzøu PõsP. 
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Â¯õ£õμ »õ£ |mh P/S 

 ¹.   ¹. 

ÂØ£øÚ AhUP® 16,400 ÂØ£øÚ 21,000
ö©õzu C»õ£® 3,600 (-)ÂØ£øÚ v¸¨£® 1,000 20,000

 20,000  20,000
{ºÁõP ö\»ÄPÒ 1,300 ö©õzu C»õ£® 3,600
ÂØ£øÚ ö\»ÄPÒ 700 •u½miÀ ö£ØÓ 

÷u´©õÚ® 200 C»õ£® 200
Ámi 100  
{Pμ »õ£® 1,500  

 3,800  3,800

18. Explain the advantages and significance of fund 
flow statement. 

 {v Kmh AÔUøP°ß |ßø©PÒ ©ØÖ® 
•UQ¯zxÁzøu ÂÍUSP. 

19. The following details are related to XY Ltd. 
Liabilities 31.12.10 31.12.11  Assets 31.12.10 31.12.11

 Rs. Rs.   Rs. Rs. 

Share Capital 70,000  74,000  Cash 9,000 7,800

Debentures 12,000  6,000  Debtors 14,900 17,700

Reserve 700  800  Stocks 49,200 42,700

Creditors 10,360  11,840  Land 20,000 30,000

Profit and Loss A/C 10,040  10,560  Goodwill 10,000 5,000

 1,03,100  1,03,200   1,03,100 1,03,200
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 Additional informations : 

 (a) Dividend paid Rs.3,500 

 (b) Land was purchased for Rs.10,000 

 (c) Debentures paid off Rs.6,000. 

  Prepare Cash flow statement. 

 XY {Ö©zvß {v {ø»ø© R÷Ç 
öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ 31.12.10  31.12.11  ö\õzxUPÒ 31.12.10 31.12.11

 ¹,  ¹,   ¹, ¹, 

£[S •uÀ 70,000  74,000  öμõUP® 9,000 7,800

Phß £zvμ® 12,000  6,000  PhÚõÎPÒ 14,900 17,700

Põ¨¦ 700  800  \μUQ¸¨¦ 49,200 42,700

PhÜ¢÷uõº 10,360  11,840  {»® 20,000 30,000

C»õ£ |mh P/S 10,040  10,560  |Øö£¯º 10,000 5,000

 1,03,100  1,03,200   1,03,100 1,03,200

 TkuÀ uPÁÀPÒ : 

 (A) £[Põuõ¯® ö\¾zv¯x ¹.3,500 

 (B) {»® Áõ[Q¯x ¹.10,000 

 (C) Phß £zvμzvØS ö\¾zv¯® ¹.6,000. 

  öμõUP Kmh AÔUøP øu¯õ›UPÄ®. 
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20. From the following Balance Sheet prepare a 
Funds flow statement 

Liabilities 2014  2015  Assets 2014 2015 

 Rs.  Rs.   Rs. Rs. 

Share Capital 1,00,000  1,00,000  Goodwill 12,000 12,000

Reserve  14,000  18,000  Building 40,000 36,000

Profit and Loss A/C 16,000  13,000  Plant 37,000 36,000

Creditors 8,000  5,400  Investment 10,000 11,000

Bills payable 1,200  800  Stock 30,000 23,400

Provision for      Bills  

taxation 16,000  18,000  receivable 2,000 3,200

Provision for     Debtors 18,000 19,000

doubtful debts 400  600  Cash 6,600 15,200

 1,55,600  1,55,800   1,55,600 1,55,800

 Additional information : 

 (a) Depreciation on plant was Rs.4,000 and on 
buildings Rs.4,000 

 (b) Provision for taxation of Rs.19,000 was made 
during the year 

 (c) Interim dividend Rs.8,000 was paid during 
the year. 

 ¤ßÁ¸® C¸¨¦ {ø» SÔ¨¦ Â£μzv¼¸¢x, {v 
Kmh AÔUøP°øÚ u¯õº ö\´P 

ö£õÖ¨¦PÒ 2014  2015  ö\õzxUPÒ 2014 2015 

 ¹.  ¹.   ¹. ¹. 

£[S •uÀ 1,00,000  1,00,000  |Øö£¯º 12,000 12,000
Põ¨¦ 14,000  18,000  Pmih® 40,000 36,000
C»õ£ |mh P/S 16,000  13,000  ö£õÔÁøP 37,000 36,000
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ö£õÖ¨¦PÒ 2014  2015  ö\õzxUPÒ 2014 2015 

 ¹.  ¹.   ¹. ¹. 

PhÜ¢÷uõº 8,000  5,400  •u½kPÒ 10,000 11,000
ö\¾zxØS›¯     \μUQ¸¨¦ 30,000 23,400
©õØÖa^mk 1,200  800  ö£ÖÁuØS›¯

Á›UPõÚ     ©õØÖa^mk 2,000 3,200
JxUS 16,000  18,000  PhÚõÎPÒ 18,000 19,000
I¯UPhß     öμõUP® 6,600 15,200
JxUS 400  600   

 1,55,600  1,55,800   1,55,600 1,55,800

 TkuÀ Â£μ[PÒ : 

 (A) ÷u´©õÚ® : ö£õÔÁøP ¹.4,000 Pmih® 
¹.4,000. 

 (B) |h¨¦ Bsk Á›UPõÚ JxUS ¹.19,000 
E¸ÁõUP¨£mhx. 

 (C) |h¨¦ Bsk CøhUPõ» £[Põuõ¯® 
¹.8,000 ö\¾zu¨£mhx. 

——————— 



1413 

 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What do you mean by business system? 

 Áõo£ Aø©¨¦ GßÓõÀ GßÚ? 

2. Define vision. 

 öuõø» ÷|õUS £õºøÁ&Áøμ¯Ö. 

3. What is meant by corporate strategies? 

 {ÖÁÚ ~m£[PÒ Gß£x ¯õx? 

4. What is vertical integration? 

 ö\[SzuõÚ J¸[Qøn¨¦ GßÓõÀ GßÚ? 

5. Write short note on Generic Competitive strategy. 

 ö£õx ÷£õmi ~m£® SÔzx ]Ö SÔ¨¦ ÁøμP. 

6. State the reasons for adopting combination 
strategy. 

 Tmk ~m£zøu ¤ß£ØÖÁuØPõÚ Põμn[PøÍ 
TÖP. 
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7. Define joint venture. 

 CønÂøÚ&Áøμ¯Ö. 

8. Write short note on management of changes. 

 ©õØÓ ÷©»õsø© SÔzx ]Ö SÔ¨¦ ÁøμP. 

9. What are the elements of strategy? 

 ~m£zvß TÖPÒ ¯õøÁ? 

10. What do you mean by organizational climate? 

 {ÖÁÚ Põ»{ø» Gß£x ¯õx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the objectives of business. 

  ÁoPzvß ÷|õUP[PøÍ ÂÁ›. 

Or 

 (b) Discuss the activities involved in the 
strategic management process. 

  ~m£ ÷©»õsø© •øÓPÎÀ EÒÍ 
|hÁiUøPPøÍ ÂÍUSP. 

12. (a) Explain the nature of corporate strategy. 

  ö£¸{ÖÁÚ ~m£zvß ußø©ø¯ ÂÁ›. 

Or 

 (b) State the uses of SWOT analysis. 

  SWOT £S¨£õ´Âß E£÷¯õPzvøÚ 
SÔ¨¤kP. 
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13. (a) Distinguish between Generic strategy and 
competitive strategy. 

  ö£õx ~m£zvØS®, ÷£õmi ~m£zvØS® 
EÒÍ ÷ÁÖ£õkPøÍU TÖP. 

Or 

 (b) Explain the various types of Growth 
strategies. 

  ÁÍºa] ~m£zvß ÁøPPøÍ ÂÁ›. 

14. (a) Discuss the benefits of Joint venture. 

  CønÂøÚ°ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) What are the reasons for adopting merger 
strategy? 

  Cøn¨¦ ~m£zøu øP¯õÐÁuØPõÚ 
Põμn[PÒ ¯õøÁ? 

15. (a) Discuss the factors causing the unsuccessful 
implementation of strategy. 

  ~m£ ö\¯À£kzuÀ ÷uõÀÂ AøhÁuØPõÚ 
PõμoPøÍ ÂÁõv. 

Or 

 (b) Explain the process involved in strategic 
control. 

  ~m£ Pmk¨£õmiÀ EÒÍ ö\¯À•øÓPøÍ 
ÂÁ›. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Analyse the role of strategic management in 
Business. 

 ÁoPzvÀ ~m£ ÷©»õsø©°ß £[S SÔzx 
B´Ä ö\´P. 

17. Enumerate the steps in the process of project life 
cycle. 

 vmh ÁõÌUøP _ÇØ]°ß ö\¯À£õmiÀ EÒÍ 
£iPøÍ PnUQkP. 

18. Describe the issues and problems in Mergers. 

 {ÖÁÚ Cøn¨¤À EÒÍ ]UPÀPÒ ©ØÖ® 
¤μa\øÚPøÍ ÂÍUSP. 

19. Examine the different types of organization 
structure. 

 {ÖÁÚ Aø©¨¤ß £À÷ÁÖ ÁøPPøÍ B´Ä 
ö\´P. 

20. Discuss the steps involved in implementation of 
strategy. 

 ~m£ A©»õUPzvÀ EÒÍ £iPøÍ £ØÔ ÂÁõv. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. Indicate the importance of managerial economics. 

 ÷©»õsø© ö£õ¸Î¯¼ß •UQ¯zxÁzøuU 
SÔ¨¤kP. 

2. What are the limitations of managerial economics? 

 ÷©»õsø©¨ ö£õ¸Î¯¼ß SøÓ£õkPÒ ¯õøÁ? 

3. State the meaning of demand. 

 ÷uøÁ Gß£uß ö£õ¸Ò u¸P. 

4. What is perfectly elasticity of demand? 

 •ØÔ¾® ö|QÌa]¯ØÓ ÷uøÁ GßÓõÀ GßÚ? 

5. What is meant by demand forecasting? 

 ÷uøÁ •ßPozuÀ GßÓõÀ GßÚ? 

6. What is production function? 

 EØ£zv \õº¦ GßÓõÀ GßÚ? 
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7. Write a short note on imperfect competition. 

 {øÓSøÓ ÷£õmi £ØÔ ]Ö SÔ¨¦ ÁøμP. 

8. What is marginal rate of substitution? 

 CÖv{ø» £v½mk Ãu® Gß£x ¯õx? 

9. State any two significance of dual pricing. 

 Cμmøh Âø»°h¼ß 2 •UQ¯zxÁzøu 
SÔ¨¤kP. 

10. Define 'Duopoly'. 

 'C¸Áº •ØÖ›ø©' & Áøμ¯Ö. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the scope of managerial economics. 

  ÷©»õsø© ö£õ¸Î¯¼ß GÀø»ø¯ 
ÂÍUSP. 

Or 

 (b) State the properties of indifference curves. 

  \©÷|õUS ÁøÍ÷PõkPÎß Snõv\¯[PøÍ 
SÔ¨¤kP. 

12. (a) What are the determinants of demand for a 
commodity? 

  £sh ÷uøÁ wº©õÚ[PÒ ¯õøÁ? 

Or 
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 (b) Explain the short-run cost curves. 

  SÖQ¯ Põ» ö\»Ä ÷PõkPøÍ ÂÍUSP. 

13. (a) Briefly explain the objectives of pricing. 

  Âø»°h¼ß ÷|õUP[PøÍ _¸UP©õP ÂÁ›. 

Or 

 (b) What are the features of perfect competition? 

  {øÓÄ¨ ÷£õmi°ß C¯À¦PÒ ¯õøÁ? 

14. (a) Explain the types of price discrimination. 

  Âø» ÷£u[Põmku¼ß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Define elasticity of demand with examples. 

  ÷uøÁ ö|QÌa]ø¯ GkzxUPõmkhß GÊxP. 

15. (a) Explain fixed cost and variable cost. 

  {ø»¯õÚ ö\»Ä ©ØÖ® ©õÖ£k® ö\»Ä 
ÂÍUS.  

Or 

 (b) Discuss the various forms of monopoly. 

  •ØÖ›ø©°ß £À÷ÁÖ {ø»PøÍ ÂÍUSP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the relationship between Micro, Macro 
and managerial economics. 

 ~so¯À, ÷£›¯À ©ØÖ® {ºÁõPÂ¯À 
CÁØÔØPõÚ EÓÄ SÔzx ÂÁõv. 

17. Explain the survey methods of demand 
forecasting. 

 ÷uøÁ •ßPozuÀ AÍÃk •øÓPøÍ ÂÍUS. 

18. Analyse the concept of elasticity of substitution. 

 £v½mk ö|QÌa]°ß ußø©PøÍ B´Ä ö\´P. 

19. Distinguish between perfect competition and 
monopolistic competition. 

 •ØÖ›ø©¨ ÷£õmiUS® {øÓÄ ÷£õmiUS® EÒÍ 
÷ÁÖ£õkPøÍ ÂÍUSP. 

20. Illustrate consumer equilibrium through 
indifference curves. 

 \©÷|õUS ÁøÍ÷PõkPÎß EuÂ²hß ~Pº÷Áõº 
\©{ø»ø¯ ÂÍUSP. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. Define marketing management. 

 \¢øu¨£kzuÀ ÷©»õsø© Áøμ¯ÖP. 

2. What do you mean by sales concept? 

 ÂØ£øÚ P¸zx Gß£uß ö£õ¸Ò GßÚ? 

3. What is behavioural segmentation? 

 |hzøu \¢øu£S¨¦ GßÓõÀ GßÚ? 

4. What is meant by market targeting? 

 \¢øu C»US Gß£uß ö£õ¸Ò GßÚ? 

5. Define sales fore casting. 

 ÂØ£øÚ •ßPozuÀ Áøμ¯ÖP. 

6. Define packaging. 

 ø£¯P¨£kzxuÀ Áøμ¯ÖP. 
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7. Define pricing. 

 Âø»°hÀ Áøμ¯ÖP. 

8. What is meant by marketing channel? 

 ÁÇ[PÀ ÁÈ Gß£uß ö£õ¸Ò GßÚ? 

9. Define advertising. 

 ÂÍ®£μ® Áøμ¯ÖP. 

10. Define sales promotion. 

 ÂØ£øÚ ö£¸UP® Áøμ¯ÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Discuss the approaches to the study of 
marketing in detail 

  \¢øu¨£kzu¼ß £À÷ÁÖ AqS•øÓPøÍ 
ÂÁõv. 

Or 

 (b) Write the scope of marketing. 

  \¢øu¨£kzu¼ß GÀø»PøÍ GÊx. 

12. (a) List the importance of studying buyer 
behaviour. 

  Áõ[S÷Áõº |hzøu°øÚ £izu¼ß 
•UQ¯zxÁzvøÚ Á›ø\¨£kzxP. 

Or 
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 (b) What are the requisites of effective 
segmentation? 

  £¯ÝÒÍ \¢øu£kzu¼ß CßÔ¯ø©¯õßø©ø  ̄
Á›ø\¨£kzxP. 

13. (a) What are the different levels of product? 

  ö£õ¸Îß £À÷ÁÖ {ø»PÒ GßÚ? 

Or 

 (b) Discuss packing as a marketing tool. 

  ÷£UQ[ \¢øu£kzu¼ß P¸Â&ÂÁõv. 

14. (a) State the major functions of marketing 
channels. 

  ÁÇ[PÀ ÁÈ°ß £À÷ÁÖ •UQ¯ £oPøÍ¨ 
£ØÔ TÖP. 

Or 

 (b) Highlight the pricing objectives. 

  Âø»°h¼ß ÷|õUP[PøÍ •ßÛø»¨£kzxP. 

15. (a) State the objectives of advertising. 

  ÂÍ®£μzvß ÷|õUP[PøÍ¨ £ØÔ TÖP. 

Or 

 (b) Distinguish between advertising and sales 
promotion. 

  ÂÍ®£μ® ©ØÖ® ÂØ£øÚ ö£¸UP® 
÷ÁÖ£kzxP. 

 



 1418 4

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the functions of marketing in detail. 

 \¢øu¨£kzu¼ß £oPøÍ¨ £ØÔ Â›ÁõP ÂÁõv. 

17. Discuss different types of buying motives in detail. 

 Áõ[SuÀ ÷|õUP[PÎß £À÷ÁÖ ÁøPPøÍ 
Â›ÁõP ÂÁõv. 

18. Describe the stages of product life cycle. 

 ö£õ¸Ò ÁõÌUøP _ÇØ]°ß £À÷ÁÖ {ø»PøÍ 
ÂÁ›. 

19. Explain various kinds of marketing channels. 

 ÁÇ[PÀ ÁÈ°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

20. On what basis the advertisements can be 
classified? Discuss in detail. 

 ÂÍ®£μ® G¢u Ai¨£øh°À 
ÁøP¨£kzu¨£kQÓx? Â›ÁõP ÂÁõv. 

——————— 
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* 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. Who is a minor? 

 ø©Úº Gß£Áº ¯õº? 

2. What is express contract? 

 öÁÎ¨£øh¯õÚ J¨£¢u® GßÓõÀ GßÚ? 

3. Define Actual performance. 

 Esø©¯õÚ {øÓ÷ÁØÓ®&ÁøμÂ»UPn® u¸P. 

4. Give any three types of Damages. 

 CÇ¨¥miß HuõÁx ‰ßÖ ÁøPPøÍ TÖP. 

5. Who are involved in guarantee? 

 EzuμÁõu J¨£¢uzvÀ ¯õöμÀ»õ® £[S ö£ÖÁº? 

6. Who is a Bailee? 

 J¨£øhÄ ö£Ö£Áº Gß£Áº ¯õº? 
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7. Define Agency. 

 •Pø©&ÁøμÂ»UPn® u¸P. 

8. What do you mean by Ratification? 

 ¤ß÷ÚØ¦ ö\´uÀ Gß£uß ö£õ¸Ò GßÚ? 

9. Define sale. 

 ÂØ£øÚ&ÁøμÂ»UPn® u¸P. 

10. State any two rights of Resales. 

 ©Ö ÂØ£øÚUPõÚ E›ø©PÒ H÷uÝ® Cμsk 
u¸P. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) What are the essential elements of contract? 

  J¨£¢uzvß •UQ¯ TÖPÒ GßÚ? 

Or 

 (b) Write the kinds of consideration. 

  ©Ö£¯Ûß ÁøPPøÍ GÊx. 

12. (a) Who must perform the contract? 

  J¨£¢u® ¯õμõÀ {øÓ÷ÁØÓ¨£h ÷Ásk®? 

Or 

 (b) Explain the discharge by mutual Agreement. 

  £μì£μ Ehß£iUøP°ß ‰»® 
Âk¨¦&ÂÁ›. 
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13. (a) What are the difference between contract of 
Indemnity and guarantee? 

  CÇ¨¥miØUS®, EzuμÁõu J¨£¢u[PÐUS® 
Cøh÷¯²ÒÍ ÷ÁÖ£õkPÒ GßÚ? 

Or 

 (b) Explain the consideration in a contract of 
bailment. 

  J¨£øhÄ J¨£¢u® JßÔß ©Ö£¯ß £ØÔ 
GÊxP. 

14. (a) Explain the way of agency. 

  •Pø©°ß E¸ÁõUP® £ØÔ ÂÁ›. 

Or 

 (b) Who are called mercantile agents? 

  ÁoP •PÁºPÒ GßÖ ¯õöμÀ»õ® 
AøÇUP¨£kÁº? 

15. (a) Explain the rights of an unpaid seller. 

  Âø»ö£Óõu ÂØ£øÚ¯õÎß E›ø©PøÍU 
TÖP. 

Or 

 (b) What are the rules regarding auction sale? 

  H» ÂØ£øÚ öuõhº£õÚ Âv•øÓPÒ GßÚ? 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss about rules governing consideration. 

 ©Ö£¯øÚ Pmk¨£kzx® BØÓ¾øh¯ ÂvPÒ 
£ØÔ ÂÁ›. 

17. Explain the essentials of a valid tender. 

 \mh¨£i ö\À»UTi¯ Kº J¨£¢u¨ ¦ÒÎ°ß 
CßÔ¯ø©¯õu TÖPÒ ¯õøÁ? 

18. Describe the types of bailment. 

 J¨£øhÂß ÁøPPÒ £ØÔ ÂÁ›. 

19. Discuss the types of agents. 

 •PÁ›ß ÁøPPÒ £ØÔ ÂÁ›. 

20. Explain the classification of goods. 

 \μUQß ÁøPPÒ GßöÚßÚ. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What are the main objects of the Cost Accounting? 
 AhUPÂø» PnUQ¯¼ß •UQ¯ ÷|õUP[PÒ 

¯õøÁ? 

2. State any two limitations of Cost Accounting. 
 AhUPÂø» PnUQ¯¼ß H÷uÝ® Cμsk 

SøÓ£õkPøÍ SÔ¨¤kP. 

3. What is meant by tender? 
 öhshº Gß£x ¯õx? 

4. Calculate costing profit from the following 
information : 

 Profit is 10% on cost, the cost of production is  
Rs. 2,50,000 and Selling and Distribution 
overhead is Rs. 25,000. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x C»õ£zøu PnUQkP. 
 C»õ£® ö©õzu ö\»ÂÀ 10 \u® BS®, EØ£zva 

ö\»Ä ¹. 2,50,000 ©ØÖ® ÂØ£øÚ ©ØÖ® 
Â{÷¯õPa ÷©Øö\»ÄPÒ ¹. 25,000. 
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5. What is meant by material control? 

 ö£õ¸Ò Pmk¨£õk Gß£x ¯õx? 

6. Give the formula to calculate re-order level. 

 ©Ö Bøn AÍÂøÚ PshÔ²® `zvμzøu 
GÊxP. 

7. What is Labour Turnover? 

 öuõÈ»õÍº ¦μÒÄ GßÓõÀ GßÚ? 

8. Calculate wages for a worker a from the following 
information by Rowan method. 

 Standard Time 8 hours. Hourly rate is Rs. 12. 
Actual Time for worker A is 13 hours. 

 ÷μõÁõß •øÓ¨£i RÌPsh ÂÁμ[PÎ¼¸¢x J¸ 
öuõÈ»õÎUS T¼ø¯ PnUQkP. 

 {ø»¯õÚ ÷|μ® 8 ©o ÷|μ® BS®. ©o÷|μ 

ÂQu® ¹. 12. A GßÓ öuõÈ»õÍº GkzxU 
öPõsh ÷|μ® 13 ©o ÷|μ® BS®. 

9. What is meant by absorption? 

 EmPÁºÄ GßÓõÀ GßÚ? 

10. Write short note on Primary Distribution. 

 •ußø© Â{÷¯õP® SÔzx ]Ö SÔ¨¦ ÁøμP. 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the steps which should be taken to 
install a cost accounting system. 

  AhUPÂø»U PnUQ¯À •øÓø¯ {ÖÁ 
GkUP ÷Ási¯ |hÁiUøPPøÍ ÂÍUSP. 

Or 

 (b) In what essential aspects does cost 
accounting differ from financial accounting? 

  {v PnUQ¯¼¸¢x AhUPÂø»U PnUQ¯À 
GÆÁõÖ ÷ÁÖ£kQÓx? 

12. (a) Write short note on ABC analysis. 

  ABC £S¨£õ´Ä SÔzx ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) From the following particulars, prepare an 
estimate for an Job. 

  Direct Raw material used - Rs. 2,000 

  Direct Wages paid - Rs. 4,000 

  Factory Expenses 60% on wages. 

  Office Expenses 20% of factory cost. 

  The tender should include a profit of 20% on 
selling price. 
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ ÷Áø»UPõÚ 
©v¨¥møhz u¯õ›UPÄ®. 

  ÷|μi ‰»¨ö£õ¸Ò £¯ß£kzv¯x ¹. 2,000 

  ÷|μi T¼ öPõkzux ¹. 4,000 

  öuõÈØ\õø» ö\»ÄPÒ T¼°À 60 \u® 
GkUP¨£mhx.  A¾Á»P ö\»ÄPÒ 
öuõÈØ\õø» AhUPzvÀ 20 \u® 
GkUP¨£mhx. öhshº u¯õ›US® ÷£õx 
C»õ£® ÂØ£øÚ Âø»°À 20 \u® C¸UP 
÷Ásk®. 

13. (a) State the requirements for the effective 
control of material. 

  ö£õ¸mPøÍ vÓø©¯õP Pmk¨£kzxÁuØS 
÷uøÁ¯õÚÁØøÓ SÔ¨¤kP. 

Or 

 (b) Two components A and B are used as follows: 
  Normal Usage: 50 units per week each. 
  Minimum Usage : 25 units per week each. 
  Maximum Usage: 75 units per week each. 
  Reorder Quantity: A – 300 units ; B – 500 

units. 
  Reorder Period: A – 4 to 6 weeks; B – 2 to 4 

weeks. 
  Calculate for each component: 
  (i) Minimum Level 
  (ii) Maximum level  
  (iii) Average stock level. 
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  A ©ØÖ® B BQ¯ Cμsk TÖPÒ 
¤ßÁ¸©õÖ £¯ß£kzu¨£kQßÓÚ. 

  C¯À£õÚ ~PºÄ : ÁõμzvØS 50 A»SPÒ 
JÆöÁõßÖ® 

  SøÓ¢u£m\ ~PºÄ : ÁõμzvØS 25 A»SPÒ 
JÆöÁõßÖ®  

  AvP£m\ ~PºÄ : ÁõμzvØS 75 A»SPÒ 
JÆöÁõßÖ® 

  ©Ö Bøn {øÓ : A – 300 A»SPÒ ; B – 500 
A»SPÒ 

  ©Ö BønU Põ»® : A – 4 ¼¸¢x  6 
Áõμ[PÒ; B – 2 ¼¸¢x 4 Áõμ[PÒ. 

  JÆöÁõ¸ TÖUS®  

  (i) SøÓ¢u£m\ AÍÄ 

  (ii) AvP£m\ AÍÄ 

  (iii) \μõ\› \μUPÍÄ Psk¤iUPÄ®. 

14. (a) State the important features of a good wage 
system. 

  J¸ |À» Fv¯ •øÓ°ß •UQ¯ 
A®\[PøÍU TÖP.  

Or 
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 (b) Calculate wages for workers X and Y by 
Piece Rate method and Taylor’s differential 
piece rate method from the following. 

  Standard time per unit is 15 minutes. 

  Normal rate per hour is Rs. 9. 

  Differential piece rate are that 75% of piece 
rate for below standard 

  Workers and 125% of piece rate for above 
standard workers. In a day X produced  
30 units and Y produced 40 units. 

  Normal working hours per day is 8. 

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x X ©ØÖ® Y 
öuõÈ»õÍºPÐUPõÚ Fv¯zøu xsk Ãu 
•øÓ ©ØÖ® öh´»›ß ÷ÁÖ£mh xsk Ãu 
•øÓ ‰»® PnUQkP. 

  {ø»¯õÚ ÷|μ® & 15 {ªh® J¸ A»QØS 

  \õuõμn T¼ & ¹. 9 J¸ ©o ÷|μzvØS 

  ÷ÁÖ£mh xsk ÂQu® GßÚöÁßÓõÀ 
AÍÄ SøÓÁõP EØ£zv ö\´u 
öuõÈ»õÍºPÐUS 75% xsk Ãu•®, AÍÄ 
AvP©õP EØ£zv ö\´u öuõÈ»õÍºPÐUS 
125% xsk Ãu® ÁÇ[P¨£h EÒÍx. J¸ 

|õÎÀ X 30 A»SPÐ®, Y 40 A»SPøÍ²® 
EØ£zv ö\´uõºPÒ. J¸ |õøÍUS \õuõμn 
÷Áø» ÷|μ® 8 ©o ÷|μ® BS®. 
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15. (a) Discuss the types of overhead on the basis of 
element of cost. 

  AhUPU TÖPÎß Ai¨£øh°À 
÷©Øö\»ÄPÎß ÁøPPøÍ¨ £ØÔ ÂÁõv. 

Or 

 (b) Explain the methods of Secondary 
Distribution.  

  Cμshõ® {ø» Â{÷¯õPzvß •øÓPøÍ 
ÂÁ›. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Cost Accounting has become an essential tool of 
modern management – Comment. 

 AhUPÂø» PnUQ¯À |ÃÚ ÷©»õsø©°À J¸ 
•UQ¯ P¸Â¯õP ©õÔ²ÒÍx – ÂÁõv. 

17. ABC Ltd. provides the following information from 
its costing records for the month of July 2018. 

   Rs. 

 Stock of Raw materials as on 1st July 2018 11,500 

 Stock of Raw materials as on 31st July 2018 12,800 
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 Purchase of material   27,500 

 Direct Wages paid   17,500 

 Direct Expenses   8,700 

 Factory Overhead   6,400 

 Administrative Overhead  10,300 

 Selling and Distribution Overhead 12,300 

 Work-in-progress as on 1st July 2018 14,500 

 Work-in-progress as on 31st July 2018 11,200 

 Stock of Finished Goods as on 1st July 2018 17,500 

 Stock of Finished Goods as on  
31st July 2018   13,000 

 Sales     95,000 

 Prepare a cost sheet and find out the costing 
profit. 

 ABC ¼ªöhm áüø» 2018 ©õuzvØPõÚ Auß 

ö\»Ä £vÄPÎ¼¸¢x ¤ßÁ¸® uPÁÀPøÍ 

ÁÇ[SQÓx. 

 ¹. 

 Pa\õ¨ ö£õ¸mPÎß C¸¨¦ 1st áüø» 2018 11,500 

 Pa\õ¨ ö£õ¸mPÎß C¸¨¦ 31st áüø» 201812,800 
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 Pa\õ¨ ö£õ¸Ò Áõ[Q¯x  27,500 

 ÷|μiUT¼ ö\¾zv¯x   17,500 

 ÷|μi ö\»ÄPÒ   8,700 

 öuõÈØ\õø» ÷©Øö\»ÄPÒ  6,400 

 {ºÁõP ÷©Øö\»ÄPÒ   10,300 

 ÂØ£øÚ ©ØÖ® Â{÷¯õP ÷©Øö\»ÄPÒ 12,300 

 £o •iÄÓõ¨ ö£õ¸Ò 1st áüø» 2018 14,500 

 £o •iÄÓõ¨ ö£õ¸Ò 31st áüø»2018 11,200 

 •iÄØÓ¨ ö£õ¸Ò 1st áüø» 2018 17,500 

 •iÄØÓ¨ ö£õ¸Ò 31st áüø» 2018 13,000 

 ÂØ£øÚ    95,000 

 ÷©ØPsh Â£μ[PøÍU öPõsk AhUPz uõÒ 

©ØÖ® C»õ£zøu PshÔ¯Ä®. 
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18. Prepare Stores Ledger Account on the basis of 
LIFO Method from the following information.  

August  1 Balance  500 units @ Rs. 40 per unit

 4 Purchased  400 units @ Rs. 42 per unit

 5 Issued 400 units 

 8 Purchased  600 units @ Rs. 44 per unit

 10 Issued  700 units  

 12 Issued  200 units  

 18 Purchased 500 units @ Rs. 45 per unit

 22 Issued 400 units  

 27 Purchased  300 units @ Rs. 50 per unit

 30 Issued  400 units 

 LIFO •øÓø¯ £¯ß£kzv ¤ßÁ¸® 
uPÁÀPÎ¼¸¢x \μUS ÷£÷μmkU PnUQøÚ 
u¯õ›UP. 

BPìm 1 C¸¨¦ 500 A»SPÒ @ ¹. 40 Ãu® Áõ[Q¯x

 4 öPõÒ•uÀ 400 A»SPÒ @ ¹. 42 Ãu® Áõ[Q¯x

 5 öÁÎ±k 400 A»SPÒ 

 8 öPõÒ•uÀ 600 A»SPÒ @ ¹. 44 Ãu® Áõ[Q¯x

 10 öÁÎ±k 700 A»SPÒ  

 12 öÁÎ±k 200 A»SPÒ  
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 18 öPõÒ•uÀ 500 A»SPÒ @ ¹. 45 Ãu® Áõ[Q¯x

 22 öÁÎ±k 400 A»SPÒ  

 27 öPõÒ•uÀ 300 A»SPÒ @ ¹. 50 Ãu® Áõ[Q¯x

 30 öÁÎ±k 400 A»SPÒ 

19. In a factory, the standard time allowed for 
producing 25 units of a product is 1 hour. The 
hourly rate is Rs. 11. Workers A, B and C 
produced 275 units, 200 units and 325 units 
respectively in a day. 

 Calculate  

 (a) Wages for each worker on that day  

 (b) Effective rate of earnings per hour for each 
worker under  

  (i) Halsey Premium Bonus (bonus @ 50% 
of time saved) Plan  

  (ii) Rowan Premium method  

  (iii) Straight piece rate method. 

 J¸ öuõÈØ\õø»°À 25 A»SPøÍ EØ£zv ö\´¯ 
AÝ©vUP¨£mh ÷|μ® J¸ ©o ÷|μ®. ©o ÷|μ 

Ãu® ¹. 11 öuõÈ»õÍºPÒ A, B ©ØÖ® C •øÓ÷¯ 
275 A»SPÒ, 200 A»SPÒ ©ØÖ® 325 A»SPÒ 
J¸ |õøÍUS EØ£zv ö\´uÚº. 
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 öPõkUP¨£mh uPÁÀPøÍ öPõsk  

 (A) JÆöÁõ¸ öuõÈ»õÎUS® AßøÓ¯ Fv¯®  

 (B) JÆöÁõ¸ öuõÈ»õÎUS® J¸ ©o 
÷|μzvØS £¯ÝÒÍ Á¸Áõ´ ÂQu®  

  (i) íõÀ÷\ ¤Ÿª¯® ÷£õÚì vmh® 

(÷£õÚì @ 50 \u® ªa\¨£kzv¯ 
÷|μzvÀ) 

  (ii) ÷μõÁõß ¤Ÿª¯® •øÓ   

  (iii) ÷|μõÚ xsk Ãu •øÓ 

20. A manufacturing company has three production 
departments namely A, B and C and two Service 
departments namely X and Y. The departmental 
distribution summary shows the following details : 

   Rs. 

Production Departments: A 40,000

 B 55,000

 C 75,000

Service Departments: X 18,000

 Y 15,000
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 The basis of apportionment of service department 
costs to the production departments are stated as 
follows: 

Departments A B C X Y 

X 40% 30% 20% - 10%

Y 25% 35% 20% 20% - 

 Prepare a statement showing the distribution of 
the service department expenses to the production 
departments on the basis of repeated distribution 
method. 

 J¸ EØ£zv {ÖÁÚzvÀ A, B ©ØÖ® C GßÓ ‰ßÖ 

EØ£zv xøÓPÐ®, X ©ØÖ® Y GßÓ Cμsk 
÷\øÁz xøÓPÐ® EÒÍÚ. 

 ¤ßÁ¸®  ÂÁμ[PøÍ xøÓ\õº Â{÷¯õP _¸UP® 
PõmkQÓx. 

   ¹. 

EØ£zvz xøÓPÒ : A 40,000

 B 55,000

 C 75,000

÷\øÁz xøÓPÒ : X 18,000

 Y 15,000



 1420 14

 EØ£zvz xøÓPÐUS ÷\øÁz xøÓ°ß 
ö\»ÄPøÍ £QºÁuØPõÚ Ai¨£øh ¤ßÁ¸©õÖ 
SÔ¨¤h¨£mkÒÍx. 

xøÓPÒ A B C X Y 

X 40% 30% 20% - 10%

Y 25% 35% 20% 20% - 

 «sk® «sk® Â{÷¯õQUS® •øÓ°ß 
Ai¨£øh°À EØ£zvz xøÓPÐUS ÷\øÁz 
xøÓ°ß ö\»ÄPøÍ Â{÷¯õQ¨£øuU Põmk® 
AÔUøPø¯z u¯õ›UPÄ®. 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What is customer satisfaction? 

 ÁõiUøP¯õÍº v¸¨v GßÓõÀ GßÚ? 

2. State any two objectives of customer relationship 
management. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß H÷uÝ® 
Cμsk ÷|õUP[PøÍ SÔ¨¤kP. 

3. Define product marketing. 

 ö£õ¸Ò \¢øu¨£kzuÀ Áøμ¯Ö. 

4. What is meant by customer value? 

 ÁõiUøP¯õÍº ©v¨¦ Gß£x ¯õx? 

5. What are the aims of CRM program? 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø© vmhzvß 
÷|õUP[PÒ ¯õøÁ? 

6. In what aspects the customer are differentiated? 

 G¢u A®\[PÎÀ ÁõiUøP¯õÍºPÒ ÷ÁÖ£kQÓõºPÒ? 

 NOVEMBER/DECEMBER 2020
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7. What is meant by performance evaluation? 
 ö\¯ÀvÓß ©v¨¥k Gß£x ¯õx? 

8. State the meaning for retention marketing. 
 uUPøÁ¨¦ \¢øu¨£kzu¼ß ö£õ¸Ò TÖP. 

9. What is customer database? 
 ÁõiUøP¯õÍº uμÄzuÍ® GßÓõÀ GßÚ? 

10. What is loggers? 
 »õPºPÒ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 
Answer ALL the questions. 

11. (a) Discuss the need for customer relationship 
management. 

  ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß 
÷uøÁø¯ ÂÍUSP. 

Or 

 (b) State the different types of customer loyalty. 
  ÁõiUøP¯õÍº Â_Áõ\zvß £À÷ÁÖ 

ÁøPPøÍ SÔ¨¤kP. 

12. (a) Explain customer learning relationship in 
detail. 

  ÁõiUøP¯õÍº PØÓÀ EÓøÁ Â›ÁõP 
ÂÍUSP. 

Or 

 (b) Discuss the various factors which drived 
CRM market in India. 

  C¢v¯õÂÀ ÁõiUøP¯õÍº EÓÄ ÷©»õsø© 
\¢øuø¯ C¯UQ¯ £À÷ÁÖ PõμoPøÍ¨ 
£ØÔ ÂÁõv. 
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13. (a) What are the  various information required 
for an effective CRM? 

  £¯ÝÒÍ ÁõiUøP¯õÍº EÓÄ 
÷©»õsø©US ÷uøÁ¯õÚ £À÷ÁÖ 
uPÁÀPÒ ¯õøÁ? 

Or 

 (b) Explain the different ground work required 
for effective use of CRM. 

  ÁõiUøP¯õÍº EÓÄ ÷©»õsø©  £¯ÝÒÍ 
£¯ß£õmiØS ÷uøÁ¯õÚ £À÷ÁÖ 
Ai¨£øh ÷Áø»PøÍ ÂÍUSP. 

14. (a) Discuss the types of CRM program. 
  ÁõiUøP¯õÍº EÓÄ ÷©»õsø© vmhzvß 

ÁøPPøÍ ÂÁõv. 

Or 

 (b) What are the issues arises while 
implementing CRM? 

  ÁõiUøP¯õÍº EÓÄ ÷©»õsø© 
ö\¯À£kzx® ÷£õx GßöÚßÚ ]UPÀPÒ 
GÊQßÓÚ? 

15. (a) State the uses of technology in CRM C63. 
  ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°À 

öuõÈÀ~m£zvß £¯ß£õkPøÍ SÔ¨¤kP. 

Or 

 (b) Explain data warehousing in detail. 
  uPÁÀ Qh[S £ØÔ Â›ÁõP ÂÁ›. 



 1428 4

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between traditional marketing and 
relationship marketing. 

 £õμ®£›¯ \¢øu¨£kzuÀ ©ØÖ® EÓÄ 
\¢øu¨£kzuÀ BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

17. Describe the key principles of customer 
relationship management. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß •UQ¯ 
öPõÒøPPøÍ ÂÁ›. 

18. Analyse the advantages of customer relationship 
management. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß |ßø©PøÍ 
£S¨£õ´Ä ö\´P. 

19. Enumerate the various process model of 
relationship marketing. 

 EÓÄ \¢øu¨£kzu¼À EÒÍ £À÷ÁÖ ö\¯À•øÓ 
©õv›ø¯ ÂÁ›. 

20. Examine the technology tools in CRM. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°À EÒÍ 
öuõÈÀ~m£ P¸ÂPøÍ Bμõ´P. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What are sterilized contours according to the poet? 

2. What does the jar represent in ‘Anecdote of a Jar’? 

3. In “Mirror” by Sylvia Plath, why would some 
people consider the mirror to be cruel? 

4. What is the chief figure of speech in William’s 
“The Yachts”? 

5. How might the idea of the Brooklyn Bridge bring 
people together? 

6. Is “Goose-fashion” redundant? 

7. How does Robert Frost attribute the sound in a 
poem? 

8. What allusions to the upcoming war does Tom 
make at the beginning of Scene Five? 
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9. What is symbolic about the leopard in the snow in 
“The Snows of Kilimanjaro” 

10. In “The Snows of Kilimanjaro”, how does Harry 
view money? 

SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Write a note on the ruined houses of the 
crumbling people. 

Or 

 (b) The poem “Mirror” is strongly related to the 
theme of feminism. Justify this statement. 

12. (a) Collective and individual conflict’s in the 
poem, “The Yachts”? 

Or 

 (b) What makes this particular bridge such a 
powerful symbol? 

13. (a) According to “The Figure a Poem Makes”, 
How did Frost’s personal life influence his 
poetry? 

Or 

 (b) What are some of the American ideals that 
are explored in Frost’s poems? 
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14. (a) Who is the heroin The Glass Menagerie? 

Why? 

Or 

 (b) How is the theme of nostalgia illustrated in 

The Glass Menagerie? 

15. (a) “The Snows of Kilimanjaro” by Ernest 

Hemingway depicts men with private moral 

codes that differ from society’s codes. 

Elucidate. 

Or 

 (b) Explain the tile ‘The Snows of Kilimanjaro’. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Critically analyse how Cummings elegantly 

portrays the impact of world war upon the 

working class? 

17. Why is the style of The Bridge by Hart Crane 

unique? 
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18. Why does Frost choose to write about everyday life 
in a rural environment? What is the effect of this 
choice on his poetry? 

19. Of the main characters, which face life most 
unrealistically? Does this contribute to the themes 
of illusion versus reality featured in The Glass 
Menagerie? 

20. Explain the strange ending of the story the snow 
of Kilimanjaro? 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. How does Plato attack poetry? 

2. According to Aristotle, which of the following is 
not one of the six elements of the tragedy? 

3. Which of the following literary styles did Philip 
Sydney make important contributions to? 

4. Ben Johnson is a contemporary of which titan of 
English literature. 

5. When was John Dryden served as a poet laureate? 

6. Arabella Fermour was the historical inspiration 
for which character? 

7. Which descriptions serves as a best characterizes 
to William Wordsworth? 

8. Which poem’s first draft was a letter to Sara? 

9. In the poem “Desire” what does Matthew Arnold 
wish that humans be saved from? 

10. Who considered Eliot’s work to be ‘a very great 
evil’ and why? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) What is Plato’s view on ‘poetry’ and the poet? 

Or 

 (b) Define six elements required for a successful 
tragedy? 

12. (a) Why does Philip Sidney in ‘An Apology for 
Poetry’ shed light on the creator rather than 
on the creation? 

Or 

 (b) Analyse Ben Johnson’s classicism. 

13. (a) Who favours Greek drama in essay of 
Dramatic poesy? 

Or 

 (b) In Pope’s essay for criticism, does he show 
himself to be a good critic? 

14. (a) What are the similarities of Wordsworth and 
Coleridge? 

Or 

 (b) What is Coleridge’s Theory of imagination 
and his differentiation of imagination and 
fancy? 
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15. (a) Explain Mathew Arnold’s poetry as a glory of 
the vanished past. 

Or 

 (b) According to Eliot’s essay ‘The function of 
Criticism’ what are the tools and functions of 
criticism? 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. How did the teaching methods of Plato and 
Aristotle differ? 

17. How does Sir Philip Sydney’s “An Apology for 
poetry” relate to Aristotle and plato? 

18. Analyse Arnold’s essay, “The function of criticism”. 

19. Write a short note on Coleridge’s theory of 
imagination. 

20. In what ways does ‘The Function of Criticism at 
the present time’ by Matthew Arnold represent 
Victorian literary criticism and the Victorian era? 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is the concept of translation? 

2. What are the types of translation? 

3. Why does the poet appeal to the Wind to come 
softly? 

4. Can dream predict the future? 

5. Write the structure of tales. 

6. Who wrote Amar Jiban in 1876? 

7. Which play Girish Karnad had written first? 

8. In which year is the opening scene of Tughlaq set? 

9. What are the basic elements in a Destination song? 

10. Write short note about R.Shanmugasundaram. 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Differ the correlation between teaching 
collocations and the student abilities in 
translation? 

Or 

 (b) Does rough ER Morphology change upon 
inhibition of translation. 

12. (a) What should we do to make friends with the 
wind? 

Or 

 (b) Analyze the poem “I never saw you” by Jyoti 
Lanjewar. 

13. (a) Discuss about “Land women’s breath and 
speech” by P.Sivakami. 

Or 

 (b) Write brief about Amar Jiban by Rassundari 
Devi. 

14. (a) Write Girish Karnad’s symbolism, irony and 
humour from the play Tughlaq. 

Or 

 (b) Discuss Girish Karnad’s “Tughlaq” as a 
historical play. 
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15. (a) Give your literary perception view from 
Shanmugasundaram’s “Nagammal”. 

Or 

 (b) Discuss your view from the short story 
Brahma Viriksha. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. How can literary translations be subdivided? 
What is the main difficulty of translating a word 
of high literary merit? What qualities and skills 
are expected of aliterary translator? 

17. Explain the phenomenon of Gaddar. How the 
culture and ideology been described in this. 

18. Write an essay about Memories of the Marathi 
stage. 

19. Summary and analyze of Tughlaq by Girish 
karnad. 

20. Discuss the relation of Tamil and Western 
Literature. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define classification. 

2. What are the four type’s diagrams? 

3. The mean of 12, 14, 19, 15, 13, 18, 11 is 

4. Define median. 

5. What is standard deviation? 

6. State the different methods for measuring 
dispersion. 

7. What is meant by skewness? 

8. Define Kelly’s coefficient of skewness. 

9. Define correlation. 

10. What is regression? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) What are the advantages of Tabulation?  

Or 

 (b) Explain the types of diagrams and their uses.  

12. (a) Calculate the Median for the following data : 

Marks 45 55 59 79 65 56 

No. of Students 12 20 22 41 17 10 

Or 

 (b) Calculate the Harmonic mean from the 
following data: 

X 10 12 14 16 18 20 

f 5 18 0 10 6 1 

13. (a) Calculate the quartile deviation and its 
coefficient from the following data   

Height (in cm): 28 32 18 16 42 12 39 

Or 

 (b) Calculate mean deviation about mean for the 
items. 

Class interval 0-4 4-8 8-12 12-16 16-20 

Frequency 4 6 8 5 2 
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14. (a) The sum and the sum of the squares of  
60 items are 1860 and 67100 respectively. 
Mode is 28.49. Find the Pearson’s coefficient 
of skewness.  

Or 

 (b) Calculate Bowley’s coefficient of skewness for 
the data 

X 11 12 13 14 15 

f 3 9 6 4 6 

15. (a) Calculate Karl – Pearson’s coefficient of 
correlation. 

X 57 58 59 59 60 61 62 64 

Y 67 68 65 68 72 72 69 71 

Or 

 (b) Mention the difference between correlation 
and regression.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain types of classification. 

17. Calculate Mean, Median and Mode for the 
following data : 

Size 10 11 12 13 14 15 16 17 18 

Frequency 10 12 15 19 20 8 4 3 2 
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18. Find Quartile Deviation and Co-efficient of 
Quartile deviation for the following data : 

X 0-10 10-20 20-30 30-40 40-50 

f 7 11 24 16 6 

19. Find the Skewness and its coefficient for the 
following data : 

X 0-10 10-20 20-30 30-40 40-50 

f 3 5 8 12 34 

X 50-60 60-70 70-80   

f 46 28 14   

20. Calculate rank correlation coefficient for the 
following distribution 

X 48 60 72 62 56 40 39 52 30 

Y 62 78 65 70 38 54 60 32 31 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. State the purpose of layering in networks. 

2. What is WAN? 

3. What are the responsibilities of data link layer? 

4. What are the fundamental ways by which network 
performance is measured? 

5. What is the need of internetworking? 

6. What are the types of class full addressing? 

7. What is UDP? 

8. List the three types of addresses in TCP/IP. 

9. What are the two types of user agents in the 
electronic system? 

10. What is the function of HTTP? 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Elaborate Twisted Pair Cable.  

Or 

 (b) Describe about Local Area Network.  

12. (a) What are the services provided by data link 
layer to network layer?  

Or 

 (b) List the different types of carrier sense 
protocols and explain.  

13. (a) Explain store and forward switching with a 
diagram.  

Or 

 (b) Explain flooding.  

14. (a) What are the services provided by the 
transport layer to its upper layer?  

Or 

 (b) Discuss about TCP service model.  
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15. (a) What are the five functions of e-mail?  

Or 

 (b) Brief the different methods of audio 
compression.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain OSI reference model. 

17. Discuss about the ALOHA protocol. 

18. Explain Dijkstra’s algorithm with diagrams. 

19. Elaborate Remote Procedure call technique. 

20. Explain the parts of web model. 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define Algorithm. 

2. How to measure the performance of an algorithm? 

3. List the situation where divide and conquer can be 
used. 

4. What is selection sort? 

5. List any two problems that can be solved using 
greedy methods. 

6. Define – Minimum cost spanning trees. 

7. What is dynamic programming? 

8. State design for reliability. 

9. State any two terminologies on graph. 

10. Define – Hamiltonian cycles. 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Write the algorithms specification.  

Or 

 (b) Describe the procedure of randomized 
algorithm.  

12. (a) Explain how to implement quick sort with 
sample data.  

Or 

 (b) Explain how to implement merge sort with 
sample data.  

13. (a) Write the procedure of Tree Vertex Splitting 
algorithm.  

Or 

 (b) Write the procedure for finding Minimum 
Cost Spanning Trees.  

14. (a) Write the characteristics of dynamic 
programming. 

Or 

 (b) Give the mathematic formulation of 0/1 
Knapsack problem.  



 

 1804 3

 

15. (a) Show how graph coloring concepts can be 
used to solve a problem.  

Or 

 (b) Explain in order and preorder traversal on 
binary tree. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Develop an algorithm for finding total strength of 
a college and analyze its performance. 

17. Explain the procedure followed in Stassen’s 
Matrix Multiplications. 

18. Give the procedure to solve optimal storage on 
tapes problem. 

19. Describe the application areas of dynamic 
programming. 

20. Describe the procedure for solving 8 queens 
problem. 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define – Android. 

2. What is Android emulator? 

3. Mention the term – Intent Filters. 

4. Write a note on Activity stack.  

5. State the term – Content resolver. 

6. Define – Data analysis.  

7. Write a short note on pop-up menu. 

8. State the usage of rating bar. 

9. Write a note on Clock mobile application. 

10. How testing is performed in android apps. 
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SECTION B — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) Explain the feature of Android. 

Or 

 (b) Discuss on Android Architecture. 

12. (a) Write a detailed note on Android File 
System. 

Or 

 (b) Explain the Activity Lifecycle. 

13. (a) Give an overview on Binding and Querying 
the android service. 

Or 

 (b) Describe the coding for SQLite using 
Android. 

14. (a) Discuss on Layout styles. 

Or 

 (b) Summarize on Input controls. 

15. (a) Elaborate on Calendar mobile application 
development. 

Or 

 (b) How android is used in creating Doodlz app? 
Explain. 



 

 2734 3

 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Give an overview on any two Android applications. 

17. Discuss in APIs and Android Tools. 

18. Write a detailed note on Broadcast Recievers. 

19. Describe about various menus in Android. 

20. Summarize on Weather viewer app. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define the term – Operating system. 

2. What is Process Management? 

3. What is Priority Scheduling in CPU Scheduling?  

4. Define the term – Deadlock. 

5. What is Main memory? 

6. Distinguish between Pages and Frames in 
memory management. 

7. Define the term – Swapping. 

8. What is Virtual memory? 

9. Define the term – File system. 

10. What is meant by File protection? 
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SECTION B — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) Discuss on the services of Operating System. 

Or 

 (b) Explain briefly the Classification of 
Operating System. 

12. (a) Describe the basics of CPU Scheduling and 
Scheduling criteria. 

Or 

 (b) Discuss on Deadlock avoidance procedure. 

13. (a) Explain the basics of Memory-address 
binding, Logical and Physical address space. 

Or 

 (b) Describe the concept of Memory allocation 
and Protection.  

14. (a) Discuss on Segmentation in memory 
management. 

Or 

 (b) Explain the Paging memory management 
technique. 
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15. (a) Describe the Allocation methods in File 
system implementation. 

Or 

 (b) Discuss on Disk Scheduling algorithms. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Describe the Process concept, its states, and 
process control block. 

17. Explain the FCFS, SJF and Round-robin 
Scheduling algorithms. 

18. Discuss on Memory Partitioning, Fragmentation 
and Compaction.  

19. Describe the Page Replacement algorithms in 
Demand paging. 

20. Explain the Directory structure in File 
management.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL the questions. 

1. What is a frame story? 

2. Which allegory did Chaucer write on the death of 
John Gaunt's wife? 

3. What is rime royal? 

4. Who set up a printing press in England? 

5. Who wrote A Mirror for Magistrates? 

6. Who is the author of The Steel Glass? 

7. Who were puritans? 

8. Who is considered the chief representative of the 
metaphysical school? 

9. Who is the author of Essay on Human 
Understanding? 

10. Who wrote The Complete Angler? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL the questions. 

11. (a) Discuss the features of the prose of Chaucer's 
Age. 

Or 

 (b) Write a note on the poets of Chaucer's Age. 

12. (a) Discuss prose in the 15th century. 

Or 

 (b) Write briefly on miracle plays. 

13. (a) Write a note on Shakespeare's predecessors. 

Or 

 (b) Briefly write about Bacon's works. 

14. (a) Introduce Milton's prose works. 

Or 

 (b) Write a note on Caroline poets. 

15. (a) Discuss the forerunners of Dryden. 

Or 

 (b) List the features of drama during Dryden's 
Age. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Enumerate the general characteristics of 
Chaucer's poetry. 

17. Trace the beginning of regular comedy and 
tragedy in England. 

18. Attempt an essay on the characters of 
Shakespeare. 

19. Analyse the characteristics of Milton's poetry. 

20. Evaluate John Bunyan's place in English 
literature. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What are oral communication skills? 

2. Mention two barriers to listening. 

3. What is workplace listening? 

4. What is documentation? 

5. What is an official letter? 

6. What is a covering letter? 

7. What is reading skills? 

8. What is skill reading? 

9. What is an instruction? 

10. What is transcoding? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL the questions. 

11. (a) Briefly write about oral communication 
skills. 

Or 

 (b) Is listening different from hearing? Give 
examples. 

12. (a) Show how listening helps in developing good 
relations with people. 

Or 

 (b) Why is it important to listen to our 
customers and clients? 

13. (a) Correct the following sentences: 

  (i) Sun rises in east. 

  (ii) Sehwag is one of the best captain of 
Indian cricket. 

  (iii) He is a regular customer here.  

Or 

 (b) What are the various occasions for writing 
official letters? 



 2812 3

14. (a) Write about the importance of reading skills. 

Or 

 (b) Enumerate the barriers to reading. 

15. (a) Discuss the ability to read and follow 
instructions. 

Or 

 (b) What kind of language is used in instruction? 
Give examples. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. List the barriers to listening. 

17. Write about an instance when somebody did not 
listen to you and its consequence. 

18. Explain the use of punctuation marks. 

19. Discuss the reading strategies. 

20. Describe various forms of presenting information. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What is information technology? 

2. Write the need for information. 

3. List out the applications of MS-Word. 

4. State the functions of word count 

5. What is spreadsheet? 

6. How to save file in MS-Excel? 

7. Define Animation. 

8. What are the ways to navigate one slide to another 
slide? 

9. What s meant by E-Commerce? 

10. What is Smart card? 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL the questions. 

11. (a) Write the objectives of information 
technology. 

Or 

 (b) Explain the various components of 
information technology. 

12. (a) State the ways for editing documents. 

Or 

 (b) Discuss the spelling check feature of word. 

13. (a) Explain the procedure for creating charts in 
MS-Excel. 

Or 

 (b) What is pivot table? State the advantages of 
a pivot table. 

14. (a) Write the purpose of creating MS 
PowerPoint presentations. 

Or 

 (b) Explain the method of running a slide show. 

15. (a) What are the limitations of EDI? 

Or 

 (b) Explain the different types of E-Commerce. 
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SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. Examine the role of information technology in 
business. 

17. Explain the method for creation of tables in  
MS-Word with example. 

18. Describe the various formatting of text in cell in 
MS-Excel. 

19. How to insert pictures in PowerPoint 
presentations? 

20. Discuss the advantages and disadvantages of  
E-Commerce. 

 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define Management Accounting. 

 ÷©»õsø©U PnUQ¯À Áøμ¯Ö. 

2. State the objectives of financial statement 
analysis. 

 {v AÔUøP B´Âß SÔU÷PõÒPøÍU SÔ¨¤kP. 

3. Ascertain the gross profit ratio from the following 
particulars: Gross Profit– Rs.27,000; Cost of Sales 
– Rs.33,000; Opening Stock-Rs. 12,000; Closing 
Stock - Rs. 16,000. 

 R÷Ç  öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x ö©õzu 

C»õ£ ÂQuzøuU Psk¤iUPÄ®. ö©õzu C»õ£® 

¹.27,000 ÂØ£øÚ ö\´u ö£õ¸ÐUPõÚ AhUP® 

¹.33,000; öuõhUPa \μUQ¸¨¦ – ¹. 12,000 CÖva 

\μUQ¸¨¦ ¹.16,000. 
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4. Mention the limitations of ratio analysis. 

 ÂQu B´Âß SøÓ£õkPøÍU SÔ¨¤kP. 

5. Distinguish between fund flow statement and cash 

flow statement. 

 {v Kmh AÔUøPø¯ öμõUP KmhAÔUøP°¼¸¢x 

÷ÁÖ£kzxP. 

6. Calculate cash from operations from the following 

information: Sales – Rs. 1,00,000; Purchases – 

Rs.57,000; Expenses – Rs.12,000; Creditors at the 

beginning of the year – Rs.20,000; Creditors at the 

end of the year – Rs.17,000. 

 RÌUPõq® Â£μ[PÎ¼¸¢x ö\¯À£õmk 

öμõUPzvøÚU Psk¤iUPÄ®. ÂØ£øÚ ¹.1,00,000; 

öPõÒ•uÀPÒ– ¹.57,000; ö\»ÄPÒ ¹.12,000; 

Bskz öuõhUPzvÀ C¸¢u PhÜ¢÷uõºPÒ 

¹.20,000; Bsk CÖv°À C¸¢u  PhÜ¢÷uõºPÒ 

¹.17,000. 

7. What are the advantages of standard costing? 

 {ø»¯õÚ ö\»ÄU PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 



 6162 3

8. Product ‘A’ requires 10 kg of material at the rate 
of Rs.4 per kg. The actual consumption of material 
for the manufacturing of product ‘A’ came to 12 kg 
of material at the rate of Rs.4.50 per kg. Calculate 

 (a) Material Cost Variance; 

 (b) Material usage variance; 

 (c) Material price variance. 

 ö£õ¸Ò ‘A’ °ß EØ£zvUS 10 Q.Q ‰»¨ö£õ¸mPÒ 

Q÷»õ ¹£õ´ 4 Ãu® ÷uøÁ¨£kQÓx. ö£õ¸Ò ‘A’  

°ß Esø©¯õÚ EØ£zvUS  12 Q.Q 

‰»¨ö£õ¸mPÒ Q÷»õ ¹.4.50 Ãu® 

£¯ß£kzu¨£mhx PnUQkP. 

 (A) ‰»¨ö£õ¸Ò AhUP ÷ÁÖ£õk 

 (B) ‰»¨ö£õ¸Ò £¯ß£õk ÷ÁÖ£õk 

 (C) ‰»¨ö£õ¸Ò Âø» ÷ÁÖ£õk. 

9. Distinguish between budget and forecast. 

 vmh® ©ØÖ® •ßPo¨¦ ÷ÁÖ£kzxP. 

10. List out the advantages of zero base budgeting. 

 §äâ¯ Ai¨£øh vmhªku¼ß |ßø©PøÍ¨ 

£mi¯¼kP. 
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SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Discuss in detail the functions of 
management accounting. 

  ÷©»õsø©U PnUQ¯¼ß  £oPøÍ Â›ÁõP 

ÂÁõv. 

Or 

 (b) The following are the income statements of 
Jeevan Ltd for the year ending 31st 
December 2009 and 2008. You are required 
to prepare a comparative income statement 
for the two years. 

Particulars 31-12-2008 31-12-2009 

 Rs. Rs. 

Net sales 10,00,000 12,00,000 

Cost of goods sold 5,50,000 6,05,000 

Operating expenses :   

Administration 80,000 1,00,000 

Selling 60,000 80,000 

Non-operating expenses   

Interest 40,000 50,000 

Income-tax 50,000 80,000 
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  ãÁß ¼ªöhm {ÖÁÚzvß i\®£º 31, 2009 

©ØÖ® 2008 ® BsiØPõÚ RÌUPõq® 

Á¸©õÚ AÔUøP°¼¸¢x Cμsk 

BskPÐUPõÚ J¨¥mk Á¸©õÚ AÔUøPø¯ 

u¯õ›US©õÖ E®ø©U ÷PmkU öPõÒQßÓÚº. 

Â£μ[PÒ 31-12-2008 31-12-2009 

 Rs. Rs. 

{Pμ ÂØ£øÚPÒ 10,00,000 12,00,000 

ÂØ£øÚ ö\´u    

ö£õ¸ÐUPõÚ AhUP® 5,50,000 6,05,000 

ö\¯À£õmka ö\»ÄPÒ {ºÁõP® 80,000 1,00,000 

ÂØ£øÚ 60,000 80,000 

ö\¯À£õhØÓ ö\»ÄPÒ   

Ámi 40,000 50,000 

Á¸©õÚ Á› 50,000 80,000 

12. (a) Given: Current Ratio = 2.8; Acid-test  
ratio = 1.5; Working capital = Rs. 1,62,000; 
Calculate :  

  (i) Current assets;  

  (ii) Current liabilities; 

  (iii) Liquid assets and 

  (iv) Stock. 



 6162 6

  öPõkUP¨£mkÒÍx: |h¨¦ ÂQu® = 2.8; Aª» 

÷\õuøÚ ÂQu®  =1.5 |øh•øÓ ‰»uÚ® 

¹.1,62,000. 

  Psk¤iUPÄ®.  

  (i) |h¨¦a ö\õzxUPÒ 

  (ii) |h¨¦¨ ö£õÖ¨¦UPÒ 

  (iii) }º©a ö\õzxUPÒ ©ØÖ® 

  (iv) \μUQ¸¨¦. 

Or 

 (b) Prepare a Balance Sheet with as man details 
as possible from the following information. 

  Gross profit ratio– 20%; 

  Debtors turnover-6 times; 

  Fixed assets to net worth- 0.80; 

  Reserves to capital– 0.50 

  Current ratio–2.50; 

  Liquid ratio –1.50; 

  Net working capital– Rs. 30,00,000  

  Stock turnover ratio–6 times. 
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  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x 

C¸¨¦ {ø»U SÔ¨¤øÚz u¯õº ö\´P. 

  ö©õzu C»õ£ ÂQu® 20% 

  PhÚõÎPÒ ÂØ£øÚ –6 ©h[S 

  {ø»a ö\õzxUPÒ {Pμ ©v¨¦ –0.80 

  JxURkPÒ •uÀ –0.50 

  |h¨¦ ÂQu®  –2.50 

  }º© ÂQu® –1.50 

  {Pμ |øh•øÓ •uÀ ¹.30,00,000 

  \μUS ÂØ£øÚ ÂQu® 6 ©h[S. 

13. (a) Calculate funds from operations from the 
following profit and loss account. 

Profit and loss account 
Particulars Rs. Particulars Rs. 

To expenses paid 3,00,000 By gross  

To depreciation 70,000 profit 4,50,000

To loss on sale   By gain on 

on machine 4,000 sale of  

To discount 200 land 60,000

To goodwill 20,000  

To net profit 1,15,800  

 5,10,000  5,10,000
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  RÌUPõq® C»õ£ |mhU PnUQ¼¸¢x 

ö\¯À£õmk {vø¯U PnUQhÄ®. 

C»õ£ |mhU PnUS 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

ö\»ÄPÒ ö\¾zv¯x 3,00,000 ö©õzu C»õ£® 4,50,000

÷u´©õÚ® 70,000 {» ÂØ£øÚ  

C¯¢vμ ÂØ£øÚ°À  «uõÚ Buõ¯® 60,000

HØ£mh|mh® 4,000  

uÒÐ£i 200  

|Øö£¯º 20,000  

{Pμ C»õ£® 1,15,800  

 5,10,000  5,10,000

Or 

 (b) From the following Balance Sheets of 
Aravind Ltd., you are required to re are a 
cash flow statement. 

Liabilities 2018  2019  Assets 2018 2019 

 Rs.   Rs.   Rs. Rs.

Share capital 4,00,000  5,00,000  Cash 60,000 94,000

Trade creditors 1,40,000  90,000  Debtors 2,40,000 2,30,000

Profits and      Stock 1,60,000 1,80,000

loss a/c 20,000  46,000  Land 1,00,000 1,32,000

 5,60,000  6,36,000   5,60,000 6,36,000
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  RÌUPõq® AμÂ¢z ¼ªöhm {ÖÁÚzvß 

C¸¨¦ {ø»U SÔ¨¦PÎ¼¸¢x }Âº öμõUP 

Kmh AÔUøPø¯z u¯õº ö\´²©õÖ 

÷PmkUöPõÒÍ¨£kQÓx. 

ö£õÖ¨¦PÒ 2018  2019  ö\õzxUPÒ 2018 2019 

 ¹. ¹.  ¹. ¹.

£[S •uÀ 4,00,000 5,00,000 öμõUP® 60,000 94,000

PhÜ¢÷uõºPÒ1,40,000 90,000 PhÚõÎPÒ2,40,0002,30,000

C»õ£   \μUQ¸¨¦ 1,60,0001,80,000

|mhU P/S 20,000 46,000 {»® 1,00,0001,32,000

 5,60,000 6,36,000  5,60,0006,36,000

14. (a) Data relating to a job are thus: Standard 

rate of wages per hour-Rs. 10; Standard 

hours- 300; Actual rate of wages per hour  

Rs. 12; Actual hours-200. 

  You are required to calculate 

  (i) Labour cost variance 

  (ii) Labour rate variance and 

  (iii) Labour efficiency variance. 
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  J¸ ÷Áø» öuõhº£õÚ Â£μ[PÒ ¤ßÁ¸©õÖ. 

J¸ ©o ÷|μzvØPõÚ {ø»¯õÚ T¼ Ãu® 

¹.10; {ø»¯õÚ ©ozxÎPÒ –300; 

Esø©°À J¸ ©o ÷|μzvØPõÚ T¼ Ãu® 

¹.12; Esø©¯õÚ ©ozxÎPÒ –200 

RÌUPshÁØøÓ PnURk  ö\´²©õÖ }Âº 

÷PmkUöPõÒÍ¨£kQÕº. 

  (i) öuõÈ»õÍº ö\»Ä ÷ÁÖ£õk 

  (ii) öuõÈ»õÍº Fv¯ Ãu ÷ÁÖ£õk 

  (iii) öuõÈ»õÍº ö\¯ÀvÓß ÷ÁÖ£õk. 

Or 

 (b) From the following data, calculate: 

  (i) Fixed overhead cost variance;  

  (ii) Expenditure variance; 

  (iii)  Volume variance;  

  (iv)  Capacity variance and  

  (v)  Efficiency variance. 
Particulars Budget 

Rs 
Actual 

Rs 

Fixed overhead for May 2009 40,000 40,800 

Units of production for May 2009 20,000 20,800 

  Standard time for one unit = 4 hours: Actual 
hours worked = 80,400. 
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  R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x 

PnUQkP. 

  (i) {ø»¯õÚ ©øÓ•Pa ö\»ÄPÒ ÷ÁÖ£õk 
  (ii) ö\»ÄPÒ ÷ÁÖ£õk 
  (iii) öuõSv ÷ÁÖ£õk 
  (iv) vÓß ÷ÁÖ£õk ©ØÖ® 
  (v) ö\¯ÀvÓß ÷ÁÖ£õk. 

Â£μ[PÒ vmh® ¹. 
 

Esø©¯õÚ ¹. 

÷© 2009 ØPõÚ {ø»¯õÚ  

©øÓ•Pa ö\»ÄPÒ 

40,000 40,800 

÷© 2009 À EØ£zv  

ö\´¯¨£mh ³ÛmPÒ 

20,000 20,800 

  J¸ ³ÛmiØPõÚ {ø»¯õÚ ÷|μ® = 4 ©oPÒ 

  Esø©°À £o¯õØÔ¯ ©ozxÎPÒ = 

80,400. 

15. (a) Draw up a flexible budget for production at 
75% and 100% capacity on the basis of the 
following data for a 50% activity. 

Particulars Per unit 
Rs. 

Materials 100 

Labour 50 

Variable expenses (direct) 10 

Administrative expenses (50% fixed) 40,000 

Selling and distribution expenses (60% fixed) 50,000 

Present production (50% activity) 1,000 units
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  R÷Ç öPõkUP¨£mkÒÍ 50% ö\¯ÀvÓß 

EØ£zv ö\»ÄPÒ Ai¨£øh°À 75% ©ØÖ® 

100% ö\¯À vÓÝUPõÚ ö|QÌÄ EØ£zvz 

vmhªhø»U PnUQhÄ®. 

Â£μ[PÒ A»QØS ¹.

‰»¨ö£õ¸mPÒ 100 

öuõÈ»õÍºPÒ 50 

©õÖ£k® ö\»ÄPÒ (÷|μi) 10 

{ºÁõPa ö\»ÄPÒ (50% {ø»¯õÚx) 40,000 

ÂØ£øÚ ©ØÖ® ÁÇ[PÀ ö\»ÄPÒ (60% {ø»¯õÚx 50,000 

uØ÷£õøu¯ EØ£zv (50% ö\¯ÀvÓß) 1,000 units

Or 

 (b) From the following information prepare a 
production budget for the three months for 4 
products. 

Particulars Estimated  
Stock on  
1-1.2016 

units 

Estimated  
Sales Jan-March 2016 

units 

Estimated  
stock on  

31-3-2016 
units 

A 2,000 10,000 5,000 

B 3,000 16,000 4,000 

C 4,000 14,000 3,000 

D 5,000 12,000 2,000 
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  R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x  

4 ö£õ¸mPÐUPõÚ EØ£zvz vmhªhø» 

‰ßÖ ©õu[PÐUS u¯õ›UPÄ®. 

Â£μ[PÒ Gvº£õºUP¨£mh 

\μUQ¸¨¦ 1.1.2016 

³ÛmPÒ 

Gvº£õºUP¨£mh 

ÂØ£øÚPÒ áÚÁ› 

©õºa 2016  ³ÛmPÒ

Gvº£õºUP¨£mh 

\μUQ¸¨¦ 

31.3.2016 
³ÛmPÒ 

A 2,000 10,000 5,000 

B 3,000 16,000 4,000 

C 4,000 14,000 3,000 

D 5,000 12,000 2,000 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The following are the extracts from the income 
statements of Bright Ltd., for the 6 years ending 
2019. You are required to calculate trend 
percentages, taking 2014 as the base year and give 
two major conclusions you can draw. 

    (figures in thousands) 

Particulars 2014 2015 2016 2017 2018 2019 

Sales 300 340 420 480 520 600 

Cost of goods sold 180 204 256 287 300 330 

Office expenses 40 42 45 50 55 60 

Selling expenses 20 25 30 40 50 60 

Net profit/loss 60 69 89 103 115 150 
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 2019 ® Bs÷hõk •iÁøh²® 6 BskPÐUPõÚ 

¤øμm ¼ªöhm {ÖÁÚzvß Á¸©õÚ AÔUøPPÒ 

R÷Ç öPõkUP¨£mhÒÍÚ. 2014 ® Bsøh 

Ai¨£øh BshõP GkzxU öPõsk A¢{Ö©zvß 

÷£õUS \uÃuzøu }[PÒ PnURk ö\´x Cμsk 

•iÄPøÍ ÁøμP. 

 (figures in thousands) 
Â£μ[PÒ 2014 2015 2016 2017 2018 2019 
ÂØ£øÚPÒ 300 340 420 480 520 600 
ÂØ£øÚ ö\´u 

ö£õ¸ÐUPõÚ AhUP® 

180 204 256 287 300 330 

A¾Á»Pa ö\»ÄPÒ 40 42 45 50 55 60 
ÂØ£øÚa ö\»ÄPÒ 20 25 30 40 50 60 
{Pμ C»õ£® / |mh® 60 69 89 103 115 150 

17. The following data represents the ratios 
pertaining to Eswaran Co. Ltd  for the year ending 
31st March, 2019. 

Annual sales Rs.40,00,000 

Sales to Net worth 4 times 

Current liabilities to Net worth 50% 

Total debts to Net worth 80% 

Current ratio 2.2 times 

Sales to inventory 8 times 

Average collection period 40 days 

Fixed Assets to Net worth 70% 
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 From the above particulars, prepare the balance 
sheet of Eswaran Co Ltd as on 31st March, 2019. 
Assume that all sales are made on credit.  

 R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÒ DìÁμß  P®£Û 

¼ªöhm {Ö©zvß ÂQu[PÒ ©õºa 31, 2019 À 

•iÁøh²® BsiØS›¯x. 

Bsk ÂØ£øÚPÒ Rs.40,00,000 

ÂØ£øÚ {Pμ ©v¨¦ 4 times 

|h¨¦¨ ö£õÖ¨¦UPÒ–{Pμ ©v¨¦ 50% 

ö©õzuU PhßPÒ –{Pμ ©v¨¦ 80% 

|h¨¦ ÂQu® 2.2 times 

ÂØ£øÚPÒ–\μUQ¸¨¦ 8 times 

\μõ\›¯õP Á`¼US® Põ»® 40 days 

{ø»¯õÚ ö\õzxUPÒ–{Pμ »õ£® 70% 

 ÷©÷» öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x DìÁμß 

P®ö£Û ¼ªöhm {Ö©zvß 31 ©õºa 2019 ® |õøÍ¯ 

C¸¨¦ {ø»U SÔ¨¤øÚz  u¯õ›UPÄ® AøÚzx 

ÂØ£øÚ²® Phß ÂØ£øÚ GßÓ AÝ©õÚzvß 

Ai¨£øh°À u¯õ›UPÄ®. 
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18. From the following balance sheets as on  
31-12-2016 and 31-12-2015, prepare cash flows 
statement. 

Balance Sheet 
Liabilities 2016  2015  Assets 2016 2015 

 Rs.  Rs.   Rs. Rs.

Share capital 1,50,000  1,00,000  Fixed  

Profit and loss a/c 80,000  50,000  assets 1,50,000 1,00,000

General reserve 40,000  30,000  Goodwill 40,000 50,000

6% debentures 60,000  50,000  Stock 80,000 30,000

Creditors 40,000  30,000  Debtors 80,000 50,000

Outstanding expenses 15,000  10,000  Bills 

    receivable 20,000 30,000

    Bank 15,000 10,000

 3,85,000  2,70,000   3,85,000 2,70,000

 31–12–2016 ©ØÖ® 31–12–2015 BsiØPõÚ 

RÌUPõq® C¸¨¦{ø»U SÔ¨¤À C¸¢x öμõUP 

Kmh AÔUøPø¯z u¯õº ö\´P. 

ö£õÖ¨¦PÒ 2016  2015  ö\õzxUPÒ 2016 2015 

 Rs. Rs.  Rs. Rs.

£[S •uÀ 1,50,0001,00,000 {ø»a  

C»õ£® |mhU P/S 80,000 50,000 ö\õzxUPÒ 1,50,0001,00,000

ö£õxUPõ¨¦ 40,000 30,000 |Øö£¯º 40,000 50,000

6% PhÜmk¨ £zvμ[PÒ 60,000 50,000 \μUQ¸¨¦ 80,000 30,000

PhÜ¢÷uõºPÒ 40,000 30,000 PhÚõÎPÒ 80,000 50,000
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öPõk£h   ö£ÖuØS›¯ 

÷Ási¯   ©õØÖa^mk

ö\»ÄPÒ 15,000 10,000 Á[Q 20,000 30,000

   15,000 10,000

 3,85,0002,70,000  3,85,0002,70,000

19. The following details relate to product ‘X’ for the 
month of March. You are required to compute the 
material and labour cost variance. 

Standard cost per unit:   
Material 50 kg at Rs.40 per kg 
Labour 400 hours at Rs.1 per hour 
Actual cost for the month:   
Material 4,900 kg at Rs.42 per kg 
Labour 39,600 hours at Rs.1.10 per hour 

 Actual production: 100 units. 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÒ ©õºa ©õuzvØPõÚ 

ö£õ¸Ò X öuõhº¦øh¯x. }Âº ‰»¨ö£õ¸Ò ö\»Ä 

÷ÁÖ£õk ©ØÖ® öuõÈ»õÍº ö\»Ä ÷ÁÖ£õkPøÍ 

PnURk ö\´²©õÖ ÷PmkUöPõÒÍ¨£kQÔº. 

J¸ ³Ûm iØPõÚ {ø»¯õÚ ö\»ÄPÒ   
‰»¨ö£õ¸mPÒ 50 kg at Rs.40 per kg
öuõÈ»õÍºPÒ 400 hoursat Rs.1 per hour
A¢u ©õuzvØPõÚ    
Esø©¯õÚ ö\»ÄPÒ   
‰»¨ö£õ¸mPÒ 4,900 kg at Rs.42 per kg
öuõÈ»õÍºPÒ 39,600 

hours 
at Rs.1.10 
per hour 

 Esø©¯õÚ EØ£zv 100 ³ÛmPÒ 
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20. From the following data forecast the cash position 
at the end of April, May and June 2018. 
Month Sales Purchases Wages Sales  

expenses
2018 Rs. Rs. Rs. Rs. 

February 1,20,000 80,000 10,000 7,000
March 1,30,000 98,000 12,000 9,000
April 70,000 1,00,000 8,000 5,000
May 1,16,000 1,03,000 10,000 10,000
June 85,000 80,000 8,000 6,000

 Further information 

 (a) Sales at 10% realized in the month of sales. 
Balance equally realized in two subsequent 
months. 

 (b) Purchases: Creditors are paid in the month 
following the month of supply. 

 (c) Wages: 20% paid in arrears in the following 
month. 

 (d) Sundry expenses paid in the month itself. 

 (e) Income tax Rs.20,000 payable in June. 

 (f) Dividend Rs. 12,000 payable in June. 

 (g) Income from investments Rs.2,000 received 
half-yearly in March and September. 

 (h) Cash balance on hand as on 1-4-2018 

Rs.40,000. 
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 ¤ßÁ¸® Â£μ[PÎ¼¸¢x H¨μÀ, ÷© ©ØÖ® áúß 

2018 ØPõÚ öμõUP {ø»°øÚ •ßPo¨¦ ö\´²Ä®. 

©õu® ÂØ£øÚ öPõÒ•uÀ T¼PÒ ÂØ£øÚa 

ö\»ÄPÒ

2018 ¹. ¹. ¹. ¹. 

¤¨μÁ› 1,20,000 80,000 10,000 7,000

©õºa 1,30,000 98,000 12,000 9,000

H¨μÀ 70,000 1,00,000 8,000 5,000

÷© 1,16,000 1,03,000 10,000 10,000

áüß 85,000 80,000 8,000 6,000

 TkuÀ uPÁÀPÒ. 

 (A) ÂØ£øÚ°À 10% ÂØ£øÚ |øhö£ØÓ 

©õuzvÀ ö£Ó¨£kQÓx. «vz öuõøP \›\©©õP 

Akzx Á¸® Cμsk ©õu[PÎÀ 

ö£Ó¨£kQÓx 

 (B) PhÜ¢÷uõ¸US AÁºPÒ \¨øÍ ö\´u 

©õuzvØS Akzu ©õuzvÀ ö\¾zu¨£kQÓx  

 (C) T¼°À 20% {¾øÁ¯õP ¤ßÁ¸® ©õuzvÀ 

ö\¾zu¨£kQÓx 

 (D) £Ø£» ö\»ÄPÒ A¢u¢u ©õuzv÷»÷¯ 

ö\¾zu¨£kQÓx 
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 (E) Á¸©õÚ Á› ¹£õ´  20,000 áüß ©õuzvÀ 

ö\¾zu¨£h ÷Ásk® 

 (F) £[Põuõ¯® ¹.12,000 áüß ©õuzvÀ 

ö\¾zu¨£mh ÷Ásk® 

 (G) •u½kPÒ «uõÚ Á¸©õÚ® ¹.2,000 ©õºa 

©ØÖ® ö\¨h®£º Aøμ¯õsk CÖv°À 

ö£Ó¨£h ÷Ásk® 

 (H) 1.4.2018 AßÖ øP°¸¨¦ öμõUP® ¹.40,000 

—————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is ABC analysis? 

 

2. What do you mean by international purchase? 

 

3. What is materials? 

 

4. What is ISO? 

 ISO 

5. Define material management. 

 

6. What is inventory control? 

 

 FEBRUARY 2021 
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7. What is purchase management? 

 

8. What is storekeeping? 

 

9. What is Bincard? 

 

10. What is vendor rating? 

 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) What are the functions of inventory control? 

 

                     Or 

 (b) Explain the concept of integrated materials 

management. 

 

12. (a) 

              Explain the types of materials. 
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                                  Or 

 (b)  Explain import substitution. 

 

  

13.  (a) Discuss the purchasing procedure. 

 

Or 

 (b) Discuss the merits and demerits of 

storeplanning. 

 

14. (a) Discuss the merits of centralised store room. 

 

Or 

 (b) Discuss fire and other Hazards involved in 

material handling. 

 

15. (a) What is vendor development? Explain its 

stages. 
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Or 

 (b) What are the types of ISO? 

 ISO 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Examine the principles of purchase management. 

 

17. Critically examine the importance of materials 

management. 

 

18. What is material requirement planning? Discuss 

the necessity of MRP. 

 MRP

19. Elaborately discuss the function of storekeeping. 

 

20. Explain the responsibility of purchase 

department. 
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——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (5  6 = 30 marks)  

Answer ALL questions. 

1. (a) Solve " (3 1) ' 3 0y i y iy    . 

Or 

 (b) Solve " 4 0y y  . 

2. (a) Solve "' 5 " 6 ' 0y y y    

Or 

 (b) State and prove existence theorem. 

3. (a) On solution of 2 " 2 0,x y y   on 0 x    is 
2

1( )x x  , Find all solution of 
2 " 2 2 1x y y x    on 0 x   . 

Or 

 (b) Show that there exists n linearly 
independent solutions of ( ) 0L y   on I. 

 NOVEMBER/DECEMBER 2020 
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4. (a) Compute the indicial polynomials and their 

roots for the equation 2 2" ( ) ' 0x y x x y y    . 

Or 

 (b) Solve ' " 2 ' 6 0x y xy y   . 

5. (a) Show that a function   is a solution of the 
initial value problem ' ƒ( , )y x y , 0 0( )y x y  

on an interval I if and only if it is a solution 

of the integral equation 
0

0 ƒ( , )
x

x

y y t y dt    

on I. 

Or 

 (b) Find the real-valued solution of the equation 
2'y x y . 

SECTION B — (3  15 = 45 marks) 

Answer any THREE questions. 

6. Let 1 2,   be two solutions of   0yL on an 

interval I and let 0x  be any point in I. Prove that 

1 2,   are linearly independent on I if and only if 

   0, 221  xW . 
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7. Let   be any solution of 
( ) ( 1)

1( ) .... 0n n
nL y y a y a y      on an interval I 

containing a point 0x . Prove that for all x in I 
0( )

0( ) K x xx e   ( )x   0( )
0( ) K x xx e   where, 

11 | | .... | |nK a a     

8. Let 1 2, , ... n    be n solution of ( ) 0L y   on an 

interval I and let 0x be any point in I, prove that 

1 2( , ,... )( )nW x    

= 
0

1exp ( )
x

x

a t dt
 
 
  
 1 2 0( , ,... )( )nW x    

9. Derive the Bessel function. 

10. Show that the existence theorem for convergence 
of the successive approximation. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (5  6 = 30 marks)  

Answer ALL questions. 

1. (a) Evaluate 
x

x dz where x is the circle | | 1z  . 

Or 

 (b) Compute 
| | 1

| 1| | |
z

z dz


  . 

2. (a) State and prove Taylor’s theorem. 

Or 

 (b) Evaluate 






z

a
az

dz
,

2
. 

3. (a) Prove: If p dx q dy  is locally exact in  , 

then 0p dx q dy


   for every cycle ~ 0  

in  . 
Or 

 (b) State and prove Rouche’s theorem. 
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4. (a) State and prove mean value property. 

Or 

 (b) Evaluate dx
xx
xx




 


910
2

24

2

 using residue 

theorem. 

5. (a) State and prove Weierstrass’s theorem. 

Or 

 (b) Show that the series 
1

( ) zg z n


   converges 

for real 1z   and represents its derivative in 
series. 

SECTION B — (3  15 = 45 marks) 

Answer any THREE questions. 

6. State and prove Cauchy’s theorem for a rectangle. 

7. Suppose that ( )  is continuous on the arc  . 

Prove that the function 
( )

( )
( )n

d
F z

z n

  



  is 

analytic in each of the regions determined by  , 
and its derivative is    znFzF nn 1 . 
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8. Evaluate using residue theorem 2

1
2 4C

z
dz

z z


   

where C is the circle | 1 | 2z i   . 

9. Prove that 
2

2
0

2
1 sin 1

d
a a

  



 
 , ( 1 1)a   . 

10. If ƒ( )z  is an analytic function in the annulus (or) 
ring between the concentric circles  c  and 'c  with 
center ‘ ’a  and radius ‘ ’R  and ‘ ' ’R  then prove that 

ƒ( ) ( )n
n

n

z A z a




   where z  is any point in the 

ring. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (5  6 = 30 marks)  

Answer ALL questions. 

1. (a) If  is basis for the topology of X then prove 
that the collection y = { |B Y B  } is a 
basis for the subspace topology on Y. 

Or 
 (b) Let A be a subset of the topological space X, 

let 'A  be the set of all limit points of A. 
Prove that 'A A A  . 

2. (a) State and prove sequence lemma. 
Or 

 (b) Let { }X  be an indexed family of spaces; let 
A X  , for each  . If X  is given either 
the product or the box topology then prove 
that A A    . 

3. (a) Prove that the image of a connected space 
under a continuous map is connected. 

Or 
 (b) State and prove intermediate value theorem. 

 NOVEMBER/DECEMBER 2020 
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4. (a) Prove that the image of a compact space 
under a continuous map is compact. 

Or 
 (b) State and prove uniform continuity theorem. 

5. (a) Prove that every metrizable space is normal. 
Or 

 (b) Prove that every topological group is 
completely regular. 

SECTION B — (3  15 = 45 marks) 

Answer any THREE questions. 

6. Let X be an ordered set in the order topology; Let 
Y be a subset of X that is convex in X. Then prove 
that the order topology on Y is the same as the 
topology Y inherits as a subspace of X. 

7. Prove that the topologies on nR  induced by the 
Euclidean metric d and the square metric  are 
the same as the product topology on nR . 

8. If L is a linear continuum in the order topology, 
then prove that L is connected, and so are 
intervals and rays in L. 

9. Prove that a subspace A of nR is compact if and 
only if it is closed and is bounded in the Euclidean 
metric d or the square metric . 

10. State and prove Tietze extension theorem. 

——————— 
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